# ORIGINAL.

28

## OPEN MEETING AGENDA ITEM



BEFORE THE ARIZONA CORPORATION COMMISSION **COMMISSIONERS** BOB STUMP - Chairman **GARY PIERCE** 3 **BRENDA BURNS BOB BURNS** 4 SUSAN BITTER SMITH 5 IN THE MATTER OF THE APPLICATION OF DOCKET NO. E-01933A-12-0291 TUCSON ELECTRIC POWER COMPANY FOR THE ESTABLISHMENT OF JUST AND REASONABLE RATES AND CHARGES DESIGNED TO REALIZE A REASONABLE STAFF'S NOTICE OF FILING RATE OF RETURN ON THE FAIR VALUE OF ITS OPERATIONS THROUGHOUT THE STATE PROPOSED SETTLEMENT OF ARIZONA. **AGREEMENT** 10 The Utilities Division ("Staff") of the Arizona Corporation Commission ("Commission"), on 11 behalf of the Signatories to the Proposed Settlement Agreement ("Agreement"), files the Agreement 12 in the above referenced matter. 13 RESPECTFULLY SUBMITTED this 4<sup>th</sup> day of February, 2013. 14 15 16 17 Robin R. Mitchell, Staff Attorney 18 Charles H. Hains, Staff Attorney Brian E. Smith, Staff Attorney 19 Legal Division Arizona Corporation Commission 20 1200 West Washington Street Phoenix, Arizona 85007 21 (602) 542-3402 22 23 Arizona Corporation Commission 24 Original and thirteen (13) copies DOCKETED of the foregoing were filed this 4<sup>th</sup> day of February, 2013 with: 25 FEB - 4 2013 26 **Docket Control** DOCKETED BY Arizona Corporation Commission 1200 West Washington Street Phoenix, Arizona 85007

1	Copies of the foregoing were mailed and/or emailed this 4 <sup>th</sup> day of February, 2013 to:	
2	Bradley S. Carroll Tucson Electric Power Company	Kevin C. Higgins, Principal Energy Strategies, LLC
3	88 E. Broadway Blvd., MS HQÉ910 P.O. Box 711	215 South State Street Suite 200
5	Tucson, Arizona 85702 Attorney for Tucson Electric Power	Salt Lake City, Utah 84111 Consultant to Freeport-McMorRan
6	bcarroll@tep.com	and AECC KHiggins@Energystrat.com
7	Michael W. Patten ROSHKA DEWULF & PATTEN, PLC One Arizona Center	Kurt J. Boehm Jody M. Kyler
8	400 East Van Buren Street, Suite 800 Phoenix, Arizona 85004	BOEHM, KURTZ & LOWRY 36 East Seventh Street, Suite 1510
9	Attorney for Tucson Electric Power mpatten@rdp-law.com	Cincinnati, Ohio 45202 Attorneys for Kroger
10	Lawrence V. Robertson, Jr. Attorney at Law	kboehm@BKLlawfirm.com jkyler@BKLlawfirm.com
11	P.O. Box 1448 Tubac, Arizona 85646	John William Moore, Jr. MOORE, BENHAM & BEAVER
12	Attorney for Southern Arizona Homebuilders Association (SAHBA) and	7321 North 16 <sup>th</sup> Street Phoenix, Arizona 85020
13 14	EnerNOC, Inc. and Southern Arizona Water Users Association (SAWUA)	Attorney for Kroger Co. <u>jmoore@mbmblaw.com</u>
15	TubacLawyer@aol.com	Stephen J. Baron
16	Daniel Pozefsky Chief Counsel Residential Heilitz Consumer Office	J. Kennedy & Associates 570 Colonial Park Drive, Suite 305
17	Residential Utility Consumer Office 1110 West Washington, Suite 220 Phoenix, Arizona 85007	Roswell, Georgia 30075 Consultant to Kroger Co. sbaron@jkenn.com
18	dpozefsky@ruco.gov	Thomas L. Mumaw
19	C. Webb Crockett Patrick J. Black	Melissa Krueger Pinnacle West Capital Corporation
20	FENNEMORE CRAIG, P.C. 3003 North Central Avenue	P.O. Box 53999, MS 8695 Phoenix, Arizona 85072-3999
21	Suite 2600 Phoenix, Arizona 85012-2913	Thomas.Mumaw@pinnaclewest.com Melissa.Krueger@pinnaclewest.com
22	Attorneys for Freeport-McMoRan and AECC	Leland Snook Zachary J. Fryer
23	wcrockett@fclaw.com pblack@fclaw.com	Arizona Public Service Company P.O. Box 53999, MS 9708
24		Phoenix, Arizona 85072-3999 Leland.Snook@aps.com
25		Zachary.Fryer@aps.com
26		

1		
1	Timothy M. Hogan	Gary Yaquinto
2	ARIZONA CENTER FOR LAW IN THE	President and CEO
	PUBLIC INTEREST	Arizona Investment Council
3	202 E. McDowell Road, Suite 153 Phoenix, Arizona 85004	2100 North Central Avenue, Suite 210
	Attorneys for SWEEP and Vote Solar	Phoenix, AZ 85004 gyaquinto@arizonaic.org
4	Initiative	gyaquinto(w,arizonare.org
_	thogan@aclpi.org	Cynthia Zwick
5		1940 E. Luke Avenue
	Jeff Schlegel	Phoenix, AZ 85016
6	SWEEP Arizona Representative	czwick@azcaa.org
7	1167 W. Smalayuca Drive	
	Tucson, Arizona 85704-3224	Court S. Rich
8	schlegelj@aol.com	ROSE LAW GROUP, PC
		6613 N. Scottsdale Road, Suite 200
9	Annie C. Lappe	Scottsdale, AZ 85250
	Rick Gilliam	Attorney for Solar Energy Industries
10	The Vote Solar Initiative 1120 Pearl Street, Suite 200	Association (SEIA) <a href="mailto:crich@roselawgroup.com">crich@roselawgroup.com</a>
	Boulder, Colorado 80302	<u>crici(@roseiawgroup.com</u>
11	annie@votesolar.org	Michael L. Neary
	rick@votesolar.org	Executive Director
12		Arizona Solar Energy Industries Association
12	Nicholas J. Enoch	(AriSEIA)
13	Jarrett J. Haskovec	111 W. Renee Dr.
14	LUBIN & ENOCH, P.C.	Phoenix, AZ 85027
17	349 North Fourth Avenue	mneary@arizonasolarindustry.org
15	Phoenix, Arizona 85003	Dahart I Matl: Dag
	Attorneys for IBEW Local 1116  Nick@lubinandenoch.com	Robert J. Metli, Esq. MUNGER CHADWICK, PLC
16	Jarrett@lubinandenoch.com	2398 E. Camelback Road, Suite 240
	<u>sancuasamanachoch.com</u>	Phoenix, AZ 85012
17	Travis Ritchie	Attorneys for Opower, Inc.
4.0	Sierra Club Environmental Law Program	rjmetli@mungerchadwick.com
18	85 Second St., 2 <sup>nd</sup> Floor	
10	San Francisco, CA 94105	Rachel Gold
19	Attorney for Sierra Club	Senior Regulatory Analyst
20	travis.ritchie@sierraclub.org	Opower Clark File 2
20	T	642 Harrison Street, Floor 2
21	Terrance A. Spann General Attorney	San Francisco, CA 94110 rachel.gold@opower.com
	Regulatory Law Office (JALS-RL/IP)	racher, gord (a,opower.com
22	Office of the Judge Advocate General	
	U.S. Army Legal Services Agency	
23	9275 Gunston Road, Suite 1300	$\sim$
	Fort Belvoir, VA 22060-5546	
24	terrance.a.spann.civ@mail.mil	Cobley Lluye
25		
25	Michael M. Grant	V
26	GALLAGHER & KENNEDY, P.A.	
20	2575 East Camelback Road	
27	Phoenix, AZ 85016-9225	
	Attorneys for AIC mmg@gknet.com	
28	mmg@gknet.com	2
		3

## **EXHIBIT A**

# TUCSON ELECTRIC POWER COMPANY

# PROPOSED SETTLEMENT AGREEMENT

**DOCKET NO. E-01933A-12-0291** 

**FEBRUARY 4, 2013** 

# TABLE OF CONTENTS

I.	RECITALS	2
II.	RATE INCREASE	3
III.	BILL IMPACT	4
IV.	COST OF CAPITAL	4
<b>V.</b>	DEPRECIATION/AMORTIZATION	4
VI.	PURCHASE POWER AND FUEL ADJUSTMENT CLAUSE ("PPFAC"	) 5
VII.	ENERGY EFFICIENCY RESOURCE PLAN	5
VIII.	LOST FIXED COST RECOVERY/FIXED RESIDENTIAL RATE OPTION/LARGE CUYSTOMER EXCLUSION	6
IX.	ENVIRONMENTAL COMPLIANCE ADJUSTOR SURCHARGE	8
Χ.	SPRINGERVILLE UNIT 1	8
XI.	PROCUREMENT	
XII.	LOW INCOME PROGRAMS	9
XIII.	NOGALES TRANSMISSION LINE	9
XIV.	SAN JUAN THERMAL EVENT	10
XV.	RATE DESIGN	10
XVI.	RULES AND REGULATIONS	10
XVII.	GREENWATTS TARIFF AND STATEMENT OF CHARGES	10
XVIII.	QUALITY OF SERVICE	.10
XIX.	COMPLIANCE MATTERS	.11

XXII	MISCELLANEOUS PROVISIONS	13
XXI.	COMMISSION EVALUATION OF PROPOSED SETTLEMENT	12
XX.	ADDITIONAL SETTLEMENT PROVISIONS	11

## PROPOSED SETTLEMENT AGREEMENT OF DOCKET NO. E-01933-A-12-0291 TUCSON ELECTRIC POWER COMPANY REQUEST FOR RATE ADJUSTMENT

The purpose of this Settlement Agreement ("Agreement") is to settle disputed issues related to Docket No. E-01933A-12-0291, Tucson Electric Power Company's ("TEP" or "Company") application to increase rates. This Agreement is entered into by the following entities:

Tucson Electric Power Company
Arizona Corporation Commission Utilities Division ("Staff")
Residential Utility Consumer Office ("RUCO")
Southern Arizona Homebuilder's Association ("SAHBA")
Kroger Co. ("Kroger")
Freeport-McMoRan Copper & Gold Inc. ("Freeport-McMoRan")
Arizonans for Electric Choice and Competition ("AECC")
EnerNOC, Inc. ("EnerNOC")
IBEW Local 1116 ("IBEW")
Cynthia Zwick ("Zwick")
Arizona Investment Council ("AIC")
Opower, Inc. ("Opower")
The Vote Solar Initiative ("Vote Solar")

These entities shall be referred to collectively as "Signatories;" a single entity shall be referred to individually as a "Signatory."

### I. RECITALS

- 1.1 TEP filed the rate application underlying Docket No. E-01933A-12-0291 on July 2, 2012. Staff found the application sufficient on August 2, 2012.
- 1.2 Subsequently, the Arizona Corporation Commission ("Commission") approved applications to intervene filed by SAHBA, Kroger, Freeport-McMoRan and AECC (collectively "AECC"), RUCO, EnerNOC, Arizona Public Service, Southwest Energy Efficiency Project, IBEW, Sierra Club, Department of Defense, Solar Energy Industries Association, AIC, Cynthia Zwick, Opower, Vote Solar, Arizona Solar Energy Industries Association and Southern Arizona Water Users Association (collectively "Parties").
- 1.3 TEP filed a notice of settlement discussions on January 8, 2013. Settlement discussions began on January 15, 2013. The settlement discussions were open, transparent, and inclusive of all Parties to this Docket who desired to participate. All Parties to this Docket were notified of the settlement discussion process, were encouraged to participate in the negotiations, and were provided with an equal opportunity to participate. Staff filed a Preliminary Term Sheet regarding this matter on January 22, 2013, which was discussed in a Special Open Meeting held on January 23, 2013.
- 1.4 The terms of this Agreement are just, reasonable, fair, and in the public interest in that they, among other things, establish just and reasonable rates for TEP customers; promote the convenience, comfort and safety, and the preservation of health, of the employees and patrons of TEP; resolve the issues arising from this Docket; and avoid unnecessary litigation expense and delay.
- 1.5 The Signatories believe that this Agreement balances the interests of both TEP and its customers. These benefits include:
  - a limited first year bill impact for customers (less than \$3.00 per month<sup>1</sup> for a residential customer using the annual average of 767 kilowatt-hour ("kWh") per month) despite the fact that TEP's current rates will have been in effect for almost 5 years at the time the new rates go into effect;
  - a lower percentage rate impact on small commercial customers than the other customer classes;

This includes the PPFAC and the DSM surcharge but does not include the REST surcharge, taxes or assessments.

- continuing bill assistance for low income customers;
- a proposal that provides rate treatment for investments in energy efficiency in a manner similar to rate treatment for investments in other resources and that reduces the rate impact to the customer;
- an Environmental Compliance Adjustment ("ECA") mechanism that allows recovery, with a cap, of government-mandated environmental compliance costs in a manner that smooths the rate impact of such compliance;
- a narrowly-tailored Lost Fixed Cost Recovery ("LFCR") mechanism that supports energy efficiency ("EE") and distributed generation ("DG") at any level or pace set by this Commission; and
- a fixed cost LFCR rate option for residential customers preferring to a pay a specified charge for lost fixed costs rather than the variable LFCR.
- 1.6 The Signatories agree to ask the Commission (1) to find that the terms and conditions of this Agreement are just and reasonable and in the public interest, along with any and all other necessary findings, and (2) to approve the Agreement such that it and the rates contained herein may become effective on July 1, 2013.

### TERMS AND CONDITIONS

### II. RATE INCREASE

- 2.1 TEP shall receive a non-fuel base rate increase of \$76,194,000 over adjusted test-year retail revenues, reflecting a total non-fuel revenue requirement of \$659,724,574. Attachment A sets forth the adjustments to TEP's initial request for a non-fuel base rate increase of \$127,760,000 that results in the settlement amount.
- TEP's base fuel rates shall be set to recover a total of \$300,252,951 which is an annual increase of \$31,599,730 over the amount recovered through current base fuel rates. However, as agreed to in this Agreement, the Purchased Power and Fuel Adjustment Clause ("PPFAC") rate will be reset on the effective date of the new rates, which will reduce the present annual recovery of fuel costs by \$52,750,597.

The Company's jurisdictional fair value rate base used to establish the rates agreed to herein is \$2,268,199,253, representing an average of the original cost rate base of \$1,507,062,648 and the replacement cost new less depreciation rate based of \$3,029,335,858. The Company's total adjusted Test Year revenue requirement is \$959,977,525.

### III. BILL IMPACT

- Upon the effective date of the new rates, the monthly bill for a residential customer, using the annual average of 767 kWh per month, will increase by less than \$3.00. This overall impact reflects a base rate increase, as well as a reduction in the PPFAC rate and a reduction in the Demand Side Management ("DSM") surcharge resulting from the adoption of the proposed Energy Efficiency Resource Plan.
- 3.2 The percentage revenue allocation resulting from this Agreement among the customer classes is set forth in Attachment B.

### IV. COST OF CAPITAL

- 4.1 The actual test year capital structure comprised of 55.97% long term debt, 0.53% short term debt and 43.50% common equity shall be adopted.
- 4.2 A return on common equity of 10.0%, an embedded cost of long-term debt of 5.18% and a cost of short-term debt of 1.42% shall be adopted.
- 4.3 A fair value rate of return of 5.05%, which includes a rate of return on the fair value increment of rate base of 0.68%, shall be adopted.
- 4.4 The provisions set forth herein regarding the quantification of cost of capital, fair value rate base, fair value rate of return, and the revenue requirement are made for purposes of settlement only and should not be construed as admissions against interest or waivers of litigation positions related to other or future cases.

#### V. DEPRECIATION/AMORTIZATION

5.1 The depreciation and amortization rates proposed by TEP and contained in Exhibit REW-1 to Dr. Ron White's Pre-filed Direct Testimony shall be adopted until further order of the Commission.

## VI. PURCHASED POWER AND FUEL ADJUSTMENT CLAUSE ("PPFAC")

- 6.1 The average retail base fuel rate shall be set at \$0.032335 per kWh. This rate reflects a total of \$300,252,951 in annual fuel and purchased power costs. This base rate does not include the PPFAC rate established in this Agreement, which includes a one-time \$3 million credit related to previous sulfur credits and a \$9.7 million deferral of costs related to the San Juan Thermal Event (as described in Section XIV below). Therefore, on the effective date of new rates in this docket, the PPFAC rate will be set at negative \$0.001388 per kWh (i.e., it will be a credit to the customer's bill).
- 6.2 TEP's existing PPFAC mechanism will continue with administrative changes, as set forth in the PPFAC Plan of Administration in Attachment C. The PPFAC is modified to include the recovery of the following costs and/or credits: broker fees; lime costs; sulfur credits; and 100% of proceeds from the sale of SO2 allowances. TEP will continue to recover its base purchased power and fuel costs through base fuel rates as determined by the Commission in this case. TEP will continue to file annually for the reset of the PPFAC and Staff will review the filings for the appropriateness of the forecasts and the numerical accuracy of the filing. Such Staff review does not imply prudency.
- 6.3 The Signatories believe it is in the public interest to defer the next reset of TEP's PPFAC rate until the effective date of the rates in this docket in order to partially offset the base rate increase. Therefore, TEP will seek expedited Commission authorization to defer TEP's April 1, 2013 PPFAC rate adjustment until the effective date of new rates in this docket and the Signatories agree to either support or not oppose that motion.

### VII. ENERGY EFFICIENCY RESOURCE PLAN

- 7.1 TEP will implement an Energy Efficiency Resource Plan ("Plan"), as proposed by Staff in its Direct Testimony, which is intended to treat energy efficiency similar to a typical generation resource. Under this Plan, TEP will invest (just as TEP does with other conventional energy resources) in cost-effective energy efficiency programs that have been approved by the Commission. After providing documentation that the energy efficiency programs have been effective, TEP will be allowed to recover the cost of its energy efficiency investments, including the rate of return established in this case on those investments, through TEP's existing DSM adjustor mechanism.
- 7.2 TEP will amortize annual energy efficiency investments under the Plan over five years.

- 7.3 TEP will resume funding programs previously approved by the Commission beginning March 1, 2013, and shall request recovery of such costs through the Plan.
- 7.4 Upon the effective date of the rates in this case, TEP will begin investing in cost-effective DSM/EE programs pursuant to the Plan for the remainder of year 2013 based upon the Commission's approval of the Plan, which includes the programs and the annual budget (approximately \$12 million on a pro rata basis assuming a July 1, 2013 start date) recommended by Staff in Staff's proposed order for TEP's 2011-2012 Energy Efficiency Implementation Plan filed in Docket No. E-01933A-11-0055 on November 16, 2011.
- 7.5 Upon the effective date of the rates in this case, and approval of the Plan, TEP will file a request to close Docket No. E-01933A-11-0055.
- 7.6 Any customer who can demonstrate an active DSM program and whose single site usage is 25 MW or greater may file a petition with the Commission for an exemption from the DSM adjustor and, if approved, will be removed from the Energy Efficiency Standard denominator. The Parties are not required to support any such petition and some Parties may plan to oppose any such petition.
- 7.7 TEP will conduct the Plan pursuant to a Plan of Administration, which is set forth in Attachment D.
- 7.8 Upon adoption of the Plan, the DSM surcharge will be assessed on a per kWh basis for residential customers and on a percentage of bill basis for non-residential customers. The current DSM surcharge for residential customers will be reset from \$0.001249 per kWh to \$0.000443 per kWh upon the effective date of the new rates in this case.
- 7.9 Nothing in the Plan is intended to bind the Commission to any specific EE policy or standard, but merely sets up the method of recovery for investments in EE for any EE policy or standard established by the Commission.

# VIII. LOST FIXED COST RECOVERY/FIXED RESIDENTIAL RATE OPTION /LARGE CUSTOMER EXCLUSION

8.1 The Signatories support energy efficiency as a low cost energy resource. The Signatories also recognize that, under TEP's current volumetric rate design, the Company recovers a significant portion of its fixed costs of service through kWh sales. Commission rules related to EE and DG require TEP to sell fewer

- kWh, which, in turn, prevents the Company from being able to recover a portion of the fixed costs of service embedded in its volumetric rates.
- 8.2 The Signatories also recognize the Commission's interest in directing EE and DG policy. In signing this Agreement, the Signatories intend that an LFCR mechanism with a residential fixed rate option shall be adopted that allows TEP relief from the financial impact of verified lost kWh sales attributable to Commission requirements regarding EE and DG while preserving maximum flexibility for the Commission to adjust EE and DG requirements, either upward or downward, as the Commission may deem appropriate as a matter of policy. Nothing in this Agreement is intended to bind the Commission to any specific EE or DG policy or standard.
- 8.3 The Signatories propose that the Commission approve an LFCR mechanism that is similar to the LFCR approved for other Arizona utilities. The LFCR shall recover a portion of distribution and transmission costs associated with residential, commercial and industrial customers when sales levels are reduced by EE and DG. It shall not recover lost fixed costs attributable to generation and to other potential factors, such as weather or general economic conditions.
- 8.4 The LFCR will have a 1% year-over-year cap. The annual 1% year over year cap is based on total applicable TEP retail revenues (i.e., average bills for customers shall not increase by more than 1%). Any amount in excess of the 1% cap will be deferred for collection consistent with the LFCR Plan of Administration. The amount of the cap level set herein shall be evaluated in TEP's next rate case.
- 8.5 The LFCR mechanism shall not apply to large light & power, water pumping or lighting customers, as delineated in the LFCR Plan of Administration. However, rate design for these customer classes shall be such that they pay their fair share of fixed costs through their monthly minimum and/or demand charge.
- 8.6 Residential customers shall have a fixed LFCR rate option providing the opportunity to elect an optional higher monthly service charge, graduated by kWh monthly usage. That option is attached hereto as Attachment E. The optional monthly service charge will be incorporated into each residential rate schedule to provide customers with the maximum flexibility to choose the fixed LFCR rate option without requiring a shift to a different rate schedule. The purpose of this fixed LFCR rate option is to replicate, on average, the effects of the LFCR.

- 8.7 TEP shall seek stakeholder input regarding the development of a customer outreach program to inform and educate customers about the LFCR and shall implement this outreach program by February 1, 2014.
- 8.8 The LFCR will recover lost fixed cost on a calendar year basis from January 1, 2013 forward and the first LFCR surcharge will not go into effect until July 1, 2014.
- 8.9 The LFCR Plan of Administration is attached hereto as Attachment F.

#### IX. ENVIRONMENTAL COMPLIANCE ADJUSTOR SURCHARGE

9.1 TEP will implement an Environmental Compliance Adjustor ("ECA") that will recover environmental compliance costs, subject to a cap equal to 0.25 percent of total TEP retail revenue. TEP will be held responsible for demonstrating that the environmental controls were government-mandated and represented a reasonable and prudent option available to TEP at the time sufficient to meet the environmental requirement. The ECA Plan of Administration is set forth as Attachment G.

### X. SPRINGERVILLE UNIT 1

7

- 10.1 TEP shall file a report with the Commission no later than July 31, 2014, addressing the status of the Springerville Generating Station ("SGS") lease agreements and the estimated change in TEP's non-fuel revenue requirement at the conclusion of each primary lease term. Specifically, TEP commits to reporting on the following matters:
  - The details concerning any commitments made by TEP to purchase SGS Unit 1, or any agreements entered into by TEP to otherwise retain capacity rights to SGS Unit 1, after the end of the primary lease term in January 2015;
  - The details concerning any commitments made by TEP to purchase replacement generating resources, or any purchased power agreements entered into by TEP for replacement power, if TEP elects not to purchase or otherwise retain capacity rights to SGS Unit 1 after the end of the primary lease term in January 2015;
  - The details concerning any commitments made by TEP to purchase the SGS Coal Handling Facilities, or any agreements

entered into by TEP to extend the Coal Handling Facilities lease term, after the end of the primary lease term in April 2015; and

- The estimated non-fuel revenue requirement associated with each of the commitments described above, including the proposed rate treatment of any remaining balance of SGS leasehold improvements.
- 10.2 Based on the information in the above reporting, the Commission, on its own motion or a recommendation of a Signatory in this case, may require TEP to explain why the Commission should not conduct a proceeding to have TEP's rates reduced accordingly.

#### XI. PROCUREMENT

11.1 TEP agrees to adopt Staff's proposed modifications to the Company's energy procurement program discussed in the Direct Testimony of Emily Medine, except for the Risk Manager recommendation. The adopted modifications are set forth in Attachment H.

### XII. LOW INCOME PROGRAMS

- 12.1 TEP will limit a typical Lifeline customer's increase to an amount that is generally reflective of the average monthly dollar increase of a standard R-01 customer. The anticipated bill impacts for Lifeline customers are set forth in Attachment I.
- 12.2 The PPFAC rate and DSM surcharge shall apply to Lifeline customers, and the currently frozen rates shall no longer be portable.
- 12.3 In compliance with Decision No. 59594 (March 29, 1996), TEP set up a LIFE Fund of \$4.5 million. The annual interest from the LIFE Fund was used for the benefit of low-income customers. The Signatories agree that the LIFE Fund should be extinguished and that TEP will make an annual contribution to the Arizona Community Action Association in the amount of \$150,000 to fund low-income utility bill assistance programs, commencing on September 1, 2013.

#### XIII. NOGALES TRANSMISSION LINE

13.1 TEP agrees that, before requesting any rate recovery from the Commission for the cost related to the development of the transmission line between Tucson and Nogales, it will seek recovery of those costs from the Federal Energy Regulatory Commission ("FERC"). Nothing herein shall preclude Parties from challenging before FERC or the Commission the inclusion of this cost in rates.

### XIV. SAN JUAN THERMAL EVENT

14.1 TEP agrees to maintain a separate accounting of all direct costs related to the thermal event at the San Juan mine and that such cost recovery, with the exception of TEP's share of the insurance deductible, be deferred until the insurance settlement has been completed. The estimate of deferred costs is \$9.7 million. TEP shall then be eligible to put through all costs in excess of the insurance recovery subject to the standard prudence determination of all fuel costs recovered through the PPFAC. This accounting and regulatory treatment is not intended to set a precedent for future events.

### XV. RATE DESIGN

- 15.1 In addition to the provisions affecting rate design set forth in this Agreement above, rate design shall be addressed as set forth in Attachment J.
- 15.2 The rate design portion of this Agreement shall remain open until July 1, 2014, to allow for the possible adjustment of specific tariffs to correct for unanticipated customer rate impacts that are determined to be inconsistent with the public interest. Any tariff changes will not have the effect, in the aggregate, of reducing TEP's non-fuel revenue requirement.

### XVI. RULES AND REGULATIONS

16.1 TEP's revised Rules and Regulations shall be as agreed to between the Company and Staff. The final version of the Rules and Regulations will be attached to the Company's testimony in support of the Agreement.

### XVII GREENWATTS TARIFF AND STATEMENT OF CHARGES

- 17.1 TEP's GreenWatts tariff is eliminated.
- 17.2 TEP's revised Statement of Charges is set forth in Attachment K.

## XVIII. QUALITY OF SERVICE

18.1 TEP agrees to: (i) continue to evaluate TEP's reliability on the basis of the distribution indices being maintained at present levels and (ii) initiate a study within 180 days of the effective date of the approval of this Agreement to examine potential loss reductions and the costs required to convert 4.16 kV circuits to 13.8 kV.

18.2 TEP agrees to meet with Staff within 180 days of the effective date of the approval of this Agreement to address: (i) potentially increasing the pace of upgrading critical circuits in need of preventative maintenance; (ii) establishing a routine of periodic load-flow analysis of its system and confirming the accuracy of utilized model; and (iii) equip feeder circuits with meters or other equipment so that power information can be relayed to Energy Management Service ("EMS") through Supervisory Control and Data Acquisition ("SCADA") to determine losses on a circuit-by-circuit basis.

#### XIX. COMPLIANCE MATTERS

19.1 TEP's request for elimination of reporting requirements, as set forth in the Direct Testimony of Craig A. Jones at pages 76-81, shall be approved with the exception of: (i) the reporting requirements under the Commission's Retail Electric Competition Rules (A.A.C. R14-2-1601 et seq.) and (ii) the Cost Containment Report pursuant to Decision No. 59594 (March 29, 1996). The reporting requirements that are eliminated or modified are set forth in Attachment L.

### XX. ADDITIONAL SETTLEMENT PROVISIONS

- 20.1 With respect to the retail space (approximately 12,000 square feet) at the Company's headquarters building, TEP will in its next rate case propose to treat the retail space in a similar manner as set forth in Attachment A.
- 20.2 Net Operating Losses: Within 60 days following the final decision in Docket No. E-01933A-12-0291, TEP will make a filing proposing the Commission open a generic docket to address the appropriate accounting treatment of Net Operating Losses (NOLs) in future rate cases.
- 20.3 Depreciation Reserves: In recognition of RUCO's excess depreciation concerns, TEP agrees to the following: (a) If TEP makes any filing with the Commission related to the early retirement of any production asset, TEP will propose that any then-existing excess depreciation reserve for Production Plant will be applied to the unrecovered book value of the retiring asset and (b) TEP will propose in its next rate case that the remaining excess Production Plant depreciation, if any, after the application to the aforementioned early asset retirement will be amortized over 15 years.
- 20.4 Capital Expenditures for Distribution Plant: TEP agrees to meet with RUCO and Staff once a year for the next 3 years to discuss TEP's capital expenditures, planning horizons, and related planning (reconciled with TEP's IRP) for the

- upcoming year. TEP will provide the capital expenditure details and supporting information at least one week prior to the scheduled meeting.
- 20.5 As a compliance item, TEP agrees that it will file in this docket by August 30, 2013 a proposed tariff for interruptible rates. Staff agrees that it will review the filing and docket a Staff Report and Proposed Order for the consideration of the Commission by December 31, 2013.
- 20.6 In its next general rate case, TEP agrees to propose a rate for customers that take service at 138 kV or higher.

## XXI. COMMISSION EVALUATION OF PROPOSED SETTLEMENT

- 21.1 All currently filed testimony and exhibits shall be offered into the Commission's record as evidence.
- 21.2 The Signatories recognize that Staff does not have the power to bind the Commission. For purposes of proposing a settlement agreement, Staff acts in the same manner as any party to a Commission proceeding.
- 21.3 This Agreement shall serve as a procedural device by which the Signatories will submit their proposed settlement of TEP's pending rate case, Docket No. E-01933A-12-0291, to the Commission.
- 21.4 The Signatories recognize that the Commission will independently consider and evaluate the terms of this Agreement. If the Commission issues an order adopting all material terms of this Agreement, such action shall constitute Commission approval of the Agreement. Thereafter, the Signatories shall abide by the terms as approved by the Commission.
- 21.5 If the Commission fails to issue an order adopting all material terms of this Agreement, any or all of the Signatories may withdraw from this Agreement, and such Signatory or Signatories may pursue without prejudice their respective remedies at law. For purposes of this Agreement, whether a term is material shall be left to the discretion of the Signatory choosing to withdraw from the Agreement. If a Signatory withdraws from the Agreement pursuant to this paragraph and files an application for rehearing, the other Signatories, except for Staff, shall support the application for rehearing by filing a document with the Commission that supports approval of the Agreement in its entirety. Staff shall not be obligated to file any document or take any position regarding the withdrawing Signatory's application for rehearing.

#### XXII. MISCELLANEOUS PROVISIONS

1

- 22.1 This case has attracted a large number of participants with widely diverse interests. To achieve consensus for settlement, many participants are accepting positions that, in any other circumstances, they would be unwilling to accept. They are doing so because this Agreement, as a whole, is consistent with their long-term interests and with the broad public interest. The acceptance by any Signatory of a specific element of this Agreement shall not be considered as precedent for acceptance of that element in any other context.
- 22.2 No Signatory is bound by any position asserted in negotiations, except as expressly stated in this Agreement. No Signatory shall offer evidence of conduct or statements made in the course of negotiating this Agreement before this Commission, any other regulatory agency, or any court.
- 22.3 Neither this Agreement nor any of the positions taken in this Agreement by any of the Signatories may be referred to, cited, and/or relied upon as precedent in any proceeding before the Commission, any other regulatory agency, or any court for any purpose except to secure approval of this Agreement and enforce its terms.
- 22.4 To the extent any provision of this Agreement is inconsistent with any existing Commission order, rule, or regulation, this Agreement shall control.
- 22.5 Each of the terms of this Agreement is in consideration of all other terms of this Agreement. Accordingly, the terms are not severable.
- 22.6 The Signatories shall make reasonable and good faith efforts necessary to obtain a Commission order approving this Agreement. The Signatories shall support and defend this Agreement before the Commission. Subject to Paragraph 21.5 above, if the Commission adopts an order approving all material terms of the Agreement, the Signatories will support and defend the Commission's order before any court or regulatory agency in which it may be at issue.

22.7 This Agreement may be executed in any number of counterparts and by each Signatory on separate counterparts, each of which when so executed and delivered shall be deemed an original and all of which taken together shall constitute one and the same instrument. This Agreement may also be executed electronically or by facsimile.

ARIZONA CORPORATION COMMISSION
UTILITIES DIVISION STAFF

By

Title 47.6

Vivoier Pireto,

Date 2- 4-/3

TUCSON ELECTRIC POWER COMPANY

5

Title President

Date February 4, 2013

Residential Utility Consumer Office

3 Vall

Title DIGRETOR RUCO

Date 2/4/2013

David Godlewski

Southern Arizona Home Builders Association

By Acsident
Date 1/4/13

KROGER CO.

By Child

Title Atturney

Date 2-4-13

Freeport-McMoRan Copper & Gold Inc.

C. Webb Crockett

Patrick J. Black

Fennemore Craig, P.C.

Title Attorneys for Freeport-McMoRan Copper & Gold Inc.

Date February 4, 2013

Arizonans for Electric Choice and Competition

C. Webb Crockett

Patrick J. Black

Fennemore Craig, P.C.

Title Attorneys for Arizonans for Electric Choice and Competition

Date February 4, 2013

Daniel R. Lloyd

p.1

Signatory to February 4, 2013 Tucson Electric Power Company Settlement Agreement Docket No. E-01933A-12-0291

[PARTY NAME]

By Mona Terney Floyd Title DiRector, Rog Affairs, EVERNE

**IBEW LOCAL 1116** 

By Junto of Hackore

Title Attorney for IBEN (Grijalva, Business Manage,

Date 2/4/13

Cynthia Zwick

Ву	Cypythy 7th	
-		5
Title		
Date	FISHELARY	4,2013

ARIZONA INVESTMENT COUNCIL

Title Pravident

Date 2/4/2013

[Opower Inc.]

Title AHORNEY

 $D_{ate} 2 - 4 - 13$ 

The Vote Solar Initiative

Title Afformes for VSI

Date et = 5-4, 2013

# **ATTACHMENT**

"A"

Settlement Attachment A Page 1 of 4

TEST YEAR RIDGE DECEMBER 31, 2011   Shummay   Summary			TUCSON ELECTR	TUCSON ELECTRIC POWER COMPANY
As Filed   Settlement	100		STMENTS TO ACC	JURISDICTIONAL REVENUE REQUIREMENT
As Filed  TEP  TEP  TEP  TEP  Settlement  6/30/12  \$1,527,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,620,854  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,605,208)  \$1,606,854  \$1,606,854  \$1,619,073,362  \$1,507,062,648  \$1,519,073,362  \$1,507,062,648  \$1,519,073,362  \$1,507,062,648  \$1,519,073,362  \$1,507,062,648  \$1,519,073,362  \$1,519,073,362  \$1,609,698  \$1,109,412,748  \$1,109,413,528  \$1,14,588,477  \$1,509,688  Base  \$1,507,068,87			EST YEAR ENDED	DECEMBER 31, 2011
As Filed Settlement  6.30/12  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,142  \$1,627,962,143  \$1,627,962,143  \$1,627,962,143  \$1,627,962,163  \$1,605,208  \$1,605,208  \$1,605,208  \$1,607,062,648  \$1,619,073,362  \$1,607,062,648  \$1,519,073,362  \$1,609,698  \$1,617,609,698  \$1,617,609,698  \$1,129,483,528  \$1,14,588,477  Base  \$1,568  \$1,568  \$1,568  \$1,568  \$1,568  \$1,668  Base  \$1,568  \$1,668  \$1,668				
## Settlement				
TEP Settlement 6/30/12 2/4/13 2/4/13 5/1,627,962,142 5/1,627,962,142 5/1,627,962,142 5/1,627,962,142 5/1,627,962,142 5/1,627,962,142 5/1,627,962,142 5/1,627,962,143 5/1,627,962,143 5/1,627,962,143 5/1,627,962,143 5/1,627,962,143 5/1,627,962,143 5/1,627,962,143 5/1,627,962,143 5/1,627,962,143 5/1,627,962,143 5/1,136,605 5/1,136,9		As Filed	-	A CANADA
6130112 21413 \$1,627,962,142 \$1,627,962,142 11,088,732 (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (1605,208) (15,710,443 (1,605,208) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (120,894,94) \$1,519,073,362 \$1,507,062,648 \$1,519,073,362 \$1,507,062,648 \$1,519,073,362 \$1,507,062,648 \$1,519,073,362 \$1,507,062,648 \$1,519,073,362 \$1,507,062,648 \$1,508,414,588,477 (129,483,528 \$114,588,477		TEP	Settlement	
## \$1,627,962,142 \$1,627,962,142    a	The state of the s	6/30/12	2/4/13	Summary
11,088,732 (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (766,0854 (766,0854 (766,0854 (766,0854 (766,0854 (766,0854 (766,085,086) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085) (766,085,085,085) (766,085,085,085) (766,085,085,085,085,085) (766,085,085,085,085,085,085,085,085,085,085	Original Cost Rate Base - Unadjusted	\$1,627,962,142	\$1,627,962,142	
Hase 11,088,732 (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,089,494) (766,888,780) (766,889,780) (766,889,494) (77,74% 7.74% 7.756,899,494) (77,74% 7.756,899,494) (77,74% 7.756,1136,605 8.7561,142,979 8.7561,136,605 8.7561,142,979 8.7561,136,605 8.7561,142,979 8.7561,136,605 8.7561,142,979 8.7561,136,605 8.7561,142,979 8.7561,136,605 8.7563,1280,216,341 8.2,268,199,253 8.2,280,216,341 8.2,268,199,253 8.2,280,216,341 8.2,268,199,253 8.2,280,216,341 8.2,268,199,253 8.2,280,196,3528 8.114,588,477	Dodge Dans A directority			
Ease (1,088,732 (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,089 (765,060) (765,208) (765,208) (765,208) (766,48,626)	Kate base Adjustments			For numoses of settlement and to be reflected in rates in this proceeding the Settling Darties agree
(765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,060) (765,0854 (765,0854 (1065,208) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (120,899,494) (120,899,412,748 (3761,142,979 (3761,136,605 (3761,142,979 (3761,136,605 (3761,136,605 (3761,142,979 (3761,136,605 (3761,142,979 (3761,136,605 (3761,142,979 (3761,136,605 (3761,142,979 (3761,136,605 (376	Sahuarita - Nogales Transmission Line	11,088,732	•	that recovery will be pursued at the Federal Energy Regulatory Commission.
20,441,231 20,441,231 15,710,443 15,710,443 7,650,854 7,650,854 (1,605,208) (1,605,208) (126,648,626) (126,648,626) (108,888,780) (120,899,494) \$ 1,519,073,362 \$ 1,507,062,648 \$ 1,519,073,362 \$ 1,519,072,872 \$ 1,519,073,362 \$ 1,519,072,872 \$ 1,519,073,362	Leasehold Improvements	(765,060)	(765,060)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
15,710,443 15,710,443  7,650,854 7,650,854  (1,605,208) (1,605,208)  (126,648,626) (126,648,626)  (34,761,146) (35,683,128)  (34,761,146) (120,899,494)  \$ 1,519,073,362 \$ 1,507,062,648  \$ 1,519,073,362 \$ 1,507,062,648  \$ 1,519,073,362 \$ 1,507,062,648  \$ 1,519,073,362 \$ 1,507,062,648  \$ 1,519,073,362 \$ 1,507,062,648  \$ 2,280,216,341 \$ \$2,268,199,253  \$ 5,68% \$ 5,05%  Base 1,59,483,528 \$ 114,588,477	Post Test Year Plant	20,441,231	20,441,231	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
7,650,854 7,650,854 (1,605,208) (1,605,208) (1,605,208) (126,648,626) (126,648,626) (126,648,626) (134,761,146) (35,683,128) (108,888,780) (120,899,494) (108,888,780) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,898,477) (120,483,528 \$114,588,477) (120,483,528 \$114,588,477)	Post Test Year Plant - Renewable	15,710,443	15,710,443	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
(1,605,208) (1,605,208) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (126,648,626) (136,683,128) (130,886,780) (120,899,494) (120,886,780) (120,899,494) (120,886,780) (120,899,494) (120,886,199,253) (120,886,199,253) (120,483,528	Delayed Plant	7.650.854	7.650.854	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
(1,605,208) (1,605,208) (1,605,208) (126,648,626) (126,648,626) (126,648,626) (120,899,494) (120,898,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,898,477) (120,483,528) (120,483				The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
(126,648,626) (126,648,626) (34,761,146) (35,683,128) (108,888,780) (120,899,494) (120,899,494) 7.74% 7.26% 7.74% 7.26% \$117,609,698 \$109,412,748 \$761,142,979 \$761,136,605 5.68% 5.05% 129,483,528 \$114,588,477	Accumulated Deferred ITC	(1,605,208)	(1,605,208)	reflected in rates in this proceeding.
(34,761,146) (35,683,128) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,899,494) (120,891,483,528) (120,898,199,253) (120,483,528) (120,483,5	Accumulated Deferred Income Tax	(126,648,626)	(126,648,626)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
## 1,519,073,362  ## 1,507,062,648  ## 1,519,073,362  ## 1,507,062,648  ## 1,507,062	Allowance for Working Capital	(34,761,146)	(35,683,128)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
\$ 1,519,073,362 \$ 1,507,062,648 7.74% 7.26% \$117,609,698 \$109,412,748 \$761,142,979 \$761,136,605 \$2,280,216,341 \$2,268,199,253 5.68% 5.05% 129,483,528 \$114,588,477	Total Adjustments to Rate Base	(108,888,780)	(120,899,494)	
\$117,609,698 \$109,412,748 \$117,609,698 \$109,412,748 \$761,142,979 \$761,136,605 \$2,280,216,341 \$2,268,199,253 5.68% 5.05% 129,483,528 \$114,588,477	Rate Base	\$ 1,519,073,362	\$ 1,507,062,648	
\$117,609,698 \$109,412,748 \$761,142,979 \$761,136,605 \$2,280,216,341 \$2,268,199,253 5,68% \$5,05% 129,483,528 \$114,588,477 Base 1.56% 0.68%	Requested Rate of Return	7.74%	7.26%	For purposes of settlement and to be reflected in rates, the Settleing Parties agree that a capital structure of 43.50 % Equity @10.00% and 55.97% Long-Term Debt @ 5.18% and .53% Short-Term Debt @ 1.42% be used.
\$117,609,698 \$109,412,748 \$761,142,979 \$761,136,605 \$2,280,216,341 \$2,268,199,253 5.68% \$5.05% 129,483,528 \$114,588,477 Base 1.56% 0.68%				
\$761,142,979 \$761,136,605 \$2,280,216,341 \$2,268,199,253 5.68% \$2,268,199,253 5.08% 5.05% 129,483,528 \$114,588,477 Base 1.56% 0.68%	Required Operating Income OCRB	\$117,609,698	\$109,412,748	
\$2,280,216,341 \$2,268,199,253 5.68% 5.05% 129,483,528 \$114,588,477 Base 1.56% 0.68%	Fair Value Increment of Rate Base	\$761,142,979	\$761,136,605	
5.05% 129,483,528 \$114,588,477 Base 1.56% 0.68%	Fair Value Rate Base (FVRB)	\$2,280,216,341	\$2,268,199,253	
129,483,528 \$114,588,477 Base 1.56% 0.68%	Proposed FVROR	5.68%	2.05%	
Base 1.56% 0.68%	Required Operating Income on FVRB	129.483.528	\$114.588.477	
1.56% 0.68%	0			
	ROR on Fair Value Increment of Rate Base	1.56%	0.68%	The Settling Parties agree to the reduced level of return on the fair value rate base increment for purposes of settlement.

		UCSON ELECTRI	TUCSON ELECTRIC POWER COMPANY
MOD	COMPARISON OF ADJUS	STMENTS TO ACC	USTMENTS TO ACC JURISDICTIONAL REVENUE REQUIREMENT
	1 1	EST YEAR ENDED	TEST YEAR ENDED DECEMBER 31, 2011
	As Filed		
	TEP	Settlement	Summary
Catal Company Property   Inspired	\$257.751.277	\$257,751,277	
Original operating monte - Originated			
Operating Revenue Adjustments			The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
State Energy Program	(1,254,299)	(1,254,299)	reflected in rates in this proceeding.
DECT 9 DOM	(46.633.198)	(46,633,198)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
NEO I & COM	(81.180)	(81,180)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Older Water	(87 568 386)	(80.607.382)	For purposes of settlement and to be reflected in rates the parties agree to adjust the reimbursement of operating expenses to 100%.
Springerville Unit 5 & 4	(51,555,555)	(641 665)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Power Supply Management	(000,140)	(2001)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Customer and Weather Adjustment	(7,922,107)	(7,922,107)	reflected in rates in this proceeding.
DDEAC Adjustment	(12,436,902)	(12,176,849)	For purposes of settlement and to be renected in rates, the Settling Fathes agree to dejections reflect the current PPFAC rate.
Principal de la companie de la compa			The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Service Fees & Late Fees	1,109,816	1,109,816	reflected in rates in this proceeding.  The Settling Parise agree to this adjustment for purposes of settlement and that the adjustment be
Customer Care & Billing (CC&B) Allocation	717,619	717,619	reflected in rates in this proceeding.
	(64 566)	(64 566)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
People Soft Allocation	(200,10)	FOR 224	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Building Allocation to Affiliates	1,77,000		The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Sulfur Credit		(5,070,000)	For purposes of settlement and to be reflected in rates, the Settling Parties agree to adjustments that some sevence and suffix credits as PDFAC inclinable costs.
Lime Expense	1	12,078,013	For purposes of settlement and to be reflected in rates in this proceeding, the Settling Parties agree to
Doodonadar Betirn Offset		2,389,000	include a reduction to TEM's cost of service producing a return on its flew office bulloning at TEM's cost of debt.
Treathdaller Nettern Cheek		000	For purposes of settlement and to be reflected in rates in this proceeding, the Settling Parties have agreed to assume a rent equivalent to \$20.83/square foot on 12,000 square feet of retail space.
Headquarter Retail Space Rent	(\$154.268.644)	(\$136,604,974)	ווומועני הלתוניות ליב לים אם הלשמים יבהן
ייינמי אמייינייייייייייייייייייייייייייי			

		TUCSON ELECTRI	TUCSON ELECTRIC POWER COMPANY
COMP	COMPARISON OF ADJU	STMENTS TO ACC	USTMENTS TO ACC JURISDICTIONAL REVENUE REQUIREMENT
		<b>EST YEAR ENDED</b>	TEST YEAR ENDED DECEMBER 31, 2011
	As Filed		
	6/30/12	2/4/13	Summary
Operating Expense Adjustments			
Acces 1 acces 1 acces 2 acces 2	(3 553 210)	(3.553.210)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Implementation Cost Regulatory Asset	(2) = (2) (2)		The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
State Energy Program	(1,253,688)	(1,253,688)	reflected in rates in this proceeding.  The Scattien Darles pares to this adjustment for numbers of safflement and that the adjustment be
BEST & DSM	(34,129,577)	(34,129,577)	reflected in rates in this proceeding.
Watte	(28.094)	(28,094)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Green Halle	(66 126 339)	(66.126.339)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Spirigervine Units 5 & 4	(200)		The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Revenue form Sale of S02 Allowances	1,212	1,212	reflected in rates in this proceeding.
olos for Daeala	(128 262 147)	(128,262,147)	reflected in rates in this proceeding.
Cardo To Topado			The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Power Supply Management	(217,252)	(217,252)	reflected in rates in this proceeding.  The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
DDEAC Adjustment	168.304.294	168,564,347	reflected in rates in this proceeding.
	00000		For purposes of settlement and to be reflected in rates in this proceeding, the Settling Parties agree that recovery will be pursued at the Federal Energy Regulatory Commission.
Sahuarita - Nogales Tran Line Amortization	7,902,030		The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Generating Facilities - Operating Lease	(3,148,432)	(3,148,432)	reflected in rates in this proceeding.
A 11-11-11-11-11-11-11-11-11-11-11-11-11-	41 014 390	41 000 514	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Springervine Ornic	000,410,41		The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Overhaul & Outage Normalization	1,191,868	(1,322,100)	reflected in rates in this proceeding.  The Continue Dation pages to this adjustment for purposes of cattlement and that the adjustment he
Downel	2.898.605	2,898,605	reflected in rates in this proceeding.
י מזיטו באסייס	000	103 300	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Payroll Lax Expense	060,061	00000	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Pension & Benefits	200,143	200,143	Telected in rates in this proceeding.
Retiree Medical	1,235,251	1,235,251	rife Setting Fatters agree to this adjustment to purposes or settlement and that the adjustment of reflected in rates in this proceeding.
	2 044 330	(80 108)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Incentive Compensation	2,014,330	(00.,00)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be
Rate Case Expense	192,187	(25,998)	reflected in rates in this proceeding.
Domostoo	599 268	599.268	The Setting Parties agree to this adjustment tot purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Injuries and Damages	1 224,000		

Settlement Attachment A Page 4 of 4

			Page 4 of 4
MOC	COMPARISON OF AD III	UCSON ELECTRI	TUCSON ELECTRIC POWER COMPANY INSTANFATS TO ACC. IURISDICTIONAL REVENUE REQUIREMENT
		EST YEAR ENDED	TEST YEAR ENDED DECEMBER 31, 2011
	As Filed		
	TEP	Settlement	
	6/30/12	2/4/13	The Summary Summary Composition of the All the
Membership Dues	(79,913)	(191,016)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Dod Dobt Evrence	630 648	639 648	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Con Delication	1 217 949	1 217 949	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
People Soft Allocation	(187,570)	(187,570)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Dept. & Amort. Expense Annualization	(3.197.238)	(3.197.238)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Non-Recurring	(1.492,550)	(1,492,550)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Property Tax	2,305,832	848,741	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Asset Retirement Obligation	(299,189)	(299,189)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Building Expense Annualization	286,055	286,055	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Lime Expense	1,246,043	1,246,043	reflected in rates in this proceeding. The net Lime expense and sulfur credit amount in O&M were offset and reflected as PPFAC includable costs.
Credit Support		21,000	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Post Test Year Depreciation		1,520,175	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Income Tax	(23,564,462)	(14,198,335)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
OATT	90,028,056	90,028,056	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Directors and Officers Liability Insurance		(289,320)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Day Nite / General Corporate Advertising		(13,061)	The Settling Parties agree to this adjustment for purposes of settlement and that the adjustment be reflected in rates in this proceeding.
Total Adjustments to Operating Expense	\$51,011,498	\$52,485,173	
Total Net Adjustments	(\$205,280,142)	(\$189,090,147)	
Adjusted Operating Income	\$52,471,135	\$68,661,130	
Operating Income Deficiency	\$77,012,393	\$45,927,347	
Gross Revenue Conversion Factor	1.6590	1.6590	The second secon
Increase in Gross Revenue Requirement	\$127,760,018	\$76,194,257	

## **ATTACHMENT**

"B"

Tucson Electric Power Company
Test Period Ending December 31, 2011
Revenue Allocation - Test Year Adjusted
Attachment B

Line	:	Total Adjusted	d Total Fuel Revenue	Total Non-Fuel Revenue Increase	Total Proposed Revenues	Percent Allocated
No.	No. Description 1 Residential	\$363,572,522	12		\$411,824,508	13.3%
2	2 Small General Service	223,685,672	9,960,816	17,646,762	251,293,250	12.3%
က	Water Pumping	7,355,490	90 481,929	554,386	8,391,806	14.1%
4	Large General Service	100,687,806	06 4,369,445	9,861,330	114,918,581	14.1%
ī,	Large Light and Power	114,163,922	22 4,502,721	11,608,894	130,275,537	14.1%
9	Lighting	3,936,000	316,595	. 239,336	4,491,931	14.1%
7	Subtotal	\$813,401,411	11.	\$76,194,310	\$921,195,613	13.3%

## ATTACHMENT



## Tucson Electric Power Company Purchased Power and Fuel Adjustment Clause Plan of Administration

## Table of Contents

1. General Description	1
2. Definitions.	
3. PPFAC Components	3
4. Calculation of the PPFAC	
5. Calculation of the Fixed CTC True-Up Revenue Credit	5
6.5. Filing and Procedural Deadlines	
7.6. Verification and Audit.	
8.7.Schedules.	7
9-8. Compliance Reports.	7-
10.9.	
llowable Costs	9

## 1. GENERAL DESCRIPTION

This document describes the plan for administering the Purchased Power and Fuel Adjustment Clause ("PPFAC") the Arizona Corporation Commission ("Commission") approved for Tucson Electric Power Company ("TEP") in Decision No. 70628 (December 1, 2008) and amended by the Commission in Decision No. XXXXXX (date).- The PPFAC provides for the recovery of fuel and purchased power costs from the date of Decision No. XXXXXX that decision forward.

The PPFAC described in this Plan of Administration ("POA") uses a forward-looking estimate of fuel and purchased power costs to set a rate that is then reconciled to actual costs experienced. This POA describes the application of the PPFAC.

## 2. DEFINITIONS

<u>Applicable Interest</u> - Based on one-year Nominal Treasury Constant Maturities rate contained in the Federal Reserve Statistical Release H-15. The interest rate is adjusted annually on the first business day of the calendar year.

Base Cost of Fuel and Purchased Power - An amount generally expressed as a rate per kWh, which reflects the fuel and purchased power cost embedded in the base rates as approved by the Commission in TEP's most recent rate case. The Base Cost of Fuel and Purchased Power revenue is the approved rate per kWh times the applicable sales volumes. Decision No. 70628 XXXXX set the base cost at \$0.032335 per kWh at \$0.02896 per kWh effective on December 1, 2008[date].

<u>Fixed CTC True Up Revenues</u> The incremental revenue that was collected as a result of retaining the Fixed CTC in place and maintaining Standard Offer rates, pursuant to Decision No. 69568

Brokerage Fees – The costs attributable to the use of brokers recorded in Federal Energy Regulatory Commission ("FERC") Account 557.

Forward Component - An amount expressed as a rate per kWh charge that is updated annually on April 1 of each year and effective with the first billing cycle in April. The Forward Component for the PPFAC Year will adjust for the difference between the forecasted fuel and purchased power costs expressed as a rate per kWh less the Base Cost of Fuel and Purchase Power generally expressed as a rate per kWh embedded in TEP's base rates. The result of this calculation will equal the Forward Component, expressed as a rate per kWh.

<u>Forward Component Tracking Account</u> - An account that records on a monthly basis TEP's over/under-recovery of its actual costs of fuel and purchased power as compared to the actual Base Cost of Fuel and Purchased Power revenue and Forward Component revenue; plus Applicable Interest. The balance of this account as of the end of each PPFAC Year is, subject to periodic audit, reflected in the next True-Up Component calculation. TEP files the balances and supporting details underlying this Account with the Commission on a monthly basis via a monthly reporting requirement.

Xxxx x, 2013 Page 1

<u>Fuel and Purchased Power Costs</u> - The costs recorded for the fuel and purchased power used by TEP to serve both Total Native Load Energy Sales and Short Term Sales, less the costs associated with Mark-to-Market Accounting adjustments. Wheeling costs are included. Broker's fees and other expenses TEP records in Account 557 are not included.

<u>Lime Costs (FERC Account 502) – The costs recorded for lime used to remove sulfur compounds formed during coal combustion.</u>

<u>Long Term Energy Sales</u> - The portion of load from Total Native Load Energy Sales wholesale customers (currently Salt River Project, Tohono O'odham Utility Authority and Navajo Tribal Utility Authority) that is served by TEP, excluding the load served with Preference Power. Wholesale sales with a duration of one year or greater are also included.

<u>Mark to Market Accounting</u> - Recording the value of qualifying commodity contracts to reflect their current market value relative to their actual cost.

<u>PPFAC</u> - The Purchased Power and Fuel Adjustment Clause approved by the Commission in Decision No. 70628 and amended by the Commission in Decision No. XXXXX, which is a combination of two rate components that track changes in the cost of obtaining power supplies based upon forward-looking estimates of fuel and purchased power costs that are eventually reconciled to actual costs experienced. This PPFAC also provides for a reconciliation between actual and estimated costs of the last three months of estimated costs used in True-Up Component calculations.

PPFAC Year - A consecutive 12-month period beginning each April 1 and lasting through March 31 the following year. The initial term of the PPFAC will begin on the effective date of the Commission decision in this proceeding (Decision No. 70628) and end on March 31, 2009. The first full year of the PPFAC will begin on April 1, 2009 and end on March 31, 2010. The first True Up Component will include costs and revenues from January 1, 2009 through March 31, 2009.

<u>Preference Power</u> - Power allocated to TEP wholesale customers by federal power agencies such as the Western Area Power Administration.

<u>Retail Native Load Energy Sales</u> – The portion of load from Total Native Load Energy Sales <u>that serves TEP's</u> retail customers that is served by <u>TEP and</u> located within the TEP control area.

<u>Short Term Sales</u> – Wholesale sales <u>withfor durations of less than one year</u> made to non-Native Load customers for the purpose of optimizing the TEP system, using TEP owned or contracted generation and purchased power, less Mark to Market Accounting adjustments.

<u>Short Term Sales Revenue</u> - The revenue recorded from wholesale sales <u>with durations of less</u> than one year made to non-Native Load customers, for the purpose of optimizing the TEP

system, using TEP-owned or contracted generation and purchased power, less Mark to-Market Accounting adjustments.

<u>SO<sub>2</sub> Allowance Sales – The revenues related to the sale of SO<sub>2</sub> emission allowances, including gain on SO<sub>2</sub> allowance sales and auction proceeds net of <u>Brokerage FeesCommissions</u> paid.</u>

<u>Sulfur Credits – Credits received by TEP related to coal sulfur content that offset the cost of chemicals used to remove sulfur compounds formed during coal combustion.</u>

<u>Total Native Load Energy Sales</u> – Retail Native Load Energy Sales and Long Term Energy Sales for which TEP has a generation service obligation.

<u>True-Up Component</u> - An amount expressed as a rate per kWh charge that is updated annually on April 1 of each year and effective with the first billing cycle in April. The purpose of this charge is to provide for a true-up mechanism to reconcile any over or under-recovered amounts from the preceding PPFAC Year tracking account balances to be refunded/collected from customers in the coming year's PPFAC rate. The first True Up Component will include costs and revenues from January 1, 2009 through March 31, 2009.

<u>True-Up Component Tracking Account</u> - An account that records on a monthly basis the account balance to be collected or refunded via the True-Up Component rate as compared to the actual True-Up Component revenues, plus Applicable Interest; the balance of which at the close of the preceding PPFAC Year is, subject to periodic audit, then reflected in the next True-Up Component calculation. TEP files the balances and supporting details underlying this Account with the Commission on a monthly basis.

Wheeling Costs (FERC Account 565, Transmission of Electricity by Others) - Amounts payable to others for the transmission of TEP's electricity over transmission facilities owned by others.

Wholesale Trading Activity – Revenue recorded from realized wholesale trading profits.

## 3. PPFAC COMPONENTS

The PPFAC Rate will consist of two components designed to provide for the recovery of actual, prudently incurred fuel and purchased power costs. Those components are:

- 1. The Forward Component, which recovers or refunds differences between expected PPFAC Year (each April 1 through March 31 period shall constitute a PPFAC Year) fuel and purchased power costs and those embedded in base rates.
- 2. The True-Up Component, which tracks the differences between the PPFAC Year's actual fuel and purchased power costs and those costs recovered through the combination of base rates and the Forward Component, and which provides for their recovery during the next PPFAC Year.

Xxxx x, 2013 Page 3

The PPFAC Year begins on April 1 and ends the following March 31. The first full PPFAC Year in which the PPFAC rate shall apply will begin on April 1, 2009 and end on March 31, 2010. Succeeding PPFAC Years will begin on each April 1 thereafter.

For the period from when the Commission issued Decision No. 70628 in this case—until March 31, 2009—the Base Cost of Fuel and Purchased Power rate established in that decision will be in effect. The first True-Up will include costs and revenues from January 1, 2009 through March 31, 2009.

On or before October 31 of each year, TEP will submit a PPFAC Rate filing, which shall include an estimatea proposed calculation of the components for the following April's PPFAC rate. This filing shall be accompanied by supporting information as Staff determines to be required. TEP will updatesupplement this filing with a True Up Component filing on or before February 1 in order to replace estimated balances with actual balances, as explained below.

## A. Forward Component Description

The Forward Component is intended to refund or recover the difference between: (1) the fuel and purchased power costs embedded in base rates and (2) the forecasted fuel and purchased power costs over a PPFAC Year that begins on April 1 and ends the following March 31. TEP will submit, on or before October 31 of each year, a forecast for the upcoming PPFAC year (April 1 through March 31) of its fuel and purchase power costs. It will also submit a forecast of kWh sales for the same PPFAC year, and divide the forecasted costs by the forecasted sales to produce the cents per kWh unit rate required to collect those costs over those sales. The result of subtracting the Base Cost of Fuel and Purchased Power from this unit rate shall be the Forward Component.

## Credits to the PPFAC

The following will be credited to the PPFAC:

- 1. All revenues from Short Term Sales: will be credited against fuel and purchased power costs.
- 2. Ten percent of the net positive margins realized by TEP during the PPFAC year on its Wholesale Trading Activities;
- 3. will be credited against fuel and purchased power costs. One hundred (100%)Fifty percent of the margins realized by TEP on SO<sub>2</sub> Allowance Sales (net of brokerage fees);
- 4. will be credited against fuel and purchased power costs. All Sulfur Credits received by TEP; and
- 1.5.The sale of renewable energy credits that do not flow through the Renewable Energy Standard Tariff.

TEP shall maintain and report monthly the balances in a Forward Component Tracking Account, which will record TEP's over/under-recovery of its actual costs of fuel and purchased power as compared to the actual Base Cost of Fuel and Purchased Power revenue and Forward Component

Xxxx x, 2013 Page 4

revenue. This Account will operate on a PPFAC Year basis (i.e. April 1 to the following March 31), and its balances will be used to administer this PPFAC's True-Up Component, which is described immediately below.

## B. True-Up Component Description

The True-Up Component in any current PPFAC Year is intended to refund or recover the balance accumulated in the Forward Component Tracking Account (described above) during the previous PPFAC year. Also, any remaining balance from the True-Up Component Tracking Account as of March 31 would roll over into the True-Up Component for the coming PPFAC year starting April 1. The sum of projected Forward Component Tracking Account and True-Up Component Tracking Account balances on March 31 is divided by the forecasted PPFAC year kWh sales to determine the True-Up Component for the coming PPFAC year.

TEP shall maintain and report monthly the balances in a True-Up Component Tracking Account, which will reflect monthly collections or refunds under the True-Up Component and the amounts approved for use in calculating the True-Up Component.

Each annual TEP filing on October 31 will include an accumulation of Forward Component Tracking Account balances and True-Up Component Tracking Account balances for the preceding April through September and an estimate of the balances for October through March (the remaining six months of the current PPFAC Year). The TEP filing shall use these balances to calculate a preliminary True-Up Component for the coming PPFAC Year. On or before February 1, TEP will-submit a supplemental filing that recalculates the True-Up Component update the October filing. This update recalculation shall replace estimated monthly balances with those actual monthly balances that have become available since the October 31 filing.

The October 31 filing's use of estimated balances for October through March (with supporting workpapers) is required to allow the PPFAC review process to begin in a way that will support its completion and a Commission decision before April 1. The February 1 updating will allow for the use of the most current balance information available before the PPFAC rate would go into effect. In addition to the February 1 update filing, TEP monthly filings (for the months of September through December) of Forward Component Tracking Account balance information and True-Up Component Tracking Account balance information will include a recalculation (replacing estimated balances with actual balances as they become known) of the projected True-Up Component unit rate required for the next PPFAC Year.

The True-Up Component Tracking Account will measure the changes each month in the True-Up Component balance used to establish the current True-Up Component as a result of collections under the True-Up Component in effect. It will subtract each month's True-Up Component collections from the True-Up Component balance. The True-Up Component Account will also include Applicable Interest on any balances. TEP shall file the amounts and supporting calculations and workpapers for this account each month.

## 4. CALCULATION OF THE PPFAC RATE

The PPFAC rate is the sum of the two components: i.e.,the Forward Component and the True-Up Component. The PPFAC rate shall be applied to customer bills. Upon Commission approval, Tthe proposed PPFAC rate (as amended by the updated February 1 filing) shall go into effect on April 1. The PPFAC rate shall be applicable to TEP's retail electric rate schedules (except those specifically exempted) and is adjusted annually. The PPFAC Rate shall be applied to the customer's bill as a monthly kilowatt-hour ("kWh") charge that is the same for all customer classes.

The PPFAC rate shall be reset on April 1 of each year, and shall be effective with the first April billing cycle only after approved by the Commission. It is not prorated. The first True-Up Component will include costs and revenues from January 1, 2009 through March 31, 2009.

## 5. CALCULATION OF THE FIXED CTC TRUE-UP REVENUE CREDIT

In addition to the True-Up Component as described in the preceding paragraph, Commission No. 70628 requires that all Fixed CTC True-Up Revenues be credited in their entirety to the ratepayers by means of a credit to the PPFAC.

The Fixed CTC Revenues shall be credited against PPFAC eligible costs in a manner that keeps the PPFAC rate at zero until the Fixed CTC True UP Revenues are fully credited. Once the annual PPFAC Rate has been calculated in accordance with Section 4 of this Plan of Administration, the Fixed CTC Revenue Credit shall be equal and opposite of the PPFAC Rate until the Fixed CTC Revenues have been fully credited back to the ratepayers.

A Tracking Account shall be used to track the Fixed CTC Revenue Credit until the account balance reaches zero.

### 56. FILING AND PROCEDURAL DEADLINES

### A. October 31 Filing

TEP shall file the PPFAC rate with all Component calculations for the PPFAC year beginning on the next April 1, including all supporting data, with the Commission on or before October 31 of each year. That calculation shall use a forecast of kWh sales and of fuel and purchased power costs for the coming PPFAC year, with all inputs and assumptions being the most current available for the Forward Component. The filing will also include the True-Up Component calculation for the year beginning on the next April 1, with all supporting data. That calculation will use the same forecast of sales used for the Forward Component calculation.

### B. February 1 Filing

TEP will update the October 31 filing by February 1. This update will replace estimated Forward Component Tracking Account balances, and the True-Up Component Tracking

Xxxx x, 2013 Page 6

Account balances, with actual balances and with more current estimates for those months (January, February and March) for which actual data are not available. The new PPFAC rate will go into effect on April 1 upon Commission approval.

## C. Additional Filings

TEP will also file with the Commission any additional information that the Staff determines it requires to verify the component calculations, account balances, and any other matter pertinent to the PPFAC.

## **D. Review Process**

The Commission Staff and interested parties will have an opportunity to review the October 31 and February 1 forecast, balances, and supporting data on which the calculations of the two PPFAC components have been based. Any objections to the October 31 calculations must be filed within 45 days of the TEP filing. Any objections to the February 1 calculations must be filed within 15 days of the TEP filing.

## 67. VERIFICATION AND AUDIT

The amounts charged through the PPFAC will be subject to periodic audit to assure their completeness and accuracy and to assure that all fuel and purchased power costs were incurred reasonably and prudently. The Commission may, after notice and opportunity for hearing, make such adjustments to existing balances or to already recovered amounts as it finds necessary to correct any accounting or calculation errors or to address any costs found to be unreasonable or imprudent. Such adjustments, with appropriate interest, shall be recovered or refunded in the True-Up Component for the following year (i.e. starting the next April 1).

TEP agrees to pay the cost of biennial audits of its PPFAC by an outside auditor retained by the Commission.

## 78. SCHEDULES

Samples of the following schedules are attached to this Plan of Administration:

Schedule 1	PPFAC Rate Calculation
Schedule 2	PPFAC Forward Component Rate Calculation
Schedule 3	PPFAC Forward Component Tracking Account
Schedule 4	PPFAC True-Up Component Rate Calculation
Schedule 5	PPFAC True-Up Component Tracking Account

## 89. COMPLIANCE REPORTS

TEP shall provide monthly reports to Staff's Compliance Section and to the Residential Utility Consumer Office detailing all calculations related to the PPFAC. A TEP Officer shall certify under oath that all information provided in the reports itemized below is true and accurate to the best of his or her information and belief and that there have been no changes to the Allowable Costs recovered through the PPFAC without Commission approval. These monthly reports shall be due within 4530 days of the end of the reporting period.

The publicly available reports will include at a minimum:

- 1. The PPFAC Rate Calculation (Schedule 1); Forward Component and True-Up Component Calculations (Schedules 2 and 4); Annual Forward Component and, True-Up Component Tracking Account Balances (Schedules 3 and 5). Additional information will provide other relative inputs and outputs such as:
  - a. Total power and fuel costs.
  - b. Customer sales in both MWh and thousands of dollars by customer class.
  - c. Number of customers by customer class.
  - d. A detailed listing of all items excluded from the PPFAC calculations.
  - e. A detailed listing of any adjustments to the adjustor reports.
  - f. Total short term sales revenues.
  - g. System losses in MWh.
  - h. Monthly maximum retail demand in MW.
  - i. SO<sub>2</sub> allowance sales.
- 2. Identification of a contact person and phone number from TEP for questions.

TEP shall also provide to Commission Staff monthly reports containing the information listed below. These reports shall be due within  $\underline{4530}$  days of the end of the reporting period. All of these additional reports must be provided confidentially.

- A. Information for each generating unit will include the following items:
  - 1. Net generation, in MWh per month, and 12 months cumulatively.
  - 2. Average heat rate, both monthly and 12-month average.
  - 3. Equivalent forced-outage rate, both monthly and 12-month average.
  - 4. Outage information for each month including, but not limited to, event type, start date and time, end date and time, and a description.
  - 5. Total fuel costs per month.
  - 6. The fuel cost per kWh per month.
- B. Information on power purchases will include the following items per seller (information on economy interchange purchases may be aggregated):
  - 1. The quantity purchased in MWh.
  - 2. The demand purchased in MW to the extent specified in the contract.
  - 3. The total cost for demand to the extent specified in the contract.
  - 4. The total cost of energy.

- C. Fuel purchase information shall include the following items:
  - 1. Natural gas interstate pipeline costs, itemized by pipeline and by individual cost components, such as reservation charge, usage, surcharges and fuel.
  - 2. Natural gas commodity costs, categorized by short-term purchases (one month or less) and longer term purchases, including price per therm, total cost, supply basin, and volume by contract.

## D. TEP will also provide:

- 1. Monthly projections for the next 12-month period showing estimated (Over)/undercollected amounts.
- 2. A summary of unplanned outage costs by resource type.
- 3. The data necessary to arrive at the Native Load Energy Sales MWh reflected in the non-confidential filing.
- 4. The data necessary to arrive at the Total Fuel and Purchase Power cost reflected in the non-confidential filing (Section 8.1.a).

In addition, TEP will prepare certain schedules and documents that will provide the necessary transparency of TEP's fuel and purchased power procurement activities such that the prudence of these activities can be determined and compliance with company procurement protocols can be confirmed.

Workpapers and other documents that contain proprietary or confidential information will be provided to the Commission Staff under an appropriate protective agreement. TEP will keep fuel and purchased power invoices and contracts available for Commission review. The Commission has the right to review the prudence of fuel and power purchases and any calculations associated with the PPFAC at any time. Any costs flowed through the PPFAC are subject to refund, if those costs are found to be imprudently incurred.

## 940. ALLOWABLE COSTS

## A. Accounts

The allowable PPFAC costs include fuel and purchased power costs incurred to provide service to retail customers. Additionally, the prudent direct costs of contracts used for hedging system fuel and purchased power will be recovered under the PPFAC. The allowable cost components include the following Federal Energy Regulatory Commission ("FERC") accounts:

- 501 Fuel (Steam)
- 547 Fuel (Other Production)
- 555 Purchased Power
- 565 Wheeling (Transmission of Electricity by Others)

These accounts are subject to change if the Federal Energy Regulatory Commission alters its accounting requirements or definitions.

Xxxx x, 2013 Page 9

## B. Other Allowable Costs/Credits

- Brokerage Fees recorded in FERC Account 557
- Lime costs recorded in FERC Account 502
- Sulfur credits recorded in FERC Account 501 or 502 (whichever FERC requires)

These accounts are subject to change if the Federal Energy Regulatory Commission alters its accounting requirements or definitions.

No other costs or credits are allowed without ne without pre approval from the Commission in an Order.

# Tucson Electric Power Company Purchased Power and Fuel Adjustment Clause Monthly Information Filing Proposed 20xx & 20xx PPFAC Rate Filing

Schedule 1 Projected Rate Calculation effective April 1, 20xx

Projected PPFAC Forward Component Rate Calculation Effective April 1, 20xx Schedule 2

Schedule 3 Projected Forward Component Tracking Account Balance

Projected PPFAC True-Up Component Rate Calculation Effective April 1, 20xx

Projected True-Up Component Tracking Account Balance

Schedule 5

Schedule 4

**Lime Cost Support** 

Sulfur Credit Support

**Brokerage Cost Support** 

Forecast

**Tucson Electric Power Contact Information** 

Toby Voge (520) 745-3332 Senior Director, Tucson Electric Power

## TUCSON ELECTRIC POWER COMPANY Schedule 1

# Purchased Power and Fuel Adjustment Clause (PPFAC) Rate Calculation (\$/kWh)

Decrease)						
Increase / (Decrease) \$.000000/kWh						
Proposed 4/1/20xx				8		
Current 4/1/20xx				-		
Line No. PPFAC Rate Calculation	Forward Component Rate (Sch. 2, L12) <sup>1</sup>	True-Up Component Rate (Sch. 4, L5) <sup>2</sup>	PPFAC Rate April 1, 20xx (L1+L2)	Average Base Rate April 1, 20xx <sup>3</sup>	Average Total Rate April 1, 20xx (L3+L4)	
Line No.	-	2	3	4	5	

## Notes:

- <sup>1</sup> TEP PPFAC effective April 1, 20xx, and proposed 20xx rate
- $^{\rm 2}$  A Historical Component is a true-up related to respective prior period PPFAC activity.
  - <sup>3</sup> Average Base Rate as defined in Decision No.XXXXX

# TUCSON ELECTRIC POWER COMPANY Schedule 2

# PPFAC Forward Component Rate Calculation Effective April 1, 20xx

_
Ξ
⋛
<b>₩</b>
₹
6
Ξ.
9
ਛ
Ž
4
ä
2
5
፭
Ħ
5
บั
$\overline{}$
ard
var
Ε,
Forv
£

Increase / (Decrease)  \$ Values %					
Proposed 4/1/20xx				is.	
Current 4/1/20xx					
PPFAC Forward Component Rate - Calculation Projected PPFAC Fuel and Purchased Power Costs 1 Projected Short Term Sales Revenue Credit <sup>2</sup> Projected Wholesale Trading Activities Credit 3 Projected WO Allowance Sales Credit <sup>4</sup>	Net Fuel and Purchased Power Cost (L1+ L2+L3 +L4) Projected Native Load Energy Sales (kWhs)	Projected Average Net Fuel Costs \$/kWh (L5/L6)  Base Cost of Fuel and Purchased Power \$/kWh	Difference between Projected Cost & Base Cost (L7-L8) Forward Component Costs (L6*L9)	Projected Energy Sales (kWh)	Forward Component Rate \$/kWh (L10/L11)
Line No. 2 2 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	9 2	<i>L</i> 8	9 10	11	12

## Notes.

- Includes Sulfur Credits, Lime Costs, and Brokerage Costs per Commission Decision No. xxxxx
- $^2$  Short Term Sales revenues are credited at 100% as approved by the Commission in Decision No. 70628.
- <sup>3</sup> 10% of Wholesale Trading Activities credited against Fuel and Purchased Power Costs as approved by the Commission in Decision No. 70628.
  - <sup>4</sup> 100% of SO2 Allowance Sales credited against Fuel and Purchased Power Costs per Commission Decision No. xxxxx

## Schedule 5

True-Up Component Tracking Account - Prior PPFAC True-Up Component Rate in Effect April 1, 20xx through Mar 31, 20xx (\$ in thousands; rate in \$/kWh)

<del>2</del>	(S in thousands; rate in S/kw n)										
Line		Actual data								Forecasted data	
No.	ı	Apr-12	May-12	Jun-12	Jul-12	Aug-12	Sep-12	Oct-12	Nov-12	Dec-12	Jan-13
la	1a TU Beginning Balance as of Apr. 1, 2009 1 and thereafter										
1P	FC Tracking Account Balance as of March 31, 20xx										
2	Revenue True-Up from January-March Estimate 2										
ю	${ m TU}$ Adjusted Beginning Balance (L1 + L2)										
4	Applicable True Up Component Rate (\$/kWth)										
S	Retail Billed Sales Less Low-Income Sales (MWhs) <sup>3</sup>										
9	Less Revenue from Application TU (L4 x L5) $^4$										
7	Monthly Interest (Line 3 * Int Rate/12) 5										

8 TU Ending Balance; (L3 - L6 + L7)

<sup>1</sup> Beginning Balance as of April 1, 20xx - carried forward April 1, 20xx PPFAC Filing.

<sup>2</sup> True-up is the result of using estimated revenue for January through March since the actual amount was not available at the time of prior period PPFAC filing

3 Sales amounts are for energy billed beginning with the first billing cycle of April 20xx. Retail Billed Sales excludes low income customers not subject to the PPFAC Rate.

 $^4$  Generally, Line 4 x Line 5 = Line 6; however, differences may occur due to billing adjustments.

<sup>5</sup> Based on one-year Nominal Treasury Constant Maturities rate contained in the Federal Reserve

0.00%

As of 1/3/2012

Statistical Release, H-15 on the first business day of the calendar year.

Schedule presentation will appear to rounding S's and MWns; however calculations are performed on an actual S and MWh basis with resultant Rates KWh rounding to SO,000000 KWh

Lime Costs

el Imbalance Tracking Account - PPFAC Rate in effect Month/Day/Year

(\$ in thousands; Rates in \$/kWh)

Nov-13

Oct-13

Sep-13

Jul-13

Jun-13

May-13

Apr-13

Forecasted Cost
Forecasted Generation
Expected \$/MWh Forecasted \$/Ton Forecasted Tons

Actual Generation Actual \$/MWh Actual Costs Actual Tons

## Sulfur Credit

iel Imbalance Tracking Account - PPFAC Rate in effect Month/Day/Year (\$ in thousands; Rates in \$/kWh)

Dec-13

Nov-13

Oct-13

Sep-13

Aug-13

Jul-13

Jun-13

May-13

Apr-13

Forecasted Tons/mmbtu
Forecasted \$/Ton
Forecasted Cost
Forecasted Generation
Expected \$/MWh

**Brokerage Costs** 

Fuel Imbalance Tracking Account - PPFAC Rate in effect Month/Day/Year

(\$ in thousands; Rates in \$/kWh)

Sep-13	
Aug-13	
Jul-13	
Jun-13	
May-13	
Apr-13	

Costs

Fig. CAPRISE Puridase Pover Expense	
holaties Promer	
Ranewahle Delta	
Firm Plutake rever Charact Charges	
I marking the first that the first t	
Moleale	
Affect and the field their with with the course with the party with the party with the course	
Fig. 10 And Villa, by the first of the control of t	
Firm Whoresele Load	
	1 A Care Land
101.00 01.100 01.100 01.100 01.100 01.100 01.100 01.100 01.100 01.100 01.100 01.100 01.100 01.100 01.100 01.100	
Parial Seles	
Sylem Siles Sylem Siles	
The construction of the control of t	10.00
J. Hull Treese	
and the contract of the contra	TI TELE
Fruit Jan Wheelest Sales	
1-jeal System Gross	
	The Part of Street
alibradicidada da contras de cont	TO CHE WAS
('yietgi Ralio	
Section Shifted	沿岸岛
	Carlo Landa La
Limitary Character February Fe	
Included Automotive Committee Commit	
Lumenisation of Effective y On Other - FERC 565	
i ⊰n PFF/F/F griph Costs Ministed to Retail	
I see Vulnishe a Safe Revenue	
G'Regulatory CourseliShared/2012 TEP RATE CASE/Settlement Agreement Adreement & Attachments/Attachments to Settlement Agreement(FPFAC FOA & Attachments) TEP FOA & Attachments of Schedules Jan 31	

LEGISTRESISSING TOWN TO THE CONTROL OF THE CONTROL OF THE TOWN TO THE TOWN THE TOWN THE TOWN THE TOWN TOWN THE TOWN THE

15P MONTHLY PPFAC REPORT

FowerSimm Planner Accend Analytics

Monthly

## ATTACHMENT "D"

## Tucson Electric Power Company Energy Efficiency Resource Plan Plan of Administration

## **Table of Contents**

1.	General Description	Î
2.	Definitions	Ì
3.	Annual Energy Efficiency (EE) Investment	3
4.	Cost-effectiveness	
5.	Annual Implementation Plans	
	•	
	Revenue Requirement4. Program Investment Base	4
	B. Carrying Costs	
	C. Annual Recovery of Program Investment Base	
7.		5
	4. Rate Schedule Applicability	
	B. Allowable Costs	
	C. Determination of True-up	5
	D. Determination of the Surcharge	5
8.	DSM/EE Reports	

## **Exhibits**

Exhibit 1 – Example Revenue Requirements

Exhibit 2 – DSMS Backup for 2013

Exhibit 3 – Self–Direction Option

Exhibit 4 – Proposed DSMS Tariff

Exhibit 5 – Example Schedule First Four Year Funding Cycle Revenue Requirement

## 1. General Description

This document describes the Plan of Administration ("POA") for the Energy Efficiency Resource Plan ("EERP") approved for Tucson Electric Power Co. ("TEP" or "Company") by the Arizona Corporation Commission ("Commission") on XXXX, 2013 in Decision No. XXXX ("Decision"). The EERP mechanism provides for the recovery of allowable costs related to Demand Side Management/Energy Efficiency Programs ("DSM/EE") as a capital investment, setting recovery of the asset over a five-year term where TEP recovers the revenue requirements from carrying costs and regulatory asset amortization in cost-effective DSM/EE programs through the Demand Side Management Surcharge ("DSMS"), as described within this POA.

### 2. Definitions

<u>Amortize</u> – The process of ratably distributing a previously capitalized cost to expense over a designated period.

<u>Avoided Cost</u> – The avoided cost is the marginal cost to produce one more unit of energy. The avoided cost consist of two components: avoided cost of energy and avoided cost of capacity.

TEP's avoided cost of energy or marginal energy cost is determined using the Resource Planning Hourly Economic Dispatch Model.

TEP's avoided cost of capacity is determined through TEP's long-term planning modeling of capacity. The plan for meeting capacity needs is determined on both economics and reliability. Future capacity costs include market purchase power capacity, transmission upgrades and capacity build options.

<u>Carrying Costs</u> – Costs recovered through the DSMS charge include a return on EERP Program Investment Base<sup>1</sup> based on TEP's Weighted Average Cost of Capital ("WACC") approved by the Commission in Decision No. XXXXX.

<u>Combined Heat and Power ("CHP")</u> – Combined heat and power, which is using a primary energy source to simultaneously produce electrical energy and useful process heat.

<u>Cost-Effective</u> – The result of an action or series of actions where the total incremental benefits from a DSM/EE measure or DSM/EE program exceed total incremental costs over the life of the DSM/EE measure.

<u>Demand Savings</u> – The load reduction, measured in kW, occurring during a relevant peak period or periods as a direct result of energy efficiency and demand response programs.

<u>Demand Response ("DR")</u> – Modification of customer's electricity consumption patterns, affecting the timing or quantity of customer demand and usage, achieved through intentional actions taken by an affected utility or customer because of changes in prices, market conditions, or threats to system reliability.

Xx,xx 2013 Page 1

<sup>&</sup>lt;sup>1</sup> Program Investment Base as delineated in Section 6.A.

<u>Demand Side Management ("DSM")</u> – Reduction of electricity use through the implementation and maintenance of Company-sponsored measures, programs or plans.

<u>DSM Measure</u> – Any material, device, technology, educational program, pricing option, practice, or facility alteration designed to result in reduced peak demand, increased energy efficiency, or shifting of electricity consumption to off-peak periods and includes CHP used to displace space heating, water heating, or another load.

<u>DSM Program</u> – One or more DSM measures provided as part of a single offering to customers.

<u>Demand Side Management Surcharge ("DSMS")</u> – A Commission-approved provision in TEP's rate schedule allowing TEP to change certain rates through a surcharge, in an established manner, when changes in specific costs and charges are incurred by TEP.

<u>Energy Efficiency ("EE")</u> – The production or delivery of an equivalent level and quality of enduse electric service using less energy, or the conservation of energy by end-use customers.

<u>Energy Efficiency Programs</u> – Any program that is specifically designed to reduce energy use and/or provide some non-coincident and coincident peak demand savings.

<u>Energy Savings</u> – The reduction in a customer's energy consumption directly resulting from a DSM/EE program, expressed in kWh, at the generator.

<u>Energy Efficiency Standard</u> – The Arizona Electric Energy Efficiency Standards, Title 14, Chapter 2, Article 24 of the Arizona Administrative Code.

<u>Incentives</u> – Financial payments, goods, or services offered by a utility to promote energy and related cost savings including, but not limited to, cash rebates or financial payments, advanced financing of project costs, design and implementation of utility related projects, energy management services, facilities alterations, installation of technologies and energy savings devices, or water conservation devices.

Incremental Cost – Additional expenses of DSM/EE measures, relative to baseline.

Measurement, Evaluation, and Research ("MER") – The performance of studies and activities aimed at determining the effects of an energy efficiency program, which may include data collection, monitoring, and analysis associated with the calculation of energy and demand savings from measures or projects, and including research necessary to inform the evaluation of existing EE programs and the design of new EE programs.

Non-Energy Benefits – Non-energy benefits (or non-market benefits) are the improvements in societal welfare that are not bought or sold. These benefits are any program implementation or participation effect that is other than the direct energy savings effects associated with an energy efficiency, resource acquisition, or resource procurement program. Some examples may include: reduced water consumption, reduced emission and environmental benefits in a building, secondary economic impacts from low income programs, health and safety, job creation, improved comfort, indoor air quality, longevity of equipment, improved worker productivity, and worker retention.

<u>Program Costs</u> – The expenses incurred as a result of developing, marketing, implementing, administering, and evaluating Commission-approved DSM/EE programs.

Xx,xx 2013 Page 2

Regulatory Asset – A capitalized cost that would otherwise be accounted for as an expense, but for its inclusion in a Commission approved cost recovery mechanism providing for such costs to be deferred and then transferred to expense and recovered through basic service rates or a specific surcharge in effect for a designated period.

<u>Societal Test</u> – A cost-effectiveness test of the net benefits of DSM/EE programs that starts with the Total Resource Cost Test, but includes non-energy benefits and costs to society.

<u>Total Resource Cost Test</u> – A cost-effectiveness test that measures the net benefits of a DSM/EE program as a resource, including incremental measure costs, incremental affected utility costs, and carrying costs as a component of avoided capacity cost, but excluding incentives paid by affected utilities and non-market benefits to society.

## 3. Annual Energy Efficiency (EE) Investment

Program investments will be the sum of actual costs for all DSM/EE programs, plus allowable costs outlined in section 7. Actual costs incurred, after program savings have been verified through the MER process, will be deemed to be allowable investments for recovery.

### 4. Cost-effectiveness

TEP will invest in existing DSM/EE programs and measures that have been previously approved by the Commission and implemented by TEP. In addition, TEP will invest in and implement new EE measures and programs only once it is shown that they produce a benefit/cost ratio greater than one, resulting from using the Societal Test.

A new EE measure or program that passes the Societal Test as defined herein will be filed for Commission approval in an annual EE Implementation Plan.

## 5. Annual Implementation Plans

TEP will file annual Implementation Plans by June 1 of each year. The Implementation Plan approved by the Commission shall remain in effect until further order of the Commission. The Company will propose (at a minimum) in their annual Implementation Plans:

- New programs and measures, if any
- Societal test results and models
- Proposed Budgets
- Annual savings
- Cost per kWh (based on lifetime savings)
- Targets for annual savings and costs per kWh

## 6. Revenue Requirement

The following discussion provides inputs and methodologies for each of the terms in the capitalization model. The revenue requirement will be determined by applying a 5-year amortization schedule to actual DSM/EE Costs for the previous calendar year. Exhibit 1

provides an example of what the revenue requirement worksheets would look like over the next four years. Investment dollars are for illustration purposes only.

## A. Program Investment Base

Program Investment Base will be equivalent to the actual DSM/EE spending after providing documentation through the MER reports. For purposes of computing the amortization expense and the return components of the program revenue requirement that will underlie the DSMS, a program investment base will be comprised of a regulatory asset for which the actual program spending will be accumulated. Upon implementation of a specific program, all actual program costs will be charged to the regulatory asset. Deducted from the regulatory asset will be the accumulated amortizations based on recovery of all actual expenses at a rate of 20% for each of the five years. In addition, the net program investment base will be reduced by Accumulated Deferred Income Taxes reflecting the book-tax timing difference created by all program expenditures being currently deducted for tax, but deferred and amortized over five years for accounting purposes. Based on the previous year's actual DSM/EE spending, the revenue requirement will be calculated as the sum of the average of the beginning and end of year net investment balances, multiplied by the allowed rate of return, plus the regulatory asset amortization.

Should the EE Resource Plan be discontinued at a future date, TEP will be permitted to recover the balance remaining in the regulatory asset through continued use of the DSMS in existence at the time and until such time that the entire balance is collected. In connection with the discontinued EE Resource Plan, TEP would provide final documentation reconciling all differences between program budgets and actual costs incurred producing any unrecovered balance remaining in the regulatory assets at the end of the last funding cycle.

## B. Carrying Costs

TEP's return on the EE Resource Plan investments will be based on TEP's WACC as approved by the Commission in Decision No. XXXXX (DATE). TEP's investment in EE/DSM will accrue Carrying Costs from the date expenditures are incurred.

## C. Annual Recovery of Program Investment Base

TEP will recover the allowable costs associated with the EERP if actual results of the EE/DSM investments achieve a minimum annual portfolio level savings (kWh) and do not exceed the maximum portfolio level cost (\$ per kWh) (based on lifetime savings) set annually in implementation plans as approved by the Commission.

For the purposes of this calculation Demand Response or Direct Load Control Programs will be set at the level of saving credit specified in A.C.C. R-14-2-2404. C. (Peak reduction capability will be converted to an annual energy saving equivalent based on an assumed 50% annual load factor and not to exceed 10% of the energy efficiency standard).

## 7. Demand Side Management Surcharge

## A. Rate Schedule Applicability

The DSMS shall be applied monthly to every rate schedule unless exempted by order of the Commission. A DSMS schedule is included in Exhibit 2 and shall be updated with Commission Order.

A self-direction option exists for qualifying customers of sufficient size in which the amount of money paid by each qualifying customer toward DSM costs is tracked for the customer and made available for use by the customer for approved DSM investments. Details on the self-direction option are included in Exhibit 3.

## B. Allowable Costs

Allowable Costs include: program implementation; rebates and incentives; training and technical assistance; consumer education; marketing; planning and administration; measurement, evaluation and research; new program development and analysis; any software development required for tracking and reporting of EE and DR programs; and any other expenses required to design and implement cost-effective EE and DR programs. All program costs will be charged to the appropriate regulatory asset after spending occurs and savings are verified through MER activities as previously described. As such amounts are amortized, they will be charged to FERC Account 908, Customer Assistance Expense or other appropriate accounts as required by the FERC Uniform System of Accounts. Amortization expense and revenues will be recorded monthly based on each month's retail sales volumes.

## C. Determination of True-up

As delineated in Exhibit 2, the DSMS that will take effect upon the effective date of Decision No. XXXXX (DATE) will be set to include all historical unrecovered DSM expenses incurred by TEP up to the time of the effective date of this Order, which is estimated to be \$4 million and will be recovered over a 12 month period. Any amount over or under collected by TEP's voluntary March 1, 2013 resumption of projects, shall be included as determined under this Plan in the March 1, 2014 DSMS reset.

On March 1 of each year following the effective date of this order, TEP will file a DSMS reset request that will include the revenue requirements based upon all allowable investments from the previous program year(s). The new DSMS will be effective June 1 of each year, upon Commission approval.

## D. Determination of the Surcharge

The revenue requirements (under this Plan) determined by the sum of Carrying Costs and regulatory asset amortization for each program year will be divided by the forecasted energy sales for the recovery time period to determine the \$/kWh DSMS for residential customers and a percentage of bill for non-residential customers. Exhibit 5 shows an example schedule for

Xx.xx 2013 Page 5

determining the total annual revenue requirements used for calculating the DSMS for the first four years of funding.

On March 1, 2014, TEP will file a DSMS reset request for purposes of recovering investments under the EERP from March 1, 2013 through December 31, 2013. The DSMS will be calculated based upon the following formula:

$$DSMS = \frac{RR1}{Sales}$$

Where:

RR1

First year of 2013 revenue requirement is equal to expenses from March 1, 2013 above historical spending levels through the effective date of this order in excess of the estimated \$4 million under recovery from prior periods.

Sales = Forecasted energy (kWh) sales under applicable rate schedules

during the period in which the DSMS will be effective.

On March 1, 2015, TEP will file a DSMS reset request for purposes of recovering investments under the EERP for the 2014 program year (January 1, 2014- December 31, 2014). The DSMS will be calculated based upon the following formula:

DSMS = 
$$\frac{RR2}{Sales}$$

Where:

RR2 = First year of 2014 revenue requirement plus the second year of 2013 revenue requirement.

Forecasted energy (kWh) sales under applicable rate schedules (as Sales = defined above) during the period in which the DSMS will be effective.

All subsequent March 1st filings for a DSMS reset will follow the procedure outlined above.

The proposed DSMS Tariff is provided in Exhibit 4.

## 8. DSM/EE Reports

In accordance with A.A.C. R14-2-2409, the Company will provide a previous year progress report to the Commission by March 1<sup>st</sup> and a current mid-year status report by September 1<sup>st</sup> of each year.

EERP POA -Exhibit 1 - Example Revenue Requirements

	,				Vapuantau	Capitalization of EE IIIVesullents	2112			T
Year 2013 (Mar 13 - Dec 13)	\$ 14,544,577 5	<b>1</b>		ō <	Original Cost Asset Life					
	39.6%	%			Income Tax Rate					
	7.74%	%		Š	Nominal Return					
	10.98%	%		Pe	Pre-tax Return					
	6.64%	%		Affe	After-tax Return					
				Sapi	Capital Structure:					
	54.00%	<u>ا</u> «			Debt					
	46.00%	%			Equity					
				Sho	Short-Term Debt	1 3		. •		
				Š	Cost of Capital:					
	5.18%				Debt					
	10.75%	: <b>%</b>			Equity					
				Sho	Short-Term Debt					
			2014		2015	2016	2017	2018	2019	
	0		-		2	3	4	5	9	
A Second		<del>G</del>	2 908 915	€	2.908.915 \$	2.908.915 \$	2.908,915	\$ 2,908,915	<del>69</del>	1.
Regulatory Asset Amonization	· ·	•	14,544,577						€9-	ı
lax depreciation  Net book basis (end of vear)	· • •	↔	11,635,662		8,726,746 \$	5,817,831 \$	2,908,915	· &	\$	,
Tax basis (end of year)	· <del>69</del>	69				,	1	<b>\$</b>	₩	1
ADIT (and of year) ((hook hasis minus fax basis) fimes t	69	G	4,604,231	49	3,453,174 \$	2,302,116 \$	1,151,058	s	₩	·
ADIT (SIN OF ) (BOOK SASTO TIMES SA	л		000			l				
Long-term debt balance (end of year)	₩	<del>69</del> 6	3,796,972	es es	2,847,729 \$	1,898,480 \$	73,756	\$ 24,585	9 <b>6</b> 9	1 1
Ti Deor Intelest		<b>→</b>					•			
Rate Base, end of year	·	65	14 544 577	69	14.544.577 \$	14.544.577 \$	14,544,577	\$ 14,544,577		14,544,577
Regulatory Asset	<b>-</b>	69	(2,908,915)	_	_		_	Ŭ	\$ (14,544,577)	4,577)
Accumulated Alliquization ADIT	*	₩	(4,604,231)				_		<b>69</b>	•
Unamortized ITC	-	49	•	- 1	- 1	- 1	- 1	· ·		
Rate Base, end of year	\$	\$	7,031,430	8	5,273,573 \$	3,515,715 \$	1,757,858	÷	so.	
Revenue Requirement										
Carrying Costs	\$	€9	931,769		675,558 \$			\$ 96,508	<b>↔</b>	
Regulatory Asset Amortization	<del>ا</del>	₩	2,908,915	8	- 1	2,908,915 \$	- 1		ss.	
Gross Revenue Requirement		₩.	3,840,685		3,584,474 \$	3,391,457 \$	3,198,440	\$ 3,005,424	s	·

EERP POA -Exhibit 1 - Example Revenue Requirements

					i								
Year 2014	\$ 24,739,192 5	19,192 5			Orig	Original Cost Asset Life							
		39.6%			Incom	Income Tax Rate							
		7.74% 10.98%			Nomi Pre-t	Nominal Return Pre-tax Return							
	<del> </del>	6.64%			Alitei -	Alterak netum							
	4,7	54.00%			Capille	Debt Faulty							
		9.00.00 10.00			Short	Short-Term Debt							
					Cost	Cost of Capital:							
		5.18%				Debt							
	-	10.75%			Short	Equity Short-Term Debt							
			20	2014		2015		2016		2017	7	2018	2019
	0					2	$  \  $	3		4		5	9
Downston Accet Americation			<del>8</del> .	4,947,838	69	4,947,838	€9	4,947,838	↔	4,947,838	٠ م	4,947,838 \$	•
Regulatory Asset Arrivoluzation Tax depreciation	€9	,	7	24,739,192			₩.	ı	€9-		<del>\$</del>	<del>69</del> €	•
Net book basis (end of year)	<b>⊕</b> €		& e	19,791,354	<del>-</del> •∍ •	14,843,515	<del>69</del> 6	9,895,677	<del>65</del> 6	4,947,838	se e	¥9 € <sup>4</sup>	
Tax basis (end of year)	<del>.,</del>				Ð	ı	9		<del>.</del>	'	9-	•	
ADIT (end of year) ((book basis minus tax basis) times t	t &		\$ 7,	7,831,439	69	5,873,579	€9	3,915,719	မာ	1,957,860	€	<del>У</del>	
l ond-term debt balance (end of vear)	. ↔	,	છ ક	6,458,354	€9	4,843,766	€9	3,229,177	€9	1,614,589	€9	<del>\$</del>	1
LT Debt Interest			€	403,743	↔	292,725	<del>⇔</del>	209,089	69	125,454	€	41,818 \$	•
Rate Base, end of year	⊌:	1	24	24.739.192	€9	24,739,192		24,739,192	€9	24,739,192	<b>\$</b>	24,739,192 \$	24,739,192
Accumulated Amortization	• .			(4,947,838)	· <del>69</del> (	_		(14,843,515)	_	_		(24,739,192) \$	(24,739,192)
ADIT	<b>⇔</b> €		<u>⊱</u> •> •:	(7,831,439)	<del></del>	(5,873,579)	es es	(3,915,719)	es es	(1,957,860)	<del>s                                    </del>	<del>y)</del>	•
Rate Base, end of year	8	  - 		11,959,915	မ	8,969,936	s	5,979,957	69	2,989,979	s	<b>↔</b>	1
Revenue Requirement				100	•		6	~ 000	6		6		
Carrying Costs	<del></del>	,	- ·	1,584,867	e e	1,149,072	e e	820, /00 4 047 838	e e			4 047 838 \$	
Regulatory Asset Amortization	P	•		6 532 705	9		- es	5.768.604	9	5.440.298	9 49	5.111.992 \$	•

EERP POA -Exhibit 1 - Example Revenue Requirements

				Capitaliz	ation	Capitalization of EE Investments	men	φ			
Year 2015	\$ 27,044,908 5	_		Original Cost Asset Life							
	39.6%		o <u>u</u>	Income Tax Rate							
	7.74% 10.98% 6.64%		, <b>2</b>	Nominal Return Pre-tax Return After-tax Return							
			ප	Capital Structure:							
	54.00% 46.00%		<u>o</u>	Debt Equity Short-Term Debt							
			0	Cost of Capital:							
	5.18%			Debt							
	10.75%		S	Short-Term Debt							
			2015	2016		2017		2018	2019		2020
	0		-	2		3		4	2		9
Regulatory Asset Amortization		€		5,408,982	↔	5,408,982	€ (	5,408,982 \$	5,408,982	82	•
Tax depreciation	↔ ⊌	<b></b>	27,044,908 \$	16.226.945	sə sə	10,817,963	e	5,408,982 \$	, ,	9 69	•
Net book basis (end of year) Tax basis (end of year)	· •	•	<b>9</b>	. '	₩	•	<b>⇔</b>	<b>69</b>		€9	•
ADIT (end of year) ((book basis minus tax basis) times	+ *	69	8,561,336 \$	6,421,002	69	4,280,668	es l	2,140,334 \$		₩.	1
Long-term debt balance (end of year) LT Debt interest	€	₩ ₩	7,060,279 \$	5,295,209	<del>\$</del> \$	3,530,139	₩ ₩	1,765,070 <b>\$</b> 137,146 <b>\$</b>	45,715	15 \$	
Rate Base, end of year	<del></del>	69	27.044,908 \$	27,044,908	€	27,044,908	€9				
Regulatory Asset Accumulated Amortization ADIT	· ·	· •• •		•		(16,226,945) (4,280,668)	<b>⇔</b> ↔	(21,635,926) \$ (2,140,334) \$	(27,044,908)	\$ (80	(27,044,908)
Unamortized ITC	\$	8	\$ 507 450 6	0 805 943	69 e	6 537 295	<u>ب</u>	3.268.648 \$		€9	
Rate Base, end of year	·	A	13,074,030		•	0000	,	1			
Revenue Requirement		€	1.732.578	1.256,167	69	897,262	€9	538,357		\$ 29	,
Carrying Costs		θ.	5,408,982 \$			5,408,982	s			82 \$	
Gross Revenue Regulrement		*	1 1	6,665,148	S	6,306,243	s l	5,947,339	5,588,434	- 1	-

EERP POA -Exhibit 1 - Example Revenue Requirements

					Canifaliza	Canifalization of EE Investments	onte			
	,						3			
Year										
2016	8	27,856,255		U	Original Cost					
		က			Asset Life	Set undi	•			
		700		1	Tow Dote		**			<del></del>
	-	39.0%		2 =	IICUIIIe Iax Rale					
		7.74%		ž	Nominal Return					
		10.98%		ā	Pre-tax Return					
		6.64%		Αŧ	After-tax Return					-
				. (						
				Ca Ca	Capital Structure:					
		54.00%			Debt					•
		46.00%		~ '	Equity					
•				ę.	Short-Term Debt					
				Ċ						
				3	Cost of Capital:					
		5.18%			Debt					***
		10.75%		Ċ	Equity	,				
				ัก	Snort-Term Debt					
			2016		2017	2018	2019	2020		2021
		0	-		2	3	4	2		9
Damilatory Assat Americation		4	5.57	5 571 251 \$	5 571 251 \$	5 571 251 \$	5 571 251	\$ 5571 251	65	
Tax depreciation	6	,		-		-	'		<del>) (1</del>	. 1
Net book basis (end of vear)	<del>•</del>	,			16,713,753 \$	11,142,502 \$	5,571,251	· 69	· <del>69</del>	•
Tax basis (end of year)	₩	· 69		<del>69</del>				•	€9	•
	•	•					444	6	•	-
ADIT (end of year) ((book basis minus tax basis) times	\$	<b>₩</b>	ŀ	8,818,1/6	6,613,632 \$	4,409,088 \$	2,204,544	٠	<b>2</b>	-
Long-term debt balance (end of year)	69	<del>ن</del>		7,272,087 \$	5,454,065 \$	3,636,044 \$	1,818,022	· •	<del>69</del>	•
LT Debt Interest		ક્ક		454,614 \$	329,607 \$	235,434 \$	141,260	\$ 47,087	<b>69</b>	'
Rate Rase end of year										
Regulatory Asset	မှ	,		27,856,255 \$	27,856,255 \$	27,856,255 \$	27,856,255	\$ 27,856,255	69	27,856,255
Accumulated Amortization		· <b>69</b>		_	_	(16,713,753) \$	(22,285,004)	_		(27,856,255)
ADIT	69	· <del>69</del>		(8,818,176) \$	(6,613,632) \$	(4,409,088) \$	(2,204,544)	•	₩	•
Unamortized ITC	8			1		<del>ده</del> ا	1	· ·		
Rate Base, end of year	\$	\$ -	Ì	13,466,828 \$	10,100,121 \$	6,733,414 \$	3,366,707	· \$	ક્ક	-
Revenue Requirement						· Ç				
Carrying Costs		€				924,180	554,508		es.	1
Regulatory Asset Amortization		<b>⇔</b> €		5,571,251 \$	5,571,251 \$	5,571,251 \$	5,571,251	\$ 5,571,251	<del>69 6</del>	
Cross Description Descriptions	1	•		7 255 806 ¢	6 86K 102 C	6 AOK A24	6 125 750	£ 756 087	•	
GIOSS Devenue Requirement		9		- 1	ı	0,130,101	0,140,100		,	

## EERP POA – Exhibit 2 – DSMS Back-up

## 2013 DSMS Collection (Starting July 1, 2013)

LINENC	<u>).</u>	(A)
1	TEP DSM Unrecovered Expenses Through July 2013	\$4,115,878
2	DSM Expenses to be recovered in adjusted surcharge	\$4,115,878
3		
4	Forecast Sales (kWh)	9,299,081,124
5	Rate per kWh for all Classes (Ln.2A/Ln.4A)	\$0.000443
6	Current DSMS	\$0.001249
7	Net Change	(\$0.000806)

#### **Self-Direction Option**

Self-Direction is an option that will be made available to large qualifying industrial customers. Self-Direction allows participating customers to reserve their DSM/EE contributions, less administrative and other program costs, for their exclusive use to help fund qualifying DSM/EE projects at their facilities. Self-Direction will be offered to the largest customers since they have the ability and resources (technical knowledge, expertise, and funding) to implement effective DSM/EE and they may desire to have the flexibility to use their DSM/EE contributions to fund their own energy efficiency projects. The following parameters define the Self Direction option:

- 1. To be eligible for Self-Direction, a customer must use a minimum of 35 million kWh per calendar year, based on an aggregation of all of the customer's TEP accounts.
- 2. Qualifying Self-Direction customers who choose to self-direct their DSM/EE funds must elect Self-Direction by notifying the Company in each year that they wish to Self-Direct. Customers who elect to Self-Direct must continue to contribute their share of DSM/EE funds through the DSMS.
- 3. After a customer notifies the Company of their intent to Self-Direct, 90% of the customer's DSMS contribution will be reserved for tracking purposes for the customer's future energy efficiency project. The remaining 10% will be retained to cover the Self-Direction program administration, management, and MER costs.
- 4. Self-Direction funds will be reserved for tracking purposes for the calendar year the Self-Direction election is received by the Company. Such election must be received on or before December 1st. There will be no retroactive Self-Direction funds set aside from prior budget years, since the Company's books were closed prior to the customer's election.
- 5. Self-Direction funds will be paid to the qualifying customer once a year in December beginning in the year that the EE project is completed and verified. If project costs exceed the credited amount in one year, then funding will continue to be paid in December of each year until the project is 100% funded or in the fourth year of funding, or until the Commission terminates this program, whichever comes sooner.
- 6. If the EE project is not completed within two (2) years of the Self-Direction election date, then the Self-Direction funds from the first calendar year from the Self-Direction election will not be available to the customer and will revert to the DSMS general account.
- 7. Qualifying customers will be required to commit all of their facilities to the Self-Direction option for the duration of the specific Self-Direction project's funding period. Customers would not be able to designate some of their accounts for Self-Direction, while allowing some of their other accounts to remain eligible for other TEP commercial EE programs. Customers choosing to Self-Direct will not be permitted to participate in any other TEP commercial EE program offerings for any of their accounts.
- 8. Aggregation would be allowed only within a given customer set of accounts, not across groups of customers. This means that groups of customers would not be able to form buying associations for the purpose of meeting the Self-Direction size criteria.

- 9. All Self-Direction projects must be considered to be a subset of the Company's Non-residential Existing Facilities Program for budgeting and energy savings purposes. The qualifying projects must be cost-effective and meet the same requirements of the Non-residential Existing Facilities Program. Self-Direction customers would apply for the same prescriptive and custom measures as defined in the Non-residential Existing Facilities program; however, annual customer incentive caps do not apply to Self-Direction funds.
  - Within two (2) years of the Self-Direction election, an energy efficiency project application must be filed. This project application will include:
  - o Name of the retail electricity customer;
  - Description of the electricity conservation project(s);
  - Project scope of work;
  - o Annual energy (kWh) and peak demand (kW) savings estimate;
  - First cost estimate;
  - Project schedule; and
  - Calculations that support or demonstrate the electricity savings and simple payback of the project.
- 10. TEP Non-residential Existing Facilities program staff will review the Self-Direction EE project and administer the Self-Direction funding and accounting. This work will include: verifying that the technologies meet the program specifications; reviewing backup documentation that supports the savings claims; and providing measurement and evaluation after the Self-Direction project is in operation. All specification documentation requirements will be identical to existing program requirements.
- 11. Upon completion of the final Self-Direction payment, the customer may elect to continue to Self-Direct by submitting another Self Direction application before December 1st. If the customer does not re-apply for Self-Direction, then they will be treated like all other Non-Residential customers and will be eligible to participate in the other commercial programs beginning January 1st of the year following their final Self-Direction payment.
- 12. All kWh energy, kW demand, and environmental savings will be reported as part of the Non-residential Existing Facilities Program savings and will be claimed as part of meeting the energy efficiency portfolio targets.



#### **Tucson Electric Power Company**

Original Sheet No.:	702	
Superseding:		

### Rider R-2 Demand Side Management Surcharge (DSMS)

#### **APPLICABILITY**

The Demand Side Management Surcharge (DSMS) applies to all Customers in the entire territory served by the Company as mandated by the Arizona Corporation Commission (ACC), unless otherwise specified.

#### RATE

The DSMS shall be applied to all monthly bills. The Rate is shown in the TEP Statement of Charges.

#### **REQUIREMENTS**

The 2013 TEP DSMS is effective XXXX, XX, 2013, and will remain in effect until further order by the ACC.

#### TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the ACC see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the ACC shall apply where not inconsistent with this Rider

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-2

Effective:

**PENDING** 

Decision No.:

EERP POA - Exhibit 5 – Example Schedule - First Four Year Funding Cycle Revenue Requirement

	Invocatmont				Revenue Requirements	uirements			
rear	HIVESUIIGHT						0700	2070	0000
2013 Budget	2013 Budget \$14,544,577	2013	2014	2015	2016	2017	2018	2013	2020
	ogniromente	\$3 840 685	\$3.584.474	\$3,391,457	\$3,198,440	\$3,005,424	\$0.00	\$0.00	\$0.00
Keveliue n	Keveriue nequilements	200,010,00				Ž.			
2014 Budget	2014 Budget \$24,739,192								
   Revenue R	Revenue Requirements	\$0.00	\$6,532,705	\$6,096,910	\$5,768,604	\$5,440,298	\$5,111,992	\$0.00	\$0.00
	677.044.000								
2015 Budget	\$27,044,900								
Revenue R	Revenue Requirements	\$0.00	\$0.00	\$7,141,560	\$6,665,148	\$6,306,243	\$5,947,339	\$5,588,434	\$0.00
0000	427 OEC 25E								
afong oloz	ZO 10 Budget   \$2,000 0102					400 00 100	101 101	\$6 40E 7EO	\$5 756 087
Revenue F	Revenue Requirements	\$0.00	\$0.00	\$0.00	\$7,355,806	\$6,865,103	\$6,485,431	\$0,120,138	100,001,00
Total	\$94.184.932 \$3.840.685	\$3.840.685	\$10,117,179	\$16,629,927	\$22,987,999	\$21,617,068	\$17,554,761	\$17,554,761 \$11,714,193	\$5,756,087
200									

## ATTACHMENT "F"

### TUCSON ELECTRIC POWER COMPANY LOST FIXED COST RECOVERY MECHANISM ("LFCR") PLAN OF ADMINISTRATION

#### Table of Contents

1. General Description	1
2. Definitions	1
3. LFCR Annual Incremental Cap	3
4. Filing and Procedural Deadlines	
5. Compliance Reports	

#### 1. General Description

This document describes the plan of administration for the LFCR mechanism approved for Tucson Electric Power ("TEP" or "Company") by the Arizona Corporation Commission ("ACC") in Decision No. xxxxx (date). The LFCR mechanism provides for the recovery of lost fixed costs, as measured by a reduction in non-fuel revenue, associated with the amount of energy efficiency ("EE") savings and distributed generation ("DG") that is authorized by the Commission and determined to have occurred. Costs to be recovered through the LFCR include the portion of transmission and distribution costs included in base rates exclusive of the Customer Charge and 50% of the demand rates in effect.

#### 2. Definitions

<u>Applicable Company Revenues</u> – The amount of revenue generated by sales to retail customers, for all applicable rate schedules, less the amount attributable to sales to those residential customers who chose the Fixed Cost Option.

<u>Current Period</u> – The most recent adjustment year.

<u>Demand Stability Factor</u> – Fifty percent of Demand-based revenue (excluding any purchased power and fuel costs) produced by base rates.

<u>Distribution and Transmission Revenue</u> – The amount of revenue determined at the conclusion of a rate case by multiplying each participating rate class' adjusted test year billing determinants (kWh) by their approved distribution and transmission related charges. This will be determined by reducing each class' total retail revenue by the customer charge revenue, generation related revenue, purchased power and fuel costs and the Demand Stability Factor.

<u>DG Savings</u> – The amount of kWh sales or kW of capacity reduced by DG. TEP will use meter data for determining the kWh or kW lost through the implementation of DG systems unless a rare circumstance occurs where the meter data is not available at which time the lost sales will be quantified using statistical verification or output profile or other Commission authorized methods. Each year, TEP will use actual data through December to calculate the savings. The calculation of DG savings will consist of the following by class:

1. Cumulative Verified: The total kWh or kW reduction as metered each year less the total kWh or kW reduction metered in TEP's most recent general rate case test year (2011). The initial Cumulative Verified term of the LFCR will begin on January 1, 2013.

- 2. Current Period: The annual kWh or kW produced by the cumulative total of DG installations since the end of the test year used in TEP's most recent general rate case.
- 3. The only DG Savings that will be excluded from the calculated Lost Fixed Cost Revenue calculation are those kWh or kW that were lost as the result of actions by customers in excluded rate classes.
- 4. The annual kW capacity of the cumulative total of DG installations since the end of the test year used in TEP's most recent general rate case. For solar systems only, the actual kW capacity used to calculate lost revenues for applicable demand metered customers will be the actual solar generation measured by the Solar production meter coincident with the customer's maximum fifteen minute demand for the billing period.

Fixed Cost Option – The rate schedule choice for residential customers who prefer contributing to the recovery of Lost Fixed Cost Revenue in the form of an optional fixed rate added as an incremental charge to the Customer Charge in the applicable residential tariff rate. The total dollars paid as an incremental amount added to the otherwise effective Customer Charge will be accumulated over the Current Period and used to reduce the total Lost Fixed Cost Revenue recovered as part of the LFCR adjustment. The variable LFCR adjustment shall not be applied to residential customers who choose the Fixed Cost option. This rate will be reflected as an incremental addition to the customer charge on the otherwise effective tariff and made available to customers at the time of the first LFCR adjustment. Customers choosing this fixed option within the first twelve months subsequent to the initial effective date of the LFCR will be allowed to change back to the volumetric option one time without any penalties. After the initial twelve month period, customers will be required to stay on which ever option they choose for twelve full months before a change can be made.

<u>EE Programs</u> – Any program approved in TEP's Energy Efficiency/Demand Side Management ("EE/DSM") implementation plan.

<u>EE Savings</u> – The amount of sales, expressed in kWh or kW, reduced by Energy Efficiency activities as demonstrated by the Measurement, Evaluation, and Research ("MER") conducted for TEP's EE Programs. The Company's EE activities are being reviewed as part of the MER evaluation and will determine the total kWh or kW lost as a result of those activities. As part of this filing the Commission Staff will have the option of reviewing any portion of the filing they deem necessary to verify the filings accuracy. EE Savings shall be quantified based on the cumulative lost kWh or kW occurring starting January 1, 2013 and shall be reset as of the end of the test year in each subsequent rate case. The calculation of EE Savings will consist of the following by class:

- 1. Cumulative Verified: The cumulative total kWh or kW reduction as determined by the MER recognizing that the cumulative total is reset (to zero) at the end of each of TEP's most recent general rate case. The first such reset will be January 1, 2012, (the end of the Test Year in Decision xxxxx, dated xx,). The initial Cumulative Verified term of the LFCR will begin on January 1, 2013.
- 2. Current Period: The annual EE related sales reductions (kWh or kW). Each year, TEP will use actual MER data through December to calculate savings.

3. Excluded kWh reduction: The reduction of recoverable EE Savings calculated by subtracting the amount of EE Savings actually achieved by customers on Excluded Rate Schedules if included in the total reported in the annual EE/DSM filing.

<u>Effective Period</u> – The twelve month period beginning with July 1 of each year, when the LFCR will be charged.

Excluded Rate Schedules – The LFCR mechanism shall not apply to the lighting (GS-50), water pumping (GS-43), or the large light and power (LLP-14 and LLP-90) rate schedules.

<u>LFCR Adjustment</u> – An amount calculated by dividing Lost Fixed Cost Revenue (As reduced by the total incremental fixed cost option dollars paid by the residential customers who have chosen the Fixed Cost Option and will be based on the incremental increase in the customer charge they have paid over the twelve-months during the Current Period.) by the Current period's retail revenue (less the estimated sales to the residential customers who chose the Fixed Cost Option) during the Effective Period for the participating rate classes. This percentage adjustment rate will be applied to all customer bills, excluding those on Excluded Rate Schedules.

<u>Lost Fixed Cost Rate</u> – A rate determined at the conclusion of a rate case by taking the sum of allowed Distribution and Transmission Revenue (which excludes the customer charge, the generation component and purchased power and fuel) for each rate class and dividing each by their respective class adjusted test year kWh and/or kW billing determinants.

<u>Lost Fixed Cost Revenue</u> – The amount of fixed costs not recovered by the utility because of EE and DG Savings during the measurement period. This amount is calculated by multiplying the Lost Fixed Cost Rate by Recoverable kWh Savings, by rate class.

Recoverable kWh Savings - The sum of EE and DG Savings by applicable rate class.

#### 3. LFCR Annual Incremental Cap

The LFCR Adjustment will be subject to an annual 1% year over year cap based on Applicable Company Revenues. If the annual incremental LFCR Adjustment results in a surcharge in excess of 1% of Applicable Company Revenues, any amount in excess of the 1% cap will be deferred for collection until the next year. Any deferred amounts will be collected in a subsequent year or rolled into the next rate case, whichever occurs first. Where the 1% cap limits the recovery of deferrals in any program year, and thus moves their recovery to the following year, a first-in, first-out ("FIFO") approach will be applied. In connection therewith, the new surcharge billed in the following year will first recover any such carried-over deferrals, and then recover new deferrals arising in that following year. The one-year Nominal Treasury Constant Maturities rate contained in the Federal Reserve Statistical Release H-15 or its successor publication will be applied annually to any deferred balance. The interest rate shall be adjusted annually and shall be that annual rate applicable to the first business day of the calendar year.

The initial LFCR filing will reconcile unrecovered lost revenues from January 1, 2013 through December 31, 2013.

#### 4. Filing and Procedural Deadlines

TEP will file the calculated Annual LFCR Adjustment, including all Compliance Reports, with the Commission for the previous year by May 15<sup>th</sup> of each year. Staff will use its best efforts to process the matter based on the results of the Company's annual EE/DSM and Renewable Energy Standard Tariff ("REST") filings such that a new LFCR adjustment may go into effect by July 1<sup>st</sup> of each year. However, the new LFCR Adjustment will not go into effect until approved by the Commission.

#### 5. Compliance Reports

TEP will provide comprehensive compliance reports to Staff and the Residential Utility Consumer Office by May 15<sup>th</sup> of each year. The information contained in the Compliance Reports will consist of the following schedules:

• Schedule 1: LFCR Annual Percentage Adjustment Rate

• Schedule 2: LFCR Annual Incremental Cap Calculation

• Schedule 3: LFCR Calculation

• Schedule 4: LFCR Test Year Rate Calculation

• Schedule 5: Distribution and Transmission Revenue Calculation

## ATTACHMENT "F"

#### Attachment E

#### **INCREMENTAL FIXED OPTION LFCR CHARGES FOR RESIDENTIAL CUSTOMERS**

#### Standard Service or Time of Use Service

Addition to Customer Charge with usage less than 2,000 kWh Addition to Customer Charge with usage of 2,000 kWh or more

\$2.50 per month \$6.50 per month

## ATTACHMENT "G"

#### TUCSON ELECTRIC POWER COMPANY ENVIRONMENTAL COMPLIANCE ADJUSTOR ("ECA") PLAN OF ADMINISTRATION

#### **Table of Contents**

1.	General Description	. 1
	Definitions	
3.	ECA Qualified Investments - FERC Accounts	. 2
	Calculation of ECA Capital Carrying Costs	
	Calculation of ECA \$ per kWh Rate	
	Accounting	
	Recovery Period	
	Filing and Procedural Deadlines	

#### Attachments

Schedule 1 - Qualified Investments for ECA

Schedule 2 – Capital Carrying Costs and Adjustor Calculation

#### 1. GENERAL DESCRIPTION

This document describes the plan for administering the ECA as approved by the Arizona Corporation Commission ("Commission" or "ACC") for Tucson Electric Power Company ("TEP") in Decision No. XXXXX [DATE]. The ECA provides for the recovery of and return on capital investments and associated costs related to environmental investments made by TEP and not already recovered in base rates approved in Decision No. XXXXXX or recovered through another Commission-approved mechanism. The ECA will be calculated annually based on the ECA Qualified Investments closed to plant-in-service during the preceding calendar year.

#### 2. **DEFINITIONS**

<u>ECA Qualified Investments</u> – Investments in Qualified Environmental Compliance Projects. Each ECA Qualified Investment shall: 1) be classified in one or more of the FERC Plant In-Service accounts listed in Section 3 of this document, or any other successor FERC account, upon going into service; and 2) be tracked by a specific project number.

Qualified Environmental Compliance Projects - Those projects designed to comply with established environmental standards required by federal, state, tribal, or local laws and regulations. In general, these environmental standards include, but are not limited to the following: sulfur dioxide, nitrogen oxide, carbon dioxide, ozone, particulate matter, volatile organic compounds, mercury and other toxics, coal ash and other combustion residuals and water intake.

<u>Capital Carrying Costs</u> – Costs recovered through the ECA charge include return on ECA Qualified Investments based on TEP's Weighted Average Cost of Capital ("WACC") approved by the Commission in Decision No. XXXXX; depreciation expense; income taxes; property taxes; deferred income taxes and tax credits where appropriate; and associated operations and management ("O&M") costs.

<u>Total Retail kWh Sales</u> – Total retail kWh sales served under applicable ACC jurisdictional rate schedules as reported in TEP's FERC Form No. 1 for the prior calendar year.

#### 3. ECA QUALIFIED INVESTMENTS - FERC ACCOUNTS

Each ECA Qualified investment may be classified in one or more of the FERC Plant In Service accounts listed below, any successor FERC account, or any other FERC Account approved by the Commission upon going into service. The Plant In-Service FERC Accounts shall include the following:

#### **Steam Production:**

- FERC Account 310 Land and Land Rights
- FERC Account 311 Structures and Improvements
- FERC Account 312 Boiler Plant Equipment
- FERC Account 313 Engines and Engine-Driven Generators
- FERC Account 314 Turbogenerator Units
- FERC Account 315 Accessory Electric Equipment
- FERC Account 316 Miscellaneous Power Plant Equipment

#### Other Production:

- FERC Account 340 Land and Land Rights
- FERC Account 341 Structures and Improvements
- FERC Account 342 Fuel Holders, Products and Accessories
- FERC Account 343 Prime Movers
- FERC Account 344 Generators
- FERC Account 345 Accessory Electric Equipment
- FERC Account 346 Miscellaneous Power Plant Equipment

Please note that this list may expand to include other accounts approved by the ACC in the future.

#### 4. CALCULATION OF ECA CAPITAL CARRYING COSTS

The recoverable ECA Capital Carrying Costs used in calculating the ECA \$ per kWh rate will include: 1) Return on ECA Qualified Investments based on TEP's WACC approved by the Commission in Decision No. XXXXXX; 2) depreciation expense; 3) income taxes; 4) property taxes; 5) deferred income taxes and tax credits where appropriate; and 6) associated O&M costs. The annual amount of Capital Carrying Costs to be recovered is subject to a cap equal to 0.25 percent of the total retail revenue requirement approved by the Commission in Decision No. xxxxx. The ECA Qualified Projects and the ECA recoverable costs calculation will be submitted by the Company to the Commission in the form of Schedule 1 and Schedule 2, as attached to this document.

#### 5. CALCULATION OF ECA \$ PER KWH RATE

The ECA rate to be applied to customers' bills will be calculated by dividing the total ECA Capital Carrying Costs by Total Retail kWh Sales. The ECA will not exceed \$0.00025 per kWh. The initial ECA rate will be set to zero.

#### 6. ACCOUNTING

From the effective date of the ECA, all ECA Capital Carrying Costs, including operating and maintenance expenses, depreciation, taxes, and the debt component of the WACC will be recorded in Other Regulatory Assets in Account 182.3, as they are incurred. Each month as the ECA surcharge revenues are billed, corresponding amortizations will be made from Account 182.3 and recorded in the proper income statement expense accounts. ECA Qualified Investments will continue to be accounted for as Plant In-Service.

#### 7. RECOVERY PERIOD

The initial ECA measurement period will become effective August 1, 2013. The ECA per kWh rate is designed to recover the annual ECA Capital Carrying Costs over a 12-month period. Should the ECA be modified or discontinued, any unrecovered balance in the ECA regulatory asset shall continue to be recovered through the ECA surcharge until all such costs have been collected.

#### 8. FILING AND PROCEDURAL DEADLINES

TEP will file the calculated ECA rate including all supporting data with the Commission for the previous calendar year on or before March 1<sup>st</sup>. See Schedules 1 and 2, attached.

The Commission Staff and interested parties shall have the opportunity to review the ECA filing and supporting data in the adjustor calculation. Unless the Commission has otherwise acted to suspend the filing or Staff has filed an objection by May 1<sup>st</sup>, the new ECA rate proposed by TEP will go into effect with the first billing cycle in May (without proration) and will remain effective for the following 12-month period.

Schedule 1: Qualified Investments for ECA Electric Plant In Service for Calendar Year 20XX

Electric Plant in Service

	١				i	
(F) ACC Jurisdictional	Total Cost		-	<b>'</b>	-	-
(E)	otal Cost				•	
(Q)	In-Service Date Total Cost	:	MM/YY \$	MM/YY \$	MM/YY \$	\$
(C)	Purpose L	ce Projects	Project A Purpose Description	Project B Purpose Description	Project C Purpose Description	
(B)	Project Name	<b>Qualified Environmental Compliance Projects</b>	Project A Pro			Total
(A) Project Tracking	Number	Qualified Envir	XXXX	XXXX	XXXX	
	Line No.		-	5	ω,	4

#### Schedule 2: Capital Carrying Costs and Adjustor Calculation Plant in Service for Calendar Year 20XX Billing Period 1/1/20XX-12/31/XX

Line No.	ECA Rate Calculation		
	Qualified Net Plant		
1.	Qualified Environmental Compliance Projects (Schedule 1 - Total Line Colum	\$	-
2.	Accumulated Depreciation	\$	-
3.	Cumulative Deferred Tax/Tax Credits	\$	
4.	Qualified Net Plant (Line 1 - Line 2 - Line 3)	\$	
5.	Pre-Tax Weighted Average Cost of Capital		0.00%
	ECA Revenue Requirement		
6.	Composite Return on ECA Net Plant (Line 4 * Line 5)	\$	· · · =
7.	Annual Depreciation of Plant in Service	\$	·
8.	Applicable Property Tax	\$	-
9.	Associated O&M Expense	\$	-
10.	Total ECA Capital Carrying Costs (Line 6 + Line 7 + Line 8 + Line 9)	\$	-
11.	Total Company Retail Sales (kWh)		
12.	Calculated ECA Rate (\$/kWh) (Line 10 / Line 11)	+ 1	
13.	ECA Rate Cap (\$/kWh)	\$	0.00025
14.	ECA Rate (\$/kWh) Lesser of Line 13 or Line 14	\$	<u>.</u>
		~	

## ATTACHMENT "H"

#### **ATTACHMENT H**

#### PROCUREMENT RECOMMENDATIONS

- 1. TEP should prepare a complete natural gas hedging plan consistent with the requirements outlined in the TEP Hedging Manual.
- 2. TEP should revise its hedging strategy for natural gas and power to reflect the fundamental changes in the energy markets.
- 3. TEP should reduce the unit cost of coal in determining cost of coal in inventory by non-recurring costs and ash handling costs.
- 4. TEP should add resources to the solid fuel group to develop additional support for current solid fuel activities.
- 5. TEP should develop a plan to minimize solid fuel cost consequences of any decisions to retire plants in response to regional haze requirements.

## ATTACHMENT "I"

ATTACHMENT I - COMPARISON OF LOW INCOME BILL IMPACT WITH AUGUST 2013 PPFAC

				Average Annual	Revised Percent		
i	Class	Customer	Average	Bill Change	Change to	\$ change in	Lifeline bill below
N C		Counts	Annual Bill	(from Current)	Total Bill	monthly bill	R-01 monthly bill
1		330,848	\$966.06	\$34.92	3.8%	\$2.91 (1)	(1)
~	Residential Lifeline R-04-01	819	\$647.15	\$31.64	5.1%	\$2.64	
1 (1)	Residential Lifeline R-05-01	1,722	\$736.03	\$36.01	5.1%	\$3.00	\$19.17
4	Residential Lifeline R-08-01	1,046	\$577.75	\$28.45	5.2%	\$2.37	\$32.36
. 7	Residential Lifeline R-06-01	13,376	\$780.85	\$31.77	4.2%	\$2.65	\$15.43
9	Residential Lifeline R-04-21F	4	\$562.14	\$36.91	7.0%	\$3.08	
_	Residential Lifeline R-05-21F	4	\$639.29	\$42.01	7.0%	\$3.50	\$27.23
·	Residential Lifeline R-08-21F	•	\$501.49	\$33.13	7.1%	\$2.76	\$38.71
6	Residential Lifeline R-06-21F	25	\$663.52	\$38.96	6.2%	\$3.25	\$25.21
10	Residential Lifeline R-04-70F	9	\$600.59	\$34.73	6.1%	\$2.89	
1		16	\$682.93	\$39.50	6.1%	\$3.29	\$23.59
12		24	\$535.20	\$31.04	6.2%	\$2.59	
13	_	109	\$715.39	\$35.76	5.3%	\$2.98	\$20.89
14	Residential Lifeline 05- 201AF	်က	\$688.32	\$37.13	5.7%	\$3.09	\$23.15
15		12	\$538.99	\$29.36	5.8%	\$2.45	\$35.59
16	s Residential Lifeline 06- 201AF	336	\$721.21	\$33.16	4.8%	\$2.76	\$20.40
17	Residential Lifeline 06- 201BF	12	\$656.83	\$31.70	5.1%	\$2.64	\$25.77

Note (1) This reflects the inclusion of the PPFAC rate as proposed in the Settlement, which includes \$3 million of sulfur credits, deferral of \$9.7 million of San Juan "thermal event" costs. Impacts do not include the anticipated changes in DSM or REST rates.

## ATTACHMENT "J"

# TUCSON ELECTRIC POWER COMPANY SUMMARY OF CURRENT, PROPOSED AND SETTLEMENT RATE DESIGN

Rate Schedule

**Current Design** 

Settlement

Residential  • Two different rate structures with and without blocks  • Rate structure includes three seasons • 6 summer months/6 winter months • Discounted from R-01 • Fuel in base rates	Residential  Three block structure  6 summer months/6 winter months  Fuel in base rates	<ul> <li>• Includes 19 rate schedules with different designs</li> <li>• 12 different discounts – one flat and 11 percentage discounts</li> <li>• Excluded from PPFAC charges</li> <li>• Excluded from DSM charges</li> <li>• TOU schedules includes shoulder peak period in delivery</li> <li>• Fuel in base rates with shoulder peak period in TOU schedules</li> </ul>
<ul> <li>Consolidated two rate schedules into one with four blocks</li> <li>Changed to only a winter and summer season</li> <li>5 summer months/7 winter months</li> <li>Includes 10% discount on non-fuel components to R-01</li> <li>Increase customer and energy charges</li> <li>Base Power as in current structure</li> </ul>	<ul> <li>Four block structure</li> <li>Consolidated R-02 into R-01</li> <li>Increase customer and energy charges</li> <li>5 summer months/7 winter months</li> <li>Added AMI opt-out charge</li> <li>LFCR fixed charge option added</li> <li>Base Power as in current structure</li> </ul>	<ul> <li>Include PPFAC charges</li> <li>Include DSM charges</li> <li>Increased fixed rate discount from \$8 to \$9</li> <li>Remainder of rates adjusted upward to reflect the same overall dollar change as the R-01 class</li> <li>No other changes in rate design</li> </ul>

# TUCSON ELECTRIC POWER COMPANY SUMMARY OF CURRENT, PROPOSED AND SETTLEMENT RATE DESIGN

Settlement

**Current Design** 

Rate Schedule

Residential Residential Residential R-201 TOU
---

### 3 | Page

# TUCSON ELECTRIC POWER COMPANY SUMMARY OF CURRENT, PROPOSED AND SETTLEMENT RATE DESIGN

Date Calculate	Comment Doctors	Cottlomont
Nate Schedule	Callell Costs	מבנים ווכוו
Small General Service GS-10	<ul> <li>One schedule with two blocks</li> <li>6 summer months/6 winter months</li> <li>Fuel in base rates</li> </ul>	<ul> <li>One schedule with two blocks</li> <li>Increase customer and energy charges</li> <li>5 summer months/7 winter months</li> <li>Municipal Rate 40 included in small general service with a 16.5% discount</li> <li>Base Power as in current structure</li> </ul>
Small General Service GS-76 TOU	<ul> <li>Two schedules with and without blocks</li> <li>6 summer months/6 winter months</li> <li>Includes shoulder peak period in delivery</li> <li>Fuel in base rates with shoulder peak period</li> </ul>	<ul> <li>Consolidated on peak periods into a single period for the summer from 2:00 pm to 8:00 pm and two winter periods from 6:00 am to 10:00 am and 5:00 pm to 9:00 pm</li> <li>Remove shoulder peak period</li> <li>Increase customer and energy charges</li> <li>S summer months/7 winter months</li> <li>Base Power as in current structure without shoulder peak</li> </ul>

Large General Service	<ul> <li>Demand ratchet at 50%</li> </ul>	<ul> <li>Increase customer charge</li> </ul>
l-13	<ul> <li>6 summer months/6 winter months</li> </ul>	<ul> <li>Standard demand and energy increases</li> </ul>
	<ul> <li>Fuel in base rates</li> </ul>	<ul><li>Increased demand ratchet from 50% to 75%</li></ul>
		<ul> <li>5 summer months/7 winter months</li> </ul>
		<ul> <li>Base Power as in current structure</li> </ul>
Large General Service	<ul> <li>Three rate schedules with two different demand</li> </ul>	<ul> <li>Consolidated three rate schedules into one</li> </ul>
I-85 TOU	structures	<ul> <li>Consolidated on peak periods into a single period</li> </ul>
	<ul> <li>Two different sets of on-peak periods</li> </ul>	for the summer from 2:00 pm to 8:00 pm and two
	<ul> <li>Includes shoulder peak period in delivery</li> </ul>	winter periods from 6:00 am to 10:00 am and 5:00
	<ul> <li>6 summer months/6 winter months</li> </ul>	pm to 9:00 pm
	<ul> <li>Demand ratchet at 50%</li> </ul>	<ul> <li>Removed shoulder peak period</li> </ul>
	<ul> <li>Fuel in base rates include shoulder peak period</li> </ul>	<ul> <li>5 summer months/7 winter months</li> </ul>
		<ul> <li>Increase customer charge</li> </ul>
		<ul> <li>Standard demand and energy increases</li> </ul>
		<ul> <li>Increased demand ratchet from 50% to 75%</li> </ul>

# TUCSON ELECTRIC POWER COMPANY SUMMARY OF CURRENT, PROPOSED AND SETTLEMENT RATE DESIGN

Rate Schedule	Current Design	Settlement
		(ratchet will be new for 85N)
		<ul> <li>Base Power as in current structure without</li> </ul>
		shoulder peak period

Large Light & Power I-14	Demand ratchet at 66.7%	<ul> <li>Increase customer charge</li> </ul>
	6 summer months/6 winter months	<ul> <li>Standard demand and energy increases</li> </ul>
	Fuel in base rates	<ul> <li>Increased demand ratchet from 66.7% to 75%</li> </ul>
	<ul> <li>Power factor a discount or a charge of 1.3¢ per kW</li> </ul>	<ul> <li>5 summer months/7 winter months</li> </ul>
	of billing demand for each 1% the average monthly	<ul> <li>Base Power as in current structure</li> </ul>
	power factor is above or below 90% lagging to a	<ul> <li>Power factor charges applied to all power factors</li> </ul>
	maximum discount of 13.0¢ per kW	under 100%
LL&P I-90 TOU	Three rate schedules	<ul> <li>Consolidated three rate schedules into one</li> </ul>
	Demand is On-peak & Excess	<ul> <li>Consolidated on peak periods into a single period</li> </ul>
	Two sets of on-peak periods	for the summer from 2:00 pm to 8:00 pm and two
	Includes shoulder peak periods in delivery	winter periods from 6:00 am to 10:00 am and 5:00
	Demand ratchet at 50%	pm to 9:00 pm
	6 summer months/6 winter months	<ul> <li>Removed shoulder peak period</li> </ul>
	<ul> <li>Fuel in base rates with shoulder peak period</li> </ul>	<ul> <li>Increase customer charge</li> </ul>
	<ul> <li>Power factor a discount or a charge of 1.3¢ per kW</li> </ul>	<ul> <li>Standard demand and energy increases</li> </ul>
	of billing demand for each 1% the average monthly	<ul> <li>Increased demand ratchet from 50% to 75%</li> </ul>
	power factor is above or below 90% lagging to a	<ul> <li>5 summer months/7 winter months</li> </ul>
	maximum discount of 13.0¢ per kW	<ul> <li>Base Power as in current structure without</li> </ul>
		shoulder peak period
		<ul> <li>Power factor charges applied to all power factors</li> </ul>
		under 100%

LINE NO.		Test Year Adjusted Billing Determinants	Current Rates	Test Year Adjusted Revenue	Proposed Adjusted Billing Determinants	Proposed Rates	Proposed Revenues
	Residential Service R-01						
1	Customer Charge (Single Phase)	3,931,401	\$7.00	\$27,519,807.00	3,931,401	\$10.00	\$39,314,010.00
2	Customer Charge (Three Phase)	3,651	\$13.00	\$47,463.00	3,651	\$15.00	\$54,765.00
3	Summer						
4	Sum First 500 kWh	865,521,763	\$0.046925	\$40,614,608.75	736,730,680	\$0.056200	\$41,404,264.20
5	Sum 501-1,000 kWh				496,017,382	\$0.067200	\$33,332,368.09
6	Sum 1,001-3,500 kWh	1,180,855,048	\$0.068960	\$81,431,764.12	559,338,750	\$0.079800	\$44,635,232.26
7	Sum>3,500 kWh	25,501,217	\$0.088960	\$2,268,588.23	24,347,732	\$0.088200	\$2,147,469.92
8	Win First 500 kWh				905,934,678	\$0.056200	\$50,913,528.89
9	Win 501-1,000 kWh	777,143,594	\$0.047309	\$36,765,886.29	413,683,007	\$0.065200	\$26,972,132.06
10	Win 1,001-3,500 kWh	510,936,480	\$0.067309	\$34,390,623.50	222,752,388	\$0.078100	\$17,396,961.53
11	Win>3,500 kWh	4,847,097	\$0.087309	\$423,195.23	6,000,583	\$0.087100	\$ <u>522,650.74</u>
12	Subtotal Delivery (Margin) Revenue			\$223,461,936.13			\$256,693,382.69
13	Base Power Summer	2,071,878,028	\$0.033198	\$68,782,206.78	1,816,434,544	\$0.035111	\$63,776,833.26
14	Base Power Winter	1,292,927,171	\$0.025698	\$33,225,642.44	1,548,370,656	\$0.031532	\$48,823,223.51
15	TOTAL RESIDENTIAL R-01			\$325,469,785	<u></u> :		\$369,293,439.46
16	TOTAL SALES	3,364,805,199	<del></del>		3,364,805,199		
	Residential Service R-02						
17	Customer Charge (Single Phase)	23,820	\$5.10	\$121,482.00	23,820	\$0.00	\$0.00
18	Sum First 500 kWh				1,196,221	\$0.056200	\$67,227.62
19	Sum 501-1,000 kWh	3,727,106	\$0.017298	\$64,471.48	66,774	\$0.067200	\$4,487.18
20	Sum 1,001-3,500 kWh			\$0.00	59,214	\$0.079800	\$4,725.30
21	Sum>3,500 kWh			\$0.00	3,979	\$0.088200	\$350.91
22	Win First 500 kWh				2,165,629	\$0.056200	\$121,708.34
23	Win 501-1,000 kWh			\$0.00	148,257	\$0.065200	\$9,666.34
24	Win 1,001-3,500 kWh			\$0.00	79,831	\$0.078100	\$6,234.77
25	Win>3,500 kWh			\$ <u>0.00</u>	7,203	\$0.087100	\$ <u>627.36</u>
26	Subtotal Delivery (Margin) Revenue			\$185,953.48			\$215,027.81
27	Base Power Summer	3,727,106	\$0.029448	\$109,755.82	1,326,187	\$0.035111	\$46,563.76
28	Base Power Winter			\$0.00	2,400,919	\$0.031532	\$75,705.78
29	TOTAL RESIDENTIAL R-02			\$295,709.31			\$337,297.35
30	TOTAL SALES	3,727,106			3,727,106		
	Residential Lifeline Service R-01						
31	Customer Charge (Single Phase)	238,230	\$4.90	\$1,167,326.66	238,230	\$6.90	\$1,643,786.52
32	Customer Charge (Three Phase)	69	\$12.26	\$845.94	69	\$11.90	\$821.10
33	Summer (all kWh)	108,919,567	\$0.057723	\$6,287,164.14	93,722,286	\$0.061100	\$5,726,431.67
34	Winter (all kWh)	81,578,627	\$0.053272	\$4,345,856.60	96,775,907	\$0.057000	\$5,516,226.72
	Subtotal Delivery (Margin) Revenue	01,370,027	ψ0.0332 <i>1</i> 2	\$11,801,193.35	20,7.10,201	***************************************	\$12,887,266.01
35 26	Base Power Summer	108,919,567	\$0.033198	\$3,615,911.77	93,722,286	\$0.033198	\$3,111,392.45
36						\$0.035198	· ·
37	Base Power Winter TOTAL RESIDENTIAL LIFELINE R-XX-01	81,578,627	\$0.025698	\$2,096,407.55 <b>\$17,513,512.67</b>	96,775,907	30.023036	\$2,486,947.27 <b>\$18,485,605.73</b>
38		100 400 100		317,313,312.07	100 400 402		\$10,465,0U5./3
39	TOTAL SALES	190,498,193			190,498,193		

		-					
		Test Year					
LINE		Adjusted Billing	Cumout Bates	Test Year	Proposed Adjusted Billing Determinants	Drawaged Dates	Proposed
NO.	Residential Lifeline Service R-201A Froze	Determinants	Current Rates	Adjusted Revenue	Billing Determinants	Proposed Kates	Revenues
1	Customer Charge (Single Phase)	4,218	\$4.90	\$20,668.46	4,218	\$6.90	\$29,104.57
2	Mid-Summer (all kWh)	1,397,135	\$0.057722	\$80,645.44	1,397,135	\$0.061100	\$85,364.96
3	Remaining-Summer (all kWh)	1,295,488	\$0.040993	\$53,105.95	899,080	\$0.043600	\$39,199.91
4	Winter (all kWh)	2,104,829	\$0.038742	\$81,545.28	2,501,237	\$0.043000	\$103,301.08
5	Subtotal Delivery (Margin) Revenue	2,104,023		\$235,965.14	2,301,237	<b>30.041300</b>	\$256,970.52
3	Subtotal Delivery (Margin) Revenue			7233,303.1 <del>4</del>			\$230,570.32
6	Base Power Mid Summer	1,397,135	\$0.033198	\$46,382.09	1,397,135	\$0.033198	\$46,382.09
7	Base Power Remain-Summer	1,295,488	\$0.033198	\$43,007.62	899,080	\$0.033198	\$29,847.67
8	Base Power Winter	2,104,829	\$0.025698	\$54,089.89	2,501,237	\$0.027198	\$68,028.64
9	TOTAL LIFELINE R-201		<del>"</del>	\$379,444.75			\$401,228.92
10	TOTAL SALES	4,797,453			4,797,453		
11	Residential Service R-201A Frozen Customer Charge (Single Phase)	59,313	\$7.00	\$415,193.57	59,313	\$10.00	\$593,133.67
11	Sum First 500 kWh	20,197,805	\$0.066139	\$1,335,862.65	13,531,796	\$0.050600	\$684,708.87
12		20,197,805	\$0.000123			•	
13	Sum 501-1,000 kWh	10 001 714	Ć0 044120	\$0.00	9,105,476	\$0.060500	\$550,881.29
14	Sum 1,001-3,500 kWh	18,091,714	\$0.044138	\$798,532.07	10,267,877	\$0.071800	\$737,233.57
15	Sum>3,500 kWh	00 745 040	40.00000	\$0.00	165,189	\$0.079400	\$13,115.97
16	Win First 500 kWh	30,745,812	\$0.033803	\$1,039,300.67	18,812,952	\$0.050600	\$951,935.36
17	Win 501-1,000 kWh			\$0.00	11,090,120	\$0.058700	\$650,990.04
18	Win 1,001-3,500 kWh			\$0.00	5,971,603	\$0.070300	\$419,803.70
19	Win>3,500 kWh			\$ <u>0.00</u>	90,319	\$0.078400	\$ <u>7,081.01</u>
20	Subtotal Delivery (Margin) Revenue			\$3,588,888.97			\$4,608,883.48
21	Base Power Mid-Summer	20,197,805	\$0.033198	\$670,526.74	33,070,337	\$0.035111	\$1,161,132.61
22	Base Power Remain-Summer	18,091,714	\$0.033198	\$600,608.72			
23	Base Power Winter	30,745,812	\$0.025698	\$790,105.87	35,964,994	\$0.031532	\$1,134,048.19
24	TOTAL R-201A			\$5,650,130.30			\$6,904,064.28
25	TOTAL SALES	69,035,331			69,035,331		
	Residential Service R-201AN						
26	Customer Charge (Single Phase)	65,544	\$7.00	\$458,808.00	65,544	\$10.00	\$655,440.00
27	Sum First 500 kWh	03,344	\$7.00	<b>\$ 155,000.00</b>	12,747,252	\$0.050600	\$645,010.96
28	Sum 501-1,000 kWh	7,410,492	\$0.065598	\$486,113.44	8,523,994	\$0.060500	\$515,701.66
29	Sum 1,001-3,500 kWh	11,446,450	\$0.085598	\$979,793.20	9,612,164	\$0.071800	\$690,153.37
30	Sum>3,500 kWh	107,509	\$0.105598	\$11,352.70	153,507	\$0.079400	\$12,188.42
31	Remaining Summer	107,303	\$0.103398	\$11,332.70	133,307	Ş0.07 <i>9</i> 400	\$12,100.42
32	First 500, or all kWh	7,646,758	\$0.022737	\$173,864.33			\$0.00
	501 -3,500, kWh	9,203,000	\$0.042737	\$393,308.63	-		\$0.00
33	>3,500 kWh		\$0.042737	\$3,364.35	-		
34	•	53,626			16 425 445	éo osocoo	\$0.00
35	Win First 500 kWh	14,115,148	\$0.020737	\$292,705.82	16,425,145	\$0.050600	\$831,112.35
36	Win 501-1,000 kWh	12,338,852	\$0.040737	\$502,647.80	9,653,893	\$0.058700	\$566,683.53
37	Win 1,001-3,500 kWh	70.245	60.050707		5,198,250	\$0.070300	\$365,436.99
38	Win>3,500 kWh	70,315	\$0.060737	\$ <u>4,270.75</u>	77,944	\$0.078400	\$ <u>6,110.79</u>
39	Subtotal Delivery (Margin) Revenue			\$3,306,229.01			\$4,287,838.07
40	Base Power Mid-Summer	18,964,450	\$0.043166	\$818,619.45	31,036,917	\$0.035111	\$1,089,737.20
41	Base Power Remain-Summer	16,903,384	\$0.023166	\$391,583.80			,
42	Base Power Winter	26,524,315	\$0.027033	\$717,031.81	31,355,232	\$0.031532	\$988,693.19
43	TOTAL R-201AN			\$5,233,464.08			\$6,366,268.46
44	TOTAL SALES	62,392,149			62,392,149		

LINE NO.		Test Year Adjusted Billing Determinants	Current Rates	Test Year Adjusted Revenue	Proposed Adjusted Billing Determinants	Proposed Rates	Proposed Revenues
	Residential Lifeline Service TOU R-XX-2	21 Frozen					
1	Customer Charge	613	\$6.86	\$4,208.12	613	\$8.86	\$5,434.98
2	Summer On-peak kWh	109,148	\$0.072215	\$7,882.12	94,070	\$0.078800	\$7,412.68
3	Summer Off-peak kWh	223,428	\$0.026967	\$6,025.17	195,143	\$0.030100	\$5,873.81
4	Winter On-peak kWh	63,890	\$0.058320	\$3,726.08	78,969	\$0.065200	\$5,148.76
5	Winter Off-peak kWh	205,215	\$0.029467	<u>\$6,047.06</u>	233,499	\$0.033000	\$7,705.46
6	Subtotal Delivery (Margin) Revenue			\$27,888.55			\$31,575.70
	Base Power			_			_
7	Summer On-peak kWh	109,148	\$0.053198	\$5,806.45	94,070	\$0.053198	\$5,004.31
8	Summer Off-peak kWh	223,428	\$0.023198	\$5,183.07	195,143	\$0.023198	\$4,526.93
9	Winter On-peak kWh	63,890	\$0.040698	\$2,600.21	78,969	\$0.040698	\$3,213.87
10	Winter Off-peak kWh	205,215	\$0.020698	\$4,247.53	233,499	\$0.020698	\$4,832.96
11	TOTAL LIFELINE TOU R-21F REVENUE			\$45,725.82			\$49,153.77
12	TOTAL SALES	601,680			601,680		
	Residential Lifeline Service TOU R-XX-7	70					
13	Customer Charge	2,375	\$6.78	\$16,103.20	2,375	\$8.78	\$20,853.40
14	Summer On-peak	245,865	\$0.128473	\$31,587.01	214,446	\$0.139327	\$29,878.05
15	Summer Shoulder-peak	87,900	\$0.068120	\$5,987.76	87,900	\$0.073875	\$6,493.63
16	Summer Off-peak	847,975	\$0.034962	\$29,646.90	737,025	\$0.037916	\$27,944.82
17	Winter On-peak kWh	185,561	\$0.085313	\$15,830.80	216,981	\$0.092521	\$20,075.16
18	Winter Off-peak kWh	669,640	\$0.022921	<u>\$15,348.83</u>	780,591	\$0.024857	<u>\$19,403.49</u>
19	Subtotal Delivery (Margin) Revenue			\$114,504.49			\$124,648.56
	Base Power						
20	Summer On-peak kWh	245,865	\$0.055698	\$13,694.19	214,446	\$0.055698	\$11,944.20
21	Summer Shoulder-peak	87,900	\$0.048198	\$4,236.61	87,900	\$0.048198	\$4,236.61
22	Summer Off-peak kWh	847,975	\$0.023198	\$19,671.32	737,025	\$0.023198	\$17,097.50
23	Winter On-peak kWh	185,561	\$0.040698	\$7,551.98	216,981	\$0.040698	\$8,830.67
24	Winter Off-peak kWh	669,640	\$0.020698	\$13,860.22	780,591	\$0.020698	\$16,156.66
25	TOTAL LIFELINE TOU R-70F REVENUE			\$173,518.81			\$182,914.21
26	TOTAL SALES	2,036,942		•	2,036,942		
	Residential Service TOU R-21 Frozen						
27	Customer Charge	28,932	\$7.00	\$202,524.00	28,932	\$11.50	\$332,718.00
28	Summer On-peak kWh	8,237,292	\$0.101271	\$834,198.77	7,468,625	\$0.066800	\$498,904.12
29	Summer Off-peak kWh	15,589,611	\$0.021508	\$335,301.34	13,949,953	\$0.051800	\$722,607.54
30	Winter On-peak kWh	3,844,450	\$0.073292	\$281,767.45	7,511,294	\$0.056800	\$426,641.52
31	Winter Off-peak kWh	12,839,897	\$0.021508	\$276,160.50	11,581,378	\$0.041800	\$484,101.59
32	Subtotal Delivery (Margin) Revenue			\$1,929,952.06			\$2,464,972.77
	Base Power		40.055.05	A.c	= 460 G==	40.05000	<b>40=-</b> = :
33	Summer On-peak kWh	8,237,292	\$0.053198	\$438,207.45	7,468,625	\$0.050669	\$378,427.74
34	Summer Off-peak kWh	15,589,611	\$0.023198	\$361,647.79	13,949,953	\$0.026679	\$372,170.78
35	Winter On-peak kWh	3,844,450	\$0.040698	\$156,461.44	7,511,294	\$0.032893	\$247,069.01
36	Winter Off-peak kWh	12,839,897	\$0.020698	\$265,760.18	11,581,378	\$0.027092	\$313,762.68
37 38	TOTAL TOU R-21F REVENUE TOTAL SALES	40,511,249		\$3,152,028.91	40,511,249		\$3,776,402.99

		Test Year					
LINE		Adjusted Billing  Determinants	Command Batas	Test Year	Proposed Adjusted	Business of Botos	Proposed
NO.	Residential Service TOU R-70	Determinants	Current Rates	Adjusted Revenue	Billing Determinants	Proposed Kates	Revenues
1	Customer Charge	49,320	\$7.00	\$345,240.00	49,320	\$11.50	\$567,180.00
2	Summer On-peak	6,662,407	\$0.174747	\$1,164,235.63	11,348,439	\$0.066800	\$758,075.71
3	Summer Shoulder-peak	2,577,159	\$0.102823	\$264,991.23	11,546,459	\$0.00	\$0.00
4	Summer Off-peak	27,114,005	\$0.041176	\$1,116,446.26	21,204,659	\$0.051800	\$1,098,401.36
5	Winter On-peak kWh	5,967,824	\$0.025762	\$1,110,440.20	10,594,826	\$0.056800	\$601,786.13
6	Winter Off-peak kWh	17,165,126	\$0.023702	\$396,480.07	16,338,596	\$0.030800	\$682,953.33
7	Subtotal Delivery (Margin) Revenue	17,103,120	30.023038	\$3,441,136.29	10,556,590	\$0.041800	\$3,708,396.53
,	Base Power			\$3,441,130.23			\$3,700,330.33
8	Summer On-peak kWh	6,662,407	\$0.055698	\$371,082.74	11 249 420	\$0.050669	\$575 014 OF
	·		\$0.055698	\$124,213.92	11,348,439	\$0.05	\$575,014.05
9	Summer Shoulder-peak	2,577,159			21 204 650	•	\$0.00
10	Summer Off-peak kWh	27,114,005	\$0.023198	\$628,990.68	21,204,659	\$0.026679	\$565,719.11
11	Winter On-peak kWh	5,967,824	\$0.040698	\$242,878.52	10,594,826	\$0.032893	\$348,495.62
12 13	Winter Off-peak kWh	17,165,126	\$0.020698	\$355,283.77	16,338,596	\$0.027092	\$442,645.26
	TOTAL TOU R-70F REVENUE	50 400 504	<del></del>	\$5,163,585.92		<del></del>	\$5,640,270.56
14	TOTAL SALES	59,486,521			59,486,521		
	Residential Time-of-Use R-70N-B (Wee	kend Includes Should	ler)				
15	Customer Charge	2,424	\$8.00	\$19,392.00	2,424	\$11.50	\$27,876.00
16	Summer On-peak						
17	First 500, kWh	93,863	\$0.079947	\$7,504.08	523,087	\$0.066800	\$34,942.22
18	501 -3,500, kWh	176,848	\$0.096571	\$17,078.41			\$0.00
19	>3,500 kWh	2,267	\$0.116571	\$264.23			\$0.00
20	Summer Shoulder-peak						
21	First 500, kWh	143,827	\$0.050121	\$7,208.74			\$0.00
22	501 -3,500, kWh	281,334	\$0.070121	\$19,727.44			\$0.00
23	>3,500 kWh	3,679	\$0.090121	\$331.54			\$0.00
24	Summer Off-peak						
25	First 500, kWh	349,097	\$0.041217	\$14,388.72	979,031	\$0.051800	\$50,713.81
26	501 -3,500, kWh	675,543	\$0.057841	\$39,074.11			\$0.00
27	>3,500 kWh	8,856	\$0.077841	\$689.33			\$0.00
28	Winter On-peak						
29	First 500, kWh	162,731	\$0.067066	\$10,913.71	479,959	\$0.056800	\$27,261.67
30	501 -3,500, kWh	139,508	\$0.085478	\$11,924.83			\$0.00
31	>3,500 kWh	507	\$0.105478	\$53.52			\$0.00
32	Winter Off-peak						
33	First 500, kWh	366,538	\$0.037066	\$13,586.10	739,514	\$0.041800	\$30,911.70
34	501 -3,500, kWh	315,870	\$0.055478	\$17,523.86			\$0.00
35	>3,500 kWh	1,123	\$0.075478	\$84.78			\$0.00
36	Subtotal Delivery (Margin) Revenue			\$179,745.40			\$171,705.40
37	Base Power						
38	Summer On-peak	272,978	\$0.055440	\$15,133.91	523,087	\$0.050669	\$26,504.30
39	Summer Shoulder-peak	428,840	\$0.034876	\$14,956.22	-	\$0.00	\$0.00
40	Summer Off-peak	1,033,496	\$0.019865	\$20,530.40	979,031	\$0.026679	\$26,119.57
41	Winter On-peak kWh	302,746	\$0.042874	\$12,979.93	479,959	\$0.032893	\$15,787.29
	Winter Off-peak kWh	683,532	\$0.025086	\$17,147.08	739,514	\$0.027092	\$20,034.92
43	TOTAL TOU R-70N-B REVENUE			\$260,492.93	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	702,000	\$260,151.48
44	TOTAL SALES	2,721,591		,	2,721,591		1 2 3 7 2 2 3 3

### TUCSON ELECTRIC POWER COJMPANY TEST YEAR RATES VS. PROPOSED RATES AND REVENUES TEST PERIOD ENDING DECEMBER 31, 2011

LINE NO.		Test Year Adjusted Billing Determinants	Current Rates	Test Year Adjusted Revenue	Proposed Adjusted Billing Determinants	Proposed Rates	Proposed Revenues
	Residential Time-of-Use R-70N-C (Wee	kend Includes Peak)					
1	Customer Charge	7,812	\$8.00	\$62,496.00	7,812	\$11.50	\$89,838.0
2	Summer On-peak						
3	First 500, kWh	413,264	\$0.077356	\$31,968.49	1,503,228	\$0.066800	\$100,415.60
4	501 -3,500, kWh	684,298	\$0.096354	\$65,934.87			\$0.00
5	>3,500 kWh	16,766	\$0.116354	\$1,950.81			\$0.00
6	Summer Shoulder-peak						
7	First 500, kWh	255,582	\$0.049507	\$12,653.09			\$0.00
8	501 -3,500, kWh	429,716	\$0.069507	\$29,868.29			\$0.00
9	>3,500 kWh	10,408	\$0.089507	\$931.58			\$0.00
10	Summer Off-peak						
11	First 500, kWh	1,170,661	\$0.038229	\$44,753.18	2,814,086	\$0.051800	\$145,769.65
12	501 -3,500, kWh	1,931,943	\$0.057227	\$110,559.31			\$0.00
13	>3,500 kWh	46,780	\$0.077227	\$3,612.69			\$0.00
14	Winter On-peak						
15	First 500, kWh	503,061	\$0.066452	\$33,429.40	1,391,693	\$0.056800	\$79,048.19
16	501 -3,500, kWh	376,700	\$0.084864	\$31,968.29			\$0.00
17	>3,500 kWh	2,023	\$0.104864	\$212.18			\$0.00
18	Winter Off-peak						
19	First 500, kWh	1,148,576	\$0.036452	\$41,867.90	2,144,159	\$0.041800	\$89,625.85
20	501 -3,500, kWh	858,787	\$0.054864	\$47,116.49			\$0.00
21	>3,500 kWh	4,599	\$0.074864	\$344.33			\$0.00
22	Subtotal Delivery (Margin) Revenue			\$519,666.90			\$504,697.28
23	Base Power						
24	Summer On-peak	1,114,329	\$0.054330	\$60,541.49	1,503,228	\$0.050669	\$76,167.04
25	Summer Shoulder-peak	695,706	\$0.034177	\$23,777.15	- · · · · · · · · · · · · · · · · · · ·	\$0.00	\$0.00
26	Summer Off-peak	3,149,384	\$0.019467	\$61,309.06	2,814,086	\$0.026679	\$75,077.00
27	Winter On-peak kWh	881,784	\$0.042015	\$37,048.17	1,391,693	\$0.032893	\$45,776.97
28	Winter Off-peak kWh	2,011,963	\$0.024585	\$49,464.10	2,144,159	\$0.027092	\$58,089.56
29	TOTAL TOU R-70N-C REVENUE		<del>- · · · · · · · · · · · · · · · · · · ·</del>	\$751,806.87			\$759,807.85
30	TOTAL SALES	7,853,166	<del>'</del>		7,853,166	110000	<del></del>

LINE		Test Year Adjusted Billing		Test Year	Proposed Adjusted		Proposed
NO.		Determinants	Current Rates	Adjusted Revenue	Billing Determinants	Proposed Rates	Revenues
	Residential Time-of-Use R-70N-D (Wee	kend All Off-Peak)					
1	Customer Charge	5,424	\$8.00	\$43,392.00	5,424	\$11.50	\$62,376.00
2	Summer On-peak	,	,	, .,	,	,	, , , , , , , , , , , , , , , , , , , ,
3	First 500, kWh	200,869	\$0.091873	\$18,454.43	1,112,090	\$0.066800	\$74,287.60
4	501 -3,500, kWh	354,929	\$0.107334	\$38,095.99			\$0.0
5	>3,500 kWh	6,150	\$0.127334	\$783.16			\$0.0
6	Summer Shoulder-peak						
7	First 500, kWh	180,379	\$0.049814	\$8,985.40			\$0.0
8	501 -3,500, kWh	325,516	\$0.069814	\$22,725.59			\$0.0
9	>3,500 kWh	5,713	\$0.089814	\$513.07			\$0.0
10	Summer Off-peak			*** -** *		4	4
11	First 500, kWh	919,875	\$0.042073	\$38,701.91	2,081,044	\$0.051800	\$107,798.0
12	501 -3,500, kWh	1,637,031	\$0.057534	\$94,184.94			\$0.0
13	>3,500 kWh	28,367	\$0.077534	\$2,199.37			\$0.00
14	Winter On-peak	200.402	¢0.000707	¢10.077.50	1 004 070	¢0.05.000	ć57.007.0
15	First 500, kWh	289,183	\$0.068737	\$19,877.56	1,021,079	\$0.056800	\$57,997.3
16	501 -3,500, kWh	236,708	\$0.085171	\$20,160.66			\$0.00
17	>3,500 kWh	1,062	\$0.105171	\$111.73			\$0.00
18	Winter Off-peak	877,051	\$0.038737	\$33,974.32	1,572,514	\$0.041800	\$65,731.0
19 20	First 500, kWh	720,607	\$0.055171	\$39,756.60	1,372,314	30.041800	\$0.00
21	501 -3,500, kWh >3,500 kWh	3,287	\$0.033171	\$39,730.00 \$247.08			\$0.00 \$0.00
22	Subtotal Delivery (Margin) Revenue	3,287	30.073171	\$382,163.81			\$368,190.08
23	Base Power			7502,105.01			<b>4300,130.0</b> 0
24	Summer On-peak	561,949	\$0.058271	\$32,745.31	1,112,090	\$0.050669	\$56,348.4
25	Summer Shoulder-peak	511,608	\$0.036656	\$18,753.50	-,,	\$0.00	\$0.00
26	Summer Off-peak	2,585,273	\$0.020880	\$53,980.50	2,081,044	\$0.026679	\$55,520.18
27	Winter On-peak kWh	526,953	\$0.045063	\$23,746.09	1,021,079	\$0.032893	\$33,586.37
28	Winter Off-peak kWh	1,600,945	\$0.026368	\$42,213.71	1,572,514	\$0.027092	\$42,602.54
29	TOTAL TIME OF USE R-70N-D REVENUE			\$553,602.92		·	\$556,247.64
30	TOTAL SALES	5,786,727			5,786,727		
	Residential Lifeline Service TOU R-201B		46.70	44 004 24	450	40.70	44 400 0
31	Customer Charge (Single Phase)	159	\$6.78	\$1,081.31	159	\$8.78	\$1,400.28
	Summer						
32	Mid-Summer On-peak	8,244	\$0.128473	\$1,059.11	8,244	\$0.136900	\$1,128.58
33	Mid-Summer Shoulder-peak	3,900	\$0.068120	\$265.69	3,900	\$0.074700	\$291.35
34	Mid-Summer Off-peak	32,255	\$0.034962	\$1,127.70	32,255	\$0.038300	\$1,235.37
25							
35	Remaining-Summer On-peak	7,834	\$0.090717	\$710.66	5,483	\$0.099500	\$545.59
	Remaining-Summer On-peak Remaining-Summer Shoulder-peak	7,834					
36	Remaining-Summer Shoulder-peak	7,834 2,703	\$0.044275	\$119.66	2,703	\$0.048600	\$131.35
36 37	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak	7,834 2,703 29,775	\$0.044275 \$0.023038	\$119.66 \$685.96	2,703 20,657	\$0.048600 \$0.025300	\$131.35 \$522.65
36 37 38	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak	7,834 2,703 29,775 15,413	\$0.044275 \$0.023038 \$0.059481	\$119.66 \$685.96 \$916.76	2,703 20,657 17,763	\$0.048600 \$0.025300 \$0.065200	\$131.35 \$522.62 \$1,158.16
36 37 38 39	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak	7,834 2,703 29,775	\$0.044275 \$0.023038	\$119.66 \$685.96 \$916.76 \$ <u>716.84</u>	2,703 20,657	\$0.048600 \$0.025300	\$131.35 \$522.61 \$1,158.16 \$ <u>924.32</u>
36 37 38	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue	7,834 2,703 29,775 15,413	\$0.044275 \$0.023038 \$0.059481	\$119.66 \$685.96 \$916.76	2,703 20,657 17,763	\$0.048600 \$0.025300 \$0.065200	\$131.35 \$522.61 \$1,158.16 \$ <u>924.32</u>
36 37 38 39	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power	7,834 2,703 29,775 15,413 51,295	\$0.044275 \$0.023038 \$0.059481 \$0.013975	\$119.66 \$685.96 \$916.76 \$ <u>716.84</u> \$6,683.68	2,703 20,657 17,763 60,413	\$0.048600 \$0.025300 \$0.065200 \$0.015300	\$131.35 \$522.61 \$1,158.16 \$ <u>924.32</u> \$ <b>7,337.6</b> 0
36 37 38 39	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue	7,834 2,703 29,775 15,413	\$0.044275 \$0.023038 \$0.059481	\$119.66 \$685.96 \$916.76 \$ <u>716.84</u>	2,703 20,657 17,763 60,413	\$0.048600 \$0.025300 \$0.065200	\$131.35 \$522.60 \$1,158.16 \$ <u>924.32</u> \$ <b>7,337.60</b>
36 37 38 39 40	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power	7,834 2,703 29,775 15,413 51,295	\$0.044275 \$0.023038 \$0.059481 \$0.013975	\$119.66 \$685.96 \$916.76 \$ <u>716.84</u> \$6,683.68	2,703 20,657 17,763 60,413	\$0.048600 \$0.025300 \$0.065200 \$0.015300	\$131.35 \$522.65 \$1,158.16 \$924.32 \$7,337.66
36 37 38 39 40	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power Mid-Summer On-peak	7,834 2,703 29,775 15,413 51,295	\$0.044275 \$0.023038 \$0.059481 \$0.013975 \$0.055698	\$119.66 \$685.96 \$916.76 \$716.84 \$6,683.68	2,703 20,657 17,763 60,413	\$0.048600 \$0.025300 \$0.065200 \$0.015300 \$0.055698	\$131.35 \$522.62 \$1,158.16 \$924.32 \$7,337.66 \$459.16 \$187.99
36 37 38 39 40 41 42	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power Mid-Summer On-peak Mid-Summer Shoulder-peak	7,834 2,703 29,775 15,413 51,295 8,244 3,900	\$0.044275 \$0.023038 \$0.059481 \$0.013975 \$0.055698 \$0.048198	\$119.66 \$685.96 \$916.76 \$716.84 \$6,683.68 \$459.16 \$187.99	2,703 20,657 17,763 60,413 8,244 3,900	\$0.048600 \$0.025300 \$0.065200 \$0.015300 \$0.055698 \$0.048198	\$131.3! \$522.6: \$1,158.1( \$924.3: <b>\$7,337.6(</b> \$459.1( \$187.9) \$748.2:
36 37 38 39 40 41 42 43 44	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power Mid-Summer On-peak Mid-Summer Shoulder-peak Mid-Summer Off-peak Remaining-Summer On-peak	7,834 2,703 29,775 15,413 51,295 8,244 3,900 32,255 7,834	\$0.044275 \$0.023038 \$0.059481 \$0.013975 \$0.055698 \$0.048198 \$0.023198 \$0.055698	\$119.66 \$685.96 \$916.76 \$716.84 \$6,683.68 \$459.16 \$187.99 \$748.25 \$436.33	2,703 20,657 17,763 60,413 8,244 3,900 32,255 5,483	\$0.048600 \$0.025300 \$0.065200 \$0.015300 \$0.055698 \$0.048198 \$0.023198 \$0.055698	\$131.33 \$522.66 \$1,158.16 \$924.33 \$7,337.66 \$459.16 \$187.99 \$748.25 \$305.45
36 37 38 39 40 41 42 43 44 45	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power Mid-Summer On-peak Mid-Summer Shoulder-peak Mid-Summer Off-peak Remaining-Summer On-peak Remaining-Summer Shoulder-peak	7,834 2,703 29,775 15,413 51,295 8,244 3,900 32,255 7,834 2,703	\$0.044275 \$0.023038 \$0.059481 \$0.013975 \$0.055698 \$0.048198 \$0.023198 \$0.055698 \$0.048198	\$119.66 \$685.96 \$916.76 \$716.84 \$6,683.68 \$459.16 \$187.99 \$748.25 \$436.33 \$130.27	2,703 20,657 17,763 60,413 8,244 3,900 32,255 5,483 2,703	\$0.048600 \$0.025300 \$0.065200 \$0.015300 \$0.055698 \$0.048198 \$0.023198 \$0.055698 \$0.048198	\$131.3! \$522.6: \$1,158.1( \$924.3: <b>\$7,337.6(</b> \$459.1( \$187.9! \$748.2! \$305.4: \$130.2:
36 37 38 39 40 41 42 43 44 45 46	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power Mid-Summer On-peak Mid-Summer Shoulder-peak Mid-Summer Off-peak Remaining-Summer On-peak Remaining-Summer Shoulder-peak Remaining-Summer Off-peak	7,834 2,703 29,775 15,413 51,295 8,244 3,900 32,255 7,834 2,703 29,775	\$0.044275 \$0.023038 \$0.059481 \$0.013975 \$0.055698 \$0.048198 \$0.055698 \$0.048198 \$0.048198 \$0.023198	\$119.66 \$685.96 \$916.76 \$716.84 \$6,683.68 \$459.16 \$187.99 \$748.25 \$436.33 \$130.27 \$690.72	2,703 20,657 17,763 60,413 8,244 3,900 32,255 5,483 2,703 20,657	\$0.048600 \$0.025300 \$0.065200 \$0.015300 \$0.055698 \$0.048198 \$0.023198 \$0.055698 \$0.048198 \$0.023198	\$131.35 \$522.60 \$1,158.16 \$924.32 \$7,337.60 \$459.16 \$187.95 \$748.25 \$305.41 \$130.27 \$479.15
36 37 38 39 40 41 42 43 44 45 46 47	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power Mid-Summer On-peak Mid-Summer Shoulder-peak Mid-Summer Off-peak Remaining-Summer On-peak Remaining-Summer Off-peak Remaining-Summer Off-peak Wintr On-peak	7,834 2,703 29,775 15,413 51,295  8,244 3,900 32,255 7,834 2,703 29,775 15,413	\$0.044275 \$0.023038 \$0.059481 \$0.013975 \$0.055698 \$0.048198 \$0.023198 \$0.048198 \$0.023198 \$0.023198 \$0.040698	\$119.66 \$685.96 \$916.76 \$716.84 \$6,683.68 \$459.16 \$187.99 \$748.25 \$436.33 \$130.27 \$690.72 \$627.26	2,703 20,657 17,763 60,413 8,244 3,900 32,255 5,483 2,703 20,657 17,763	\$0.048600 \$0.025300 \$0.065200 \$0.015300 \$0.055698 \$0.048198 \$0.023198 \$0.055698 \$0.048198 \$0.048698	\$131.35 \$522.60 \$1,158.16 \$924.32 \$7,337.66 \$459.16 \$187.90 \$748.25 \$305.42 \$130.27 \$479.15 \$722.92
36 37 38 39 40 41 42 43 44 45 46	Remaining-Summer Shoulder-peak Remaining-Summer Off-peak Winter On-peak Winter Off-peak Subtotal Delivery (Margin) Revenue Base Power Mid-Summer On-peak Mid-Summer Shoulder-peak Mid-Summer Off-peak Remaining-Summer On-peak Remaining-Summer Shoulder-peak Remaining-Summer Off-peak	7,834 2,703 29,775 15,413 51,295 8,244 3,900 32,255 7,834 2,703 29,775	\$0.044275 \$0.023038 \$0.059481 \$0.013975 \$0.055698 \$0.048198 \$0.055698 \$0.048198 \$0.048198 \$0.023198	\$119.66 \$685.96 \$916.76 \$716.84 \$6,683.68 \$459.16 \$187.99 \$748.25 \$436.33 \$130.27 \$690.72	2,703 20,657 17,763 60,413 8,244 3,900 32,255 5,483 2,703 20,657	\$0.048600 \$0.025300 \$0.065200 \$0.015300 \$0.055698 \$0.048198 \$0.023198 \$0.055698 \$0.048198 \$0.023198	\$545.55 \$131.35 \$522.61 \$1,158.16 \$924.32 \$7,337.60 \$459.16 \$187.99 \$748.25 \$305.41 \$130.27 \$479.19 \$722.92 \$1,250.43

LINE NO.		Test Year Adjusted Billing Determinants	Current Rates	Test Year Adjusted Revenue	Proposed Adjusted Billing Determinants	Proposed Rates	Proposed Revenues
	Residential Service TOU R-201BF						
1	Customer Charge (Single Phase) Summer	5,927	\$7.00	\$41,486.05	5,927	\$11.50	\$68,155.66
2	Mid-Summer On-peak	412,357	\$0.166303	\$68,576.29	1,250,513	\$0.056800	\$71,029.15
3	Mid-Summer Shoulder-peak	172,389	\$0.093043	\$16,039.62	-,,,	70.001300	\$0.00
4	Mid-Summer Off-peak	1,624,561	\$0.031395	\$51,003.10	2,339,501	\$0.044000	\$102,938.06
5	Remaining-Summer On-peak	364,035	\$0.124945	\$45,484.39	-,,	<b>4</b> 0.07.1200	\$0.00
6	Remaining-Summer Shoulder-peak	119,418	\$0.067767	\$8,092.58			\$0.00
7	Remaining-Summer Off-peak	1,456,605	\$0.018756	\$27,320.08			\$0.00
8	Winter On-peak	773,032	\$0.075935	\$58,700.22	1,564,449	\$0.048300	\$75,562.88
9	Winter Off-peak	2,639,143	\$0.006499	\$17,151.79	2,407,078	\$0.035500	\$85,451.27
10	Subtotal Delivery (Margin) Revenue			\$333,854.12			\$403,137.02
11	Mid-Summer On-peak	412,357	\$0.055698	\$22,967.49	1,250,513	\$0.050669	\$63,362.25
12	Mid-Summer Shoulder-peak	172,389	\$0.048198	\$8,308.82	, ,	,	,
13	Mid-Summer Off-peak	1,624,561	\$0.023198	\$37,686.57	2,339,501	\$0.026679	\$62,415.55
14	Remaining-Summer On-peak	364,035	\$0.055698	\$20,276.04	.,,	,	,
15	Remaining-Summer Shoulder-peak	119,418	\$0.048198	\$5,755.69			
16	Remaining-Summer Off-peak	1,456,605	\$0.023198	\$33,790.31			
17	Winter On-peak	773,032	\$0.040698	\$31,460.87	1,564,449	\$0.032893	\$51,459.42
18	Winter Off-peak	2,639,143	\$0.020698	\$54,624.99	2,407,078	\$0.027092	\$65,212.56
19	TOTAL TOU R-201BF		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$548,724.91		,,,,,,	\$645,586.80
20	TOTAL SALES	7,561,541		<del></del>	7,561,541		
	Residential Service TOU R-201CF						
21	Customer Charge (Single Phase)	2,464	\$7.00	\$17,248.38	2,464	\$11.50	\$28,336.62
	Summer						
22	Mid-Summer On-peak	154,320	\$0.161981	\$24,996.89	346,597	\$0.056800	\$19,686.73
23	Mid-Summer Shoulder-peak	43,356	\$0.090057	\$3,904.52			\$0.00
24	Mid-Summer Off-peak	407,895	\$0.028409	\$11,587.89	649,452	\$0.044000	\$28,575.88
25	Remaining-Summer On-peak	148,960	\$0.112200	\$16,713.28			\$0.00
26	Remaining-Summer Shoulder-peak	32,007	\$0.058618	\$1,876.18			\$0.00
27	Remaining-Summer Off-peak	398,805	\$0.012688	\$5,060.04			\$0.00
28	Winter On-peak	315,061	\$0.066272	\$20,879.75	478,871	\$0.048300	\$23,129.49
29	Winter Off-peak	711,416	\$0.001201	\$854.41	736,900	\$0.035500	\$26,159.96
30	Subtotal Delivery (Margin) Revenue			\$103,121.34			\$125,888.68
31	Mid-Summer On-peak	154,320	\$0.055698	\$8,595.31	346,597	\$0.050669	\$17,561.74
32	Mid-Summer Shoulder-peak	43,356	\$0.048198	\$2,089.68			
33	Mid-Summer Off-peak	407,895	\$0.023198	\$9,462.35	649,452	\$0.026679	\$17,326.72
34	Remaining-Summer On-peak	148,960	\$0.055698	\$8,296.76	,		
35	Remaining-Summer Shoulder-peak	32,007	\$0.048198	\$1,542.67			
36	Remaining-Summer Off-peak	398,805	\$0.023198	\$9,251.49			
37	Winter On-peak	315,061	\$0.040698	\$12,822.37	478,871	\$0.032893	\$15,751.52
38	Winter Off-peak	711,416	\$0.020698	\$14,724.89	736,900	\$0.027092	\$19,964.10
39	TOTAL TOU R-201CF		<del></del> ,	\$169,906.85			\$196,492.76
40	TOTAL SALES	2,211,821		~	2,211,821		

		Test Year	<del></del>				
LINE		Adjusted Billing	Comment Dates	Test Year	Proposed Adjusted	Dunungal Dates	Proposed
NO.	Residential Service TOU R-201BN	Determinants	Current Rates	Adjusted Revenue	Billing Determinants	Proposed Kates	Revenues
1	Customer Charge	696	\$8.00	\$5,568.00	696	\$11.50	\$8,004.00
1	MID-Summer On-peak	090	<b>90.00</b>	\$3,308.00	090	\$11.50	\$8,004.00
2	First 500, kWh	11,829	\$0.110962	\$1,312.59	142,511	\$0.056800	\$8,094.60
3	501 -3,500, kWh	24,718	\$0.130962	\$3,237.18	142,311	\$0.030000	\$0.00
4	>3,500 kWh	277	\$0.150962	\$41.81			\$0.00
-	MID-Summer Shoulder-peak	_,,	<b>\$0.1303</b> 02	¥ 1.2.02			40.00
5	First 500, kWh	10,819	\$0.043962	\$475.64			\$0.00
6	501 -3,500, kWh	22,549	\$0.063962	\$1,442.27			\$0.00
7	>3,500 kWh	249	\$0.083962	\$20.92			\$0.00
	MID-Summer Off-peak		,	·			·
8	First 500, kWh	57,234	\$0.020362	\$1,165.40	266,449	\$0.044000	\$11,723.77
9	501 -3,500, kWh	118,631	\$0.040362	\$4,788.20	,	·	\$0.00
10	>3,500 kWh	1,294	\$0.060362	\$78.09			\$0.00
	REMAIN-Summer On-peak	ŕ					
11	First 500, kWh	14,825	\$0.047962	\$711.02			\$0.00
12	501 -3,500, kWh	22,011	\$0.067962	\$1,495.90			\$0.00
13	>3,500 kWh	41	\$0.087962	\$3.59			\$0.00
	REMAIN-Summer Shoulder-peak						
14	First 500, kWh	11,461	\$0.024162	\$276.93			\$0.00
15	501 -3,500, kWh	18,526	\$0.044162	\$818.14			\$0.00
16	>3,500 kWh	37	\$0.064162	\$2.37			\$0.00
	REMAIN-Summer Off-peak						
17	First 500, kWh	62,102	\$0.016462	\$1,022.32			\$0.00
18	501 -3,500, kWh	100,213	\$0.036462	\$3,653.98			\$0.00
19	>3,500 kWh	198	\$0.056462	\$11.16			\$0.00
	Winter On-peak						
20	First 500, kWh	41,562	\$0.047962	\$1,993.40	172,825	\$0.048300	\$8,347.44
21	501 -3,500, kWh	53,991	\$0.067962	\$3,669.35			\$0.00
22	>3,500 kWh	93	\$0.087962	\$8.17			\$0.00
	Winter Off-peak						
23	First 500, kWh	119,596	\$0.016462	\$1,968.79	266,031	\$0.035500	\$9,444.11
24	501 -3,500, kWh	155,274	\$0.036462	\$5,661.59			\$0.00
25	>3,500 kWh	286	\$0.056462	<u>\$16.17</u>			<u>\$0.00</u>
26	Subtotal Delivery (Margin) Revenue			\$39,442.95			\$45,613.92
	Base Power						
27	Mid-Summer On-peak	36,825	\$0.077356	\$2,848.60	142,511	\$0.050669	\$7,220.87
28	Mid-Summer Shoulder-peak	33,617	\$0.038166	\$1,283.04			\$0.00
29	Mid-Summer Off-peak	177,159	\$0.033166	\$5,875.66	266,449	\$0.026679	\$7,108.60
30	Remaining-Summer On-peak	36,876	\$0.057356	\$2,115.08			\$0.00
31	Remaining-Summer Shoulder-peak	30,024	\$0.018166	\$545.42			\$0.00
32	Remaining-Summer Off-peak	162,513	\$0.013166	\$2,139.65			\$0.00
33	Winter On-peak	95,646	\$0.061223	\$5,855.74	172,825	\$0.032893	\$5,684.72
34	Winter Off-peak	275,156	\$0.017033	\$4,686.73	266,031	\$0.027092	\$7,207.32
35	TOTAL TOU R-201BN REVENUE	273,130	70.017033	\$64,792.86	200,031	70.027032	\$72,835.44
		047.046		γυ <del>ν,/ 32.00</del>	047.046		772,000.44
36	TOTAL SALES	847,816			847,816		

LINE		Test Year Adjusted Billing		Test Year	Proposed Adjusted		Proposed
NO.		Determinants	<b>Current Rates</b>	Adjusted Revenue	Billing Determinants	Proposed Rates	Revenues
	Residential Service TOU R-201CN						
1	Customer Charge	329	\$8.00	\$2,632.00	329	\$11.50	\$3,783.50
	MID-Summer On-peak						
2	First 500, kWh	3,953	\$0.099462	\$393.15	24,024	\$0.056800	\$1,364.56
3	501 -3,500, kWh	3,816	\$0.117162	\$447.04			\$0.00
4	>3,500 kWh	-	\$0.134862	\$0.00			\$0.00
	MID-Summer Shoulder-peak						
5	First 500, kWh	2,040	\$0.040512	\$82.65			\$0.00
6	501 -3,500, kWh	2,430	\$0.058212	\$141.44			\$0.00
7	>3,500 kWh	-	\$0.075912	\$0.00			\$0.00
_	MID-Summer Off-peak	14.000	40.040505	<b>£202.00</b>	45.006	¢0.044000	64.004.4
8	First 500, kWh	14,980	\$0.019626	\$293.99	45,026	\$0.044000	\$1,981.17
9	501 -3,500, kWh	15,497	\$0.037326	\$578.45			\$0.00
10	>3,500 kWh	-	\$0.055026	\$0.00			\$0.00
11	REMAIN-Summer On-peak	2 445	\$0.044052	\$151.77			\$0.00
11 12	First 500, kWh 501 -3,500, kWh	3,445 3,485	\$0.044052	\$215.18			\$0.00
	>3,500 kWh	5,465	\$0.079452	\$0.00			\$0.00
13	REMAIN-Summer Shoulder-peak	-	30.079432	Ş0.00			\$0.00
14	First 500, kWh	2,616	\$0.022989	\$60.14			\$0.00
15	501 -3,500, kWh	2,711	\$0.040689	\$110.31			\$0.00
	>3,500 kWh	2,711	\$0.058389	\$0.00			\$0.00
10	REMAIN-Summer Off-peak		<b>40.030303</b>	<b>40.00</b>			<b>70.0</b> 0
17	First 500, kWh	14,880	\$0.016175	\$240.68			\$0.00
18	501 -3,500, kWh	14,818	\$0.033875	\$501.97			\$0.00
	>3,500 kWh		\$0.051575	\$0.00			\$0.00
	Winter On-peak		•	·			,
20	First 500, kWh	11,128	\$0.044052	\$490.19	33,302	\$0.048300	\$1,608.49
21	501 -3,500, kWh	7,870	\$0.061752	\$486.00	•		\$0.00
22	>3,500 kWh	-	\$0.079452	\$0.00			\$0.00
	Winter Off-peak						
23	First 500, kWh	29,014	\$0.016175	\$469.30	51,137	\$0.035500	\$1,815.37
24	501 -3,500, kWh	20,808	\$0.033875	\$704.86			\$0.00
25	>3,500 kWh	-	\$0.051575	<u>\$0.00</u>			\$0.00
26	Subtotal Delivery (Margin) Revenue			\$7,999.13			\$10,553.08
	Base Power						
27	Mid-Summer On-peak	7,768	\$0.078903	\$612.95	24,024	\$0.050669	\$1,217.26
28	Mid-Summer Shoulder-peak	4,470	\$0.038929	\$174.01	-		\$0.00
29	Mid-Summer Off-peak	30,477	\$0.033829	\$1,031.00	45,026	\$0.026679	\$1,201.26
30	Remaining-Summer On-peak	6,930	\$0.058503	\$405.41	•		\$0.00
31	Remaining-Summer Shoulder-peak	5,327	\$0.018529	\$98.71	_		\$0.00
32	Remaining-Summer Off-peak	29,698	\$0.013429	\$398.81	_		\$0.00
			\$0.013429	\$1,186.36	22.202	ຕຸ້ນ ນວວຍນວ	
33	Winter On-peak	18,998	•	* *	33,302	\$0.032893	\$1,095.40
34	Winter Off-peak	49,822	\$0.017374	\$865.60	51,137	\$0.027092	\$1,385.40
35 36	TOTAL TOU R-201CN REVENUE TOTAL SALES	153,489	**************************************	\$12,771.99	153,489	·····	\$15,452.41
		,			,		
37	RESIDENTIAL STANDARD SUBTOTAL						\$401,787,904
38	RESIDENTIAL COMMUNITY SOLAR						12,166,937
39	RESIDENTIAL LIFETIME DISCOUNT						362,757
40	RESIDENTIAL LIFELINE DISCOUNT					_	(2,493,090

				Proposed		
Test	Year Adjusted		Test Year	Adjusted Billing		Proposed
2.74	g Determinants	Current Rates	Adjusted Revenue	Determinants	Proposed Rates	Revenues
Small General Service SGS-10						
Customer Charge (Single Phase	206,171	\$8.00	\$1,649,368.00	206,171	\$15.50	\$3,195,650.50
Customer Charge (Three Phase	212,653	\$14.00	\$2,977,142.00	212,653	\$20.50	\$4,359,386.50
Summer						
First 500, kWh	83,218,214	\$0.056236	\$4,679,859.46	70,402,123	\$0.076800	\$5,406,883.03
≥ 501 kWh	924,529,471	\$0.085145	\$78,719,061.80	794,353,073	\$0.097600	\$77,528,859.89
Winter						
First 500, kWh	85,492,289	\$0.051252	\$4,381,650.82	98,308,380	\$0.056800	\$5,583,916.00
		\$0.080145	\$54.256.541.39	807.156.140	\$0.078800	\$63,603,903.82
	0.0,0.0,	<b>7</b> 1.0 2 2 2 1 2	. , ,	,	•	(\$4,847.65)
						\$159,673,752.08
	1 007 747 694	¢0.021550		864 755 105	\$0.035111	\$30,362,419.67
		•			•	\$28,551,107.25
	762,472,031	\$0.024222	<del></del>	905,464,520	\$0.031552	
			\$196,921,812.79			\$218,587,279.00
TOTAL SALES	1,770,219,715			1,770,219,715		
•	0.040	ć0.00	ć0.00	0 040	¢1F F0	¢127.150.50
* * *	8,849	\$0.00	\$0.00	8,849	\$15.50	\$137,159.50
			***********		40.00000	4000 400 47
	64,734,411	\$0.057530		• •		\$339,498.47
≥ 501 kWh			\$0.00	50,114,177	\$0.097600	\$4,891,143.64
Winter						
First 500, kWh	53,570,309	\$0.053159	\$2,847,744.07	6,912,295	\$0.056800	\$392,618.38
≥ 501 kWh			\$0.00	56,857,695	\$0.078800	\$4,480,386.36
Subtotal Delivery (Margin) Revenue			\$6,571,914.72			\$10,240,806.35
Base Power Summer	64,734,411	0.032245	\$2,087,361.07	54,534,730	\$0.035111	\$1,914,768.89
Base Power Winter	53,570,309	\$0.024745	\$1,325,597.30	63,769,990	\$0.031532	\$2,010,795.33
TOTAL PS-40 REVENUE			\$9,984,873.09			\$14,166,370.58
	118 304 720	4.78%	· · · · · · · · · · · · · · · · · · ·	118.304.720	-	
TO TAL SALES	110,304,720			220,00 1,720		
SGS Time of Use SGS-76F				-		
	9,936	\$8.00	\$79,488.00	9,936	\$17.50	\$173,880.00
Summer On-peak	9,825,216	\$0.207220	\$2,035,981.36	16,433,218	\$0.099900	\$1,641,678.46
Summer Shoulder-peak	3,497,021	\$0.119884	\$419,236.89		-	\$0.00
Summer Off-peak	46,772,467	\$0.042825	\$2,003,030.91	35,012,373	\$0.084900	\$2,972,550.49
Winter On-peak kWh	10,425,706	\$0.130159	\$1,356,999.48	23,274,964	\$0.079500	\$1,850,359.63
Winter Off-peak kWh	39,244,555	\$0.027411	<u>\$1,075,732.50</u>	35,044,410	\$0.064500	<u>\$2,260,364.44</u>
Subtotal Delivery (Margin) Revenue	e		\$6,970,469.14			\$8,898,833.02
Base Power						
Summer On-peak kWh	9,825,216			16,433,218	\$0.050669	\$832,654.71
· · · · · · · · · · · · · · · · · · ·	3,497,021			-	40.000570	\$0.00
· · · · · · · · · · · · · · · · · · ·						\$934,095.11
•			•			\$765,583.39
	39,244,555	\$0.018809		35,044,410	\$0.02/0 <del>3</del> 2	\$949,423.15 <b>\$12,380,589.39</b>
TOTAL SALES	109,764,966		33,303,021.13	109,764,965		712,300,303.33
	Customer Charge (Single Phase Customer Charge (Three Phase Summer First 500, kWh  ≥ 501 kWh Winter First 500, kWh  ≥ 501 kWh Priimary Metering Discount Subtotal Delivery (Margin) Revenue Base Power Summer Base Power Winter TOTAL General Service SGS-10  TOTAL SALES  Municipal Service PS-40 Customer Charge (Single Phase Summer First 500, kWh  ≥ 501 kWh Winter First 500, kWh  ≥ 501 kWh Subtotal Delivery (Margin) Revenue Base Power Summer Base Power Winter  TOTAL SALES  SGS Time of Use SGS-76F Customer Charge Summer On-peak Summer Off-peak Winter On-peak kWh Winter Off-peak kWh Subtotal Delivery (Margin) Revenue Base Power Summer Off-peak kWh Winter On-peak kWh Subtotal Delivery (Margin) Revenue Base Power Summer Off-peak kWh Subtotal Delivery (Margin) Revenue Base Power Summer On-peak kWh Summer Shoulder-peak Summer Off-peak kWh Summer Shoulder-peak Summer On-peak kWh Summer On-peak kWh Winter On-peak kWh Winter On-peak kWh Winter On-peak kWh Winter Off-peak kWh	Customer Charge (Single Phase         206,171           Customer Charge (Three Phase         212,653           Summer         First 500, kWh         83,218,214           ≥ 501 kWh         924,529,471           Winter         First 500, kWh         85,492,289           ≥ 501 kWh         676,979,742           Priimary Metering Discount         Subtotal Delivery (Margin) Revenue           Base Power Summer         1,007,747,684           Base Power Winter         762,472,031           TOTAL General Service SGS-10         1,770,219,715           Municipal Service PS-40         8,849           Customer Charge (Single Phase)         8,849           Summer         8,849           First 500, kWh         64,734,411           ≥ 501 kWh         53,570,309           ≥ 501 kWh         53,570,309           ≥ 501 kWh         53,570,309           TOTAL PS-40 REVENUE         118,304,720           SGS Time of Use SGS-76F           Customer Charge         9,936           Summer On-peak         9,825,216           Summer Shoulder-peak         3,497,021           Summer Off-peak kWh         10,425,706           Winter Off-peak kWh         9,825,216           Summe	Customer Charge (Single Phase         206,171         \$8.00           Customer Charge (Three Phase         212,653         \$14.00           Summer         112,653         \$14.00           First 500, kWh         83,218,214         \$0.056236           ≥ 501 kWh         924,529,471         \$0.085145           Winter         Firist 500, kWh         85,492,289         \$0.051252           ≥ 501 kWh         676,979,742         \$0.080145           Prilimary Metering Discount         Subtotal Delivery (Margin) Revenue         8889 Power Summer         1,007,747,684         \$0.031550           Base Power Winter         762,472,031         \$0.024222         TOTAL General Service SGS-10           TOTAL General Service SGS-10           TOTAL SALES         1,770,219,715           Municipal Service PS-40           Customer Charge (Single Phas         8,849         \$0.00           Summer           First 500, kWh         64,734,411         \$0.057530         \$0.051529           Sol kWh         \$3,570,309         \$0.053159         \$0.051529           \$501 kWh         \$153,570,309         \$0.053159         \$0.053159         \$0.053159         \$0.053159         \$0.053159         \$0.053159         \$0.0242455 <td>Customer Charge (Three Phase)         206,171         \$8.00         \$1,649,368.00           Customer Charge (Three Phase)         212,653         \$14.00         \$2,977,142.00           Summer         \$2,977,142.00         \$2,977,142.00           First 500, kWh         83,218,214         \$0.056236         \$4,679,859.46           ≥ 501 kWh         924,529,471         \$0.085145         \$78,719,061.80           Winter         First 500, kWh         85,492,289         \$0.051252         \$4,381,650.82           ≥ 501 kWh         676,979,742         \$0.80145         \$54,256,541.39           Prilmary Medering Discount         \$146,658,775.81         \$146,658,775.81           Base Power Summer         1,007,747,684         \$0.031550         \$31,794,439.45           Base Power Winter         762,472,031         \$0.024222         \$18,468,597.53           TOTAL General Service SGS-10         \$770,219,715         \$196,921,812.79           TOTAL General Service PS-40         \$1,770,219,715         \$196,921,812.79           Customer Charge (Single Phas         8,849         \$0.00         \$0.00           Summer         \$1,770,219,715         \$0.00         \$0.00           Winter         \$151,500,kWh         \$0.00         \$0.00           Winter</td> <td>Customer Charge (Single Phase         206,171         \$8.00         \$1,649,368.00         206,171           Customer Charge (Three Phase)         212,653         \$14.00         \$2,977,142.00         212,653           Summer         First 500, kWh         83,218,214         \$0.056236         \$4,679,859.46         70,402,123           ≥ 501 kWh         924,529,471         \$0.085145         \$78,719,061.80         794,353,073           Winter         First 500, kWh         85,492,289         \$0.051252         \$4,381,650.82         98,308,380           ≥ 501 kWh         676,979,742         \$0.080145         \$54,256,541.39         807,156,140           Pitinary Melering Discount         \$(54,847,551)         \$48,475,114         \$48,475,515           Base Power Winter         762,472,031         \$0.024222         \$18,468,597,53         905,464,520           TOTAL SALES         1,770,219,715         \$10,702,13,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715<td>Customer Change (Single Phase         206,171         \$8.00         \$1,649,368.00         206,372         \$15.50           Customer Change (Three Phase)         212,653         \$14.00         \$2,977,142.00         212,653         \$0.50           Summer         Flist 500, Wkh         83,218,214         \$0.056236         \$4,679,859.46         70.402,123         \$0.078800           \$501 Wh         82,452,9471         \$0.085145         \$78,719,061.80         794,353,073         \$0.097600           Winter         Flist 500, Wkh         85,492,289         \$0.051252         \$4,381,561.82         \$9,308,380         \$0.056800           Pilinary Metering Discount         Subtotal Delivery (Margin) Revenue         Base Power Winter         1,007,747,684         \$0.031550         \$31,749,439.45         \$64,755,195         \$0.035111           Base Power Winter         762,472,031         \$0.024222         \$18,685,975.33         \$05,464,520         \$0.031532           TOTAL General Service SS-10         TOTAL General Service PS-40           Customer Change (Single Phas)         8,849         \$0.00         \$0.00         8,849         \$1.550           Municipal Service PS-40         Customer Change (Single Phas)         8,849         \$0.00</td></td>	Customer Charge (Three Phase)         206,171         \$8.00         \$1,649,368.00           Customer Charge (Three Phase)         212,653         \$14.00         \$2,977,142.00           Summer         \$2,977,142.00         \$2,977,142.00           First 500, kWh         83,218,214         \$0.056236         \$4,679,859.46           ≥ 501 kWh         924,529,471         \$0.085145         \$78,719,061.80           Winter         First 500, kWh         85,492,289         \$0.051252         \$4,381,650.82           ≥ 501 kWh         676,979,742         \$0.80145         \$54,256,541.39           Prilmary Medering Discount         \$146,658,775.81         \$146,658,775.81           Base Power Summer         1,007,747,684         \$0.031550         \$31,794,439.45           Base Power Winter         762,472,031         \$0.024222         \$18,468,597.53           TOTAL General Service SGS-10         \$770,219,715         \$196,921,812.79           TOTAL General Service PS-40         \$1,770,219,715         \$196,921,812.79           Customer Charge (Single Phas         8,849         \$0.00         \$0.00           Summer         \$1,770,219,715         \$0.00         \$0.00           Winter         \$151,500,kWh         \$0.00         \$0.00           Winter	Customer Charge (Single Phase         206,171         \$8.00         \$1,649,368.00         206,171           Customer Charge (Three Phase)         212,653         \$14.00         \$2,977,142.00         212,653           Summer         First 500, kWh         83,218,214         \$0.056236         \$4,679,859.46         70,402,123           ≥ 501 kWh         924,529,471         \$0.085145         \$78,719,061.80         794,353,073           Winter         First 500, kWh         85,492,289         \$0.051252         \$4,381,650.82         98,308,380           ≥ 501 kWh         676,979,742         \$0.080145         \$54,256,541.39         807,156,140           Pitinary Melering Discount         \$(54,847,551)         \$48,475,114         \$48,475,515           Base Power Winter         762,472,031         \$0.024222         \$18,468,597,53         905,464,520           TOTAL SALES         1,770,219,715         \$10,702,13,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715         \$1,770,219,715 <td>Customer Change (Single Phase         206,171         \$8.00         \$1,649,368.00         206,372         \$15.50           Customer Change (Three Phase)         212,653         \$14.00         \$2,977,142.00         212,653         \$0.50           Summer         Flist 500, Wkh         83,218,214         \$0.056236         \$4,679,859.46         70.402,123         \$0.078800           \$501 Wh         82,452,9471         \$0.085145         \$78,719,061.80         794,353,073         \$0.097600           Winter         Flist 500, Wkh         85,492,289         \$0.051252         \$4,381,561.82         \$9,308,380         \$0.056800           Pilinary Metering Discount         Subtotal Delivery (Margin) Revenue         Base Power Winter         1,007,747,684         \$0.031550         \$31,749,439.45         \$64,755,195         \$0.035111           Base Power Winter         762,472,031         \$0.024222         \$18,685,975.33         \$05,464,520         \$0.031532           TOTAL General Service SS-10         TOTAL General Service PS-40           Customer Change (Single Phas)         8,849         \$0.00         \$0.00         8,849         \$1.550           Municipal Service PS-40         Customer Change (Single Phas)         8,849         \$0.00</td>	Customer Change (Single Phase         206,171         \$8.00         \$1,649,368.00         206,372         \$15.50           Customer Change (Three Phase)         212,653         \$14.00         \$2,977,142.00         212,653         \$0.50           Summer         Flist 500, Wkh         83,218,214         \$0.056236         \$4,679,859.46         70.402,123         \$0.078800           \$501 Wh         82,452,9471         \$0.085145         \$78,719,061.80         794,353,073         \$0.097600           Winter         Flist 500, Wkh         85,492,289         \$0.051252         \$4,381,561.82         \$9,308,380         \$0.056800           Pilinary Metering Discount         Subtotal Delivery (Margin) Revenue         Base Power Winter         1,007,747,684         \$0.031550         \$31,749,439.45         \$64,755,195         \$0.035111           Base Power Winter         762,472,031         \$0.024222         \$18,685,975.33         \$05,464,520         \$0.031532           TOTAL General Service SS-10         TOTAL General Service PS-40           Customer Change (Single Phas)         8,849         \$0.00         \$0.00         8,849         \$1.550           Municipal Service PS-40         Customer Change (Single Phas)         8,849         \$0.00

# TUCSON ELECTRIC POWER COJMPANY TEST YEAR RATES VS. PROPOSED RATES AND REVENUES TEST PERIOD ENDING DECEMBER 31, 2011

					Proposed		
LINE	Tes	st Year Adjusted		Test Year	Adjusted Billing		Proposed
NO.		ing Determinants	Current Rates	Adjusted Revenue	Determinants	Proposed Rates	Revenues
	SGS Time of Use SGS-76N						
1	Customer Charge	1,152	\$9.00	\$10,368.00	1,152	\$17.50	\$20,160.00
	<u>Summer On-peak</u>						
2	First 500, kWh	53,632	\$0.153751	\$8,245.99	2,195,464	\$0.099900	\$219,326.82
3	501 -3,500, kWh	1,659,304	\$0.182660	\$303,088.41			\$0.00
	Summer Shoulder-peak						
4	First 500, kWh	44,206	\$0.041416	\$1,830.82			\$0.00
5	501 -3,500, kWh	1,358,337	\$0.070325	\$95,525.07			\$0.00
	Summer Off-peak						
6	First 500, kWh	150,763	\$0.027416	\$4,133.31	4,658,430	\$0.084900	\$395,500.67
7	501 -3,500, kWh	4,722,873	\$0.056325	\$266,015.85			\$0.00
	Winter On-peak	, ,					,
8	First 500, kWh	86,798	\$0.088434	\$7,675.93	2,777,047	\$0.079500	\$220,775.27
9	501 -3,500, kWh	1,918,001	\$0.117327	\$225,033.25	, ,-		\$0.00
_	Winter Off-peak	_,,,,,,,	<b>+</b> •	7-00,0000			<b>70.00</b>
10	First 500, kWh	165,442	\$0.027415	\$4,535.58	4,194,613	\$0.064500	\$270,552.51
11	•	3,666,198	\$0.056308	\$206,436.27	-,154,015	\$0.00 <del>-1</del> 300	\$0.00
11	Subtotal Delivery (Margin) Revenu		<b>50.05050</b>	\$1,132,888.48			\$1,126,315.27
12	Base Power	ue		31,132,000.40			\$1,120,315.27
13	Summer On-peak	1,712,936	\$0.052000	\$89,072.66	2,195,464	\$0.050669	\$111,241.95
14	Summer Shoulder-peak	1,402,543	\$0.032000	\$44,881.37	2,133,404	<b>70.030003</b>	\$0.00
15	Summer Off-peak	4,873,636	\$0.022000	\$107,220.00	4,658,430	\$0,026679	\$0.00 \$124,282.24
16	Winter On-peak kWh	2,004,799	\$0.032000	\$64,153.57	2,777,047	\$0.032893	\$91,345.42
17	Winter Off-peak kWh	3,831,639	\$0.022000	\$84,296.07	4,194,613	\$0.027092	\$113,640.44
18	TOTAL TOU SGS 76N REVENUE			\$1,522,512.15			\$1,566,825.33
19	TOTAL SALES	13,825,553			13,825,553		
							,
20	GS Mobile Home Parks GS-11	2 722	40.00	620 772 04	2.700	445.50	457 005 00
20 21	Customer Charge Single Pha	3,722 346	\$8.00 \$14.00	\$29,772.94 \$4,849.35	3,722 346	\$15.50 \$20.50	\$57,685.08
21	Customer Charge Three Pha		\$14.00 \$0.067290		=	\$20.50 \$0.082000	\$7,100.83
23	Summer kWh Winter kWh	30,805,210 27,809,489	\$0.052751	\$2,072,882.60 \$1,466,978.38	26,876,589 31,738,111	\$0.062000	\$2,203,880.28 \$1,967,762.88
24	Priimary Metering Discount	27,009,469	\$0.032731	(\$3,284.98)	31,/30,111	\$0.062000	
				• • • • •			(\$3,284.98)
25	Transformer Owned Discount			<u>(\$3,430.22)</u>			(\$3,430.22)
26	Subtotal Delivery (Margin) Revenu	ie		\$3,567,768.07			\$4,229,713.87
27	Base Power Summer	30,805,210	\$0.028730	\$885,033.69	26,876,589	\$0.035111	\$943,663.91
28	Base Power Winter	27,809,489	\$0.028730	\$798,966.63	31,738,111	\$0.031532	\$1,000,766.12
29	TOTAL GS-11 REVENUE		<u> </u>	\$5,251,768.40			\$6,174,143.90
30	TOTAL SALES	58,614,700			58,614,700		

			<u> </u>		Proposed		
LINE	Te	est Year Adjusted		Test Year	Adjusted Billing		Proposed
NO.		ling Determinants	<b>Current Rates</b>	Adjusted Revenue	Determinants	Proposed Rates	Revenues
	WATER PUMPING -NEW						
1	Water Pumping GS-43						
2	Customer Charge	4,063	\$ -	\$0.00	4,063	\$15.50	\$62,976.50
3	Summer kWh	29,185,229	\$0.060347	\$1,761,240.99	24,321,024	\$0.0680	\$1,653,829.62
4	Winter kWh	20,994,203	\$0.055731	\$1,170,027.93	25,858,408	\$0.0480	\$1,241,203.58
5	Subtotal Delivery (Margin) Rever	nue		\$2,931,268.92			\$2,958,009.70
6	Base Power Summer	29,185,229	\$0.029868	\$871,704.41	24,321,024	\$0.035111	\$853,935.47
7	Base Power Winter	20,994,203	\$0.022368	\$469,598.33	25,858,408	\$0.031532	\$815,367.32
8	TOTAL GS-43 REVENUE		· · · · · · · · · · · · · · · · · · ·	\$4,272,571.66			\$4,627,312.48
9	TOTAL SALES	50,179,432			50,179,432		<u> </u>
-		,,			,-, -,		
	Water Pumping GS-31						
10	Customer Charge	365	\$ -	\$0.00	365	\$15.50	\$5,657.50
11	Summer kWh	11,400,116	\$0.025700	\$292,982.97	9,620,168	\$0.042000	\$404,047.07
12	Winter kWh	2,773,403	\$0.024205	\$67,130.22	4,553,351	\$0.027000	\$122,940.47
13	Subtotal Delivery (Margin) Reven	· ·	·	\$360,113.20	, .		\$532,645.03
	,, ,,						,
14	Base Power Summer	11,400,116	\$0.028730	\$327,525.33	9,620,168	\$0.031310	\$301,207.47
15	Base Power Winter	2,773,403	\$0.028730	\$79,679.87	4,553,351	\$0.028420	\$129,406.22
16	TOTAL GS-31 REVENUE			\$767,318.39	.,,,		\$963,258.72
17	TOTAL SALES	14,173,519			14,173,519	<del></del>	
	Water Pumping GS-45						
18	Customer Charge	1,382	\$ -	\$0.00	1,382	\$15.50	\$21,421.00
19	Summer kWh	25,751,439	\$0.027281	\$702,525.00	21,459,532	\$0.042000	\$901,300.35
20	Winter kWh	17,480,298	\$0.025911	\$452,931.99	21,772,204	\$0.027000	\$587,849.51
21	Subtotal Delivery (Margin) Reven		,	\$1,155,456.99	, ,	,	\$1,510,570.87
22	Base Power Summer	25,751,439	\$0.029868	\$769,143.97	21,459,532	\$0.031310	\$671,897.95
23	Base Power Winter	17,480,298	\$0.022368	\$390,999.30	21,772,204	\$0.028420	\$618,766.04
24	TOTAL GS-45 REVENUE			\$2,315,600.26	<del></del>		\$2,801,234.86
25	TOTAL SALES	43,231,736			43,231,736	<del></del>	, -,,
	LARGE GENERAL SERVICE LGS-13-	-NEW					
26	Customer Charge	6,420	\$371.88	\$2,387,469.60	6,420	\$775.00	\$4,975,500.00
	ALL kW	2,571,910	\$10.35	\$26,624,414.03	2,719,841	\$15.25	\$41,477,573.96
28	Summer kWh	582,034,661	\$0.025656	\$14,932,681.28	494,868,791	\$0.0192	\$9,501,480.79
29	Winter kWh	463,029,153	\$0.023910	\$11,071,027.04	550,195,023	\$0.0134	\$7,372,613.31
30	Priimary Metering Discount	, ,	·	(\$35,627.70)		•	(\$35,627.70)
31	Transformer Owned Discount			(\$27,316.74)			(\$27,316.74)
32	Subtotal Delivery (Margin) Reven	1110	-	\$54,952,647.51			\$63,264,223.62
33	Base Power	iue		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			\$0.00
34	Summer kWh	582,034,661	\$0.032554	\$18,947,556.37	494,868,791	\$0.035111	\$17,375,338.13
35	Winter kWh	463,029,153	\$0.032334	\$11,600,732.40	550,195,023	\$0.033111	\$17,348,749.46
36	TOTAL LGS-13 REVENUE	403,023,133	,90.023034	\$85,500,936.28	330,133,023	70.031335	\$97,988,311.22
37	TOTAL SALES	1,045,063,814		+00,000,000	1,045,063,814		70.,500,522.22
3/	IO IAL JALES	1,043,003,614			1,043,003,814		

					Proposed		· · · · · · · · · · · · · · · · · · ·
LINE		Test Year Adjusted		Test Year	Adjusted Billing		Proposed
NO.		Billing Determinants	<b>Current Rates</b>	Adjusted Revenue	Determinants	Proposed Rates	Revenues
	LGS Time of Use LGS-85F				-		
1	Customer Charge	87	\$371.88	\$32,262.41	87	\$950.00	\$82,417.16
2	Summer On-Peak kW	19,345	\$17.32	\$335,057.12	16,153	\$14.55	\$235,025.85
3	Summer Shoulder-Peak kW	0	\$8.66				
4	Summer Off-peak kW		\$11.46	\$0.00	-	\$10.92	\$0.00
5	Winter On-Peak kW	17,037	\$9.65	\$164,338.97	20,403	\$11.59	\$236,447.50
6	Winter Off-peak kW		\$4.82	\$0.00	-	\$9.10	\$0.00
7	Summer On-peak	1,276,087	\$0.083765	\$106,891.46	1,698,736	\$0.008600	\$14,609.13
8	Summer Shoulder-peak	437,006	\$0.053910	\$23,558.99		\$0.00	\$0.00
9	Summer Off-peak	6,281,523	\$0.005693	\$35,760.71	5,082,830	\$0.006000	\$30,496.98
10	Winter On-peak kWh	1,381,684	\$0.053910	\$74,486.59	2,613,835	\$0.003000	\$7,841.50
11	Winter Off-peak kWh	5,266,449	\$0.005693	<u>\$29,981.90</u>	5,247,350	\$0.000500	\$2,623.67
12	Subtotal Delivery (Margin) Re	venue		\$802,338.15			\$609,461.79
	Base Power						
13	Summer On-peak kWh	1,276,087	\$0.056452	\$72,037.68	1,698,736	\$0.050669	\$86,073.27
14	Summer Shoulder-peak	437,006	\$0.056452	\$24,669.86	-	\$0.00	\$0.00
15	Summer Off-peak kWh	6,281,523	\$0.023952	\$150,455.05	5,082,830	\$0.026679	\$135,604.81
16	Winter On-peak kWh	1,381,684	\$0.039341	\$54,356.84	2,613,835	\$0.032893	\$85,976.86
17	Winter Off-peak kWh	5,266,449	\$0.019341	\$101,858.40	5,247,350	\$0.027092	\$142,161.20
18	<b>TOTAL TOU LGS-85F REVENUE</b>			\$1,205,715.98			\$1,059,277.93
19	TOTAL SALES	14,642,750	-		14,642,750		
	LGS Time of Use LGS-85AF						
20	Customer Charge	201	\$371.88	\$74,839.03	201	\$950.00	\$191,182.84
21	Summer On-Peak kW	33,507	\$7.95	\$266,377.21	28,787	\$14.55	\$418,848.43
22	Summer Shoulder-Peak kW	-	\$5.26	\$0.00	-		\$0.00
23	Summer Off-peak kW		\$3.98	\$0.00	-	\$10.92	\$0.00
24	Winter On-Peak kW	30,755	\$5.26	\$161,697.91	35,746	\$11.59	\$414,260.41
25	Winter Off-peak kW	-	\$2.63	\$0.00	-	\$9.10	\$0.00
26	Summer On-peak	2,599,727	\$0.053290	\$138,539.47	6,641,029	\$0.008600	\$57,112.85
27	Summer Shoulder-peak	922,051	\$0.044980	\$41,473.87	-	\$0.00	\$0.00
28	Summer Off-peak	13,913,940	\$0.036667	\$510,182.42	8,319,627	\$0.006000	\$49,917.76
29	Winter On-peak kWh	2,874,352	\$0.044980	\$129,288.35	5,654,275	\$0.003000	\$16,962.83
30	Winter Off-peak kWh	11,361,383	\$0.028356	\$322,163.38	11,056,522	\$0.000500	<u>\$5,528.26</u>
31	Subtotal Delivery (Margin) Re	venue		\$1,644,561.64			\$1,153,813.38
	Base Power						
32	Summer On-peak kWh	2,599,727	\$0.056452	\$146,759.81	6,641,029	\$0.050669	\$336,494.32
33	Summer Shoulder-peak	922,051	\$0.056452	\$52,051.64	-	\$0.00	\$0.00
34	Summer Off-peak kWh	13,913,940	\$0.023952	\$333,266.68	8,319,627	\$0.026679	\$221,959.33
35	Winter On-peak kWh	2,874,352	\$0.039341	\$113,079.88	5,654,275	\$0.032893	\$185,986.08
36	Winter Off-peak kWh	11,361,383	\$0.019341	\$219,740.51	11,056,522	\$0.027092	\$299,543.28
37	TOTAL TOU LGS-85AF REVENU			\$2,509,460.16			\$2,197,796.39
38	TOTAL SALES	31,671,453			31,671,453		

\$374,603,637

# TUCSON ELECTRIC POWER COJMPANY TEST YEAR RATES VS. PROPOSED RATES AND REVENUES TEST PERIOD ENDING DECEMBER 31, 2011

28 GENERAL SERVICE TOTAL REVENUE

					Proposed		
LINE		<b>Test Year Adjusted</b>		Test Year	Adjusted Billing		Proposed
NO.		<b>Billing Determinants</b>	<b>Current Rates</b>	Adjusted Revenue	Determinants	Proposed Rates	Revenues
	LGS Time of Use LGS-85N						
1	Customer Charge	756	\$371.88	\$281,141.28	756	\$950.00	\$718,200.00
2	Summer On-Peak kW	159,325	\$11.87	\$1,891,023.85	136,794	\$14.55	\$1,990,350.48
3	Summer Off-peak kW	152,908	\$8.24	\$1,259,813.12	131,265	\$10.92	\$1,433,412.12
4	Winter On-Peak kW	141,095	\$8.91	\$1,256,876.98	168,568	\$11.59	\$1,953,532.49
5	Winter Off-peak kW	140,289	\$6.42	\$900,376.82	161,933	\$9.10	\$1,473,428.07
6	Summer On-peak	14,680,576	\$0.007500	\$110,104.32	21,189,064	\$0.008600	\$182,225.95
7	Summer Shoulder-peak	13,087,176	\$0.005000	\$65,435.88		\$0.00	\$0.00
8	Summer Off-peak	61,745,731	\$0.002500	\$154,364.33	55,253,420	\$0.006000	\$331,520.52
9	Winter On-peak kWh	23,409,799	\$0.002500	\$58,524.50	32,576,235	\$0.003000	\$97,728.70
10	Winter Off-peak kWh	57,377,182	\$0.000000	\$0.00	61,281,744	\$0.000500	\$30,640.87
11	Subtotal Delivery (Margin)	Revenue	_	\$5,977,661.07			\$8,211,039.21
	Base Power						
12	Summer On-peak kWh	14,680,576	\$0.059253	\$869,868.15	21,189,064	\$0.050669	\$1,073,628.70
13	Summer Shoulder-peak	13,087,176	\$0.033588	\$439,572.05	-	\$0.00	\$0.00
14	Summer Off-peak kWh	61,745,731	\$0.025299	\$1,562,105.26	55,253,420	\$0.026679	\$1,474,105.99
15	Winter On-peak kWh	23,409,799	\$0.036088	\$844,812.82	32,576,235	\$0.032893	\$1,071,530.09
16	Winter Off-peak kWh	57,377,182	\$0.027799	\$1,595,028.28	61,281,744	\$0.027092	\$1,660,245.02
17	TOTAL TOU LGS-85AN REVE	NUE		\$11,289,047.63			\$13,490,549.00
18	TOTAL SALES	170,300,463	<u> </u>		170,300,463		
19	SMALL GENERAL SERVICE ST	<b>FANDARD</b>					\$232,753,650
20	SMALL GENERAL SERVICE TI	ME OF USE					13,947,415
21	GENERAL SERVICE MOBILE I	HOME PARKS					6,174,144
22	WATER PUMPING SERVICE						8,391,806
23	LARGE GENERAL SERVICE						97,988,311
24	LARGE GENERAL SERVICE CO	ONTRACT					182,646
25	LARGE GENERAL SERVICE TI	ME OF USE					16,747,623
26	GENERAL SERVICE COMMUI	NITY SOLAR					38,884
27	GENERAL SERVICE (PS-40) T	RANSITION ADJUSTMENT					(1,620,842)

# TUCSON ELECTRIC POWER COJMPANY TEST YEAR RATES VS. PROPOSED RATES AND REVENUES TEST PERIOD ENDING DECEMBER 31, 2011

LINE NO.		Test Year Adjusted Billing Determinants	Current Rates	Test Year Adjusted Revenue	Proposed Adjusted Billing Determinants	Proposed Rates	Proposed Revenues
1	LARGE LIGHT & POWER STANDARD S						
2	Customer Charge	48	\$500.00	\$24,000.00	48	\$1,800.00	\$86,400.00
3	Demand per kW	648,222	\$19.02	\$12,331,770.68	657,888	\$21.98	\$14,460,383.86
4	Summer kWh	194,411,279	\$0.000433	\$84,180.08	164,577,383	\$0.0032	\$526,647.63
5	Winter kWh	157,043,001	\$0.000433	\$67,999.62	186,876,897	\$0.0021	\$392,441.48
6	Power Factor Adjustment			(\$38,298.99)			\$ <u>0.00</u>
7	Subtotal Delivery (Margin) Revenue			\$12,469,651.40			\$15,465,872.97
8	Base Power Summer	194,411,279	\$0.032577	\$6,333,336.24	164,577,383	\$0.031611	\$5,202,455.67
9	Base Power Winter	157,043,001	\$0.025077	\$3,938,167.34	186,876,897	\$0.028388	\$5,305,061.35
10	TOTAL GS-43 REVENUE	, ,		\$22,741,154.98			\$25,973,389.99
11	TOTAL SALES	351,454,280	- 449		351,454,280		
12	LLP Time of Use LLP-90F				-		
13	Customer Charge	36	\$500.00	\$18,000.00	36	\$2,000.00	\$72,000.00
14	Summer On-Peak kW	129,214	\$25.70	\$3,321,056.05	108,502	\$20.49	\$2,223,204.65
15	Summer Shoulder-Peak kW	-	\$19.45	,	,	•	.,,
16	Summer Off-peak kW	381	\$13.20	\$5,026.79	0	\$0.00	\$0.00
17	Winter On-Peak kW	118,244	\$21.70	\$2,566,127.73	143,938	\$15.49	\$2,229,604.52
18	Winter Off-peak kW	306	\$9.20	\$2,817.33	0	\$0.00	\$0.00
19	Summer On-peak	12,789,577	\$0.000433	\$5,537.89	32,267,296	\$0.006900	\$222,644.34
20	Summer Shoulder-peak	5,101,626	\$0.000433	\$2,209.00		\$0.00	\$0.00
21	Summer Off-peak	73,829,358	\$0.000433	\$31,968.11	44,351,515	\$0.006503	\$288,417.90
22	Winter On-peak kWh	15,295,174	\$0.000433	\$6,622.81	30,752,002	\$0.007500	\$230,640.02
23	Winter Off-peak kWh	63,468,318	\$0.000433	\$27,481.78	63,113,261	\$0.007100	\$448,104.16
24	Power Factor Adjustment Charge			(\$14,945.30)			\$0.00
25	Subtotal Delivery (Margin) Revenue		-	\$5,971,902.20		_	\$5,714,615.59
	Base Power						
26	Summer On-peak kWh	12,789,577	\$0.052983	\$677,630.17	32,267,296	\$0.045568	\$1,470,356.15
27	Summer Shoulder-peak	5,101,626	\$0.052983	\$270,299.45	-	\$0.00	\$0.00
28	Summer Off-peak kWh	73,829,358	\$0.020483	\$1,512,246.74	44,351,515	\$0.023985	\$1,063,771.09
29	Winter On-peak kWh	15,295,174	\$0.035623	\$544,860.00	30,752,002	\$0.029581	\$909,674.98
30	Winter Off-peak kWh	63,468,318	\$0.015623	\$991,565.54	63,113,240	\$0.024352	\$1,536,934.14
31	TOTAL LLP-90F REVENUE			\$9,968,504.09			\$10,695,351.95
32	TOTAL SALES	170,484,054	<del></del>	-	170,484,054		

\$25,973,390

102,622,112

1,680,035

\$130,275,537

# TUCSON ELECTRIC POWER COJMPANY TEST YEAR RATES VS. PROPOSED RATES AND REVENUES TEST PERIOD ENDING DECEMBER 31, 2011

41 LARGE LIGHT & POWER STANDARD

43 LARGE LIGHT & POWER CONTRACT

42 LARGE LIGHT & POWER TIME OF USE

44 LARGE LIGHT & POWER SERVICE TOTAL REVENUE

LINE		Test Year Adjusted Billing	O of Batas	Test Year	Proposed Adjusted Billing	Proposed	Proposed
NO.	USTime of the US COAF	Determinants	Current Rates	Adjusted Revenue	Determinants	Rates	Revenues
1	LLP Time of Use LLP-90AF	12	\$500.00	\$6,000.00	12	\$2,000.00	\$24,000.00
2	Customer Charge		\$25.58	\$591,115.52		\$2,000.00	
	Summer On-Peak kW	23,108	\$25.56 \$18.08	\$591,115.52	19,420	\$20.49	\$397,915.80 \$0.00
3 4	Summer Shoulder-Peak kW	0	\$10.58	\$0.00	-	¢0.00	\$0.00
5	Summer Off-peak kW Winter On-Peak kW		\$21.58	\$0.00 \$455,259.83	- 24,783	\$0.00 \$15.49	\$383,888.67
6	· · · · · · · · · · · · · · · · · · ·	21,095	\$21.58 \$10.58	\$0.00	24,765	\$15.49	\$0.00
7	Winter Off-peak kW Summer On-peak	0 2,487,981	\$0.006203	\$15,432.16	5,900,062	\$0.006	\$40,710.42
8	Summer Shoulder-peak	691,357	\$0.006203	\$4,288.27	3,300,002	30.000300	\$40,710.42
9	<u>-</u>	•		\$74,626.22	0 00E 000	לח חחפבת: -	
10	Summer Off-peak	12,031,280 2,778,185	\$0.006203 \$0.006203	\$17,232.20	8,805,988	\$0.006503 \$0.007500	\$57,265.34
	Winter On-peak kWh				4,936,738		\$37,025.54
11	Winter Off-peak kWh	11,808,048	\$0.006203	\$73,241.58	10,154,063	\$0.007100	\$72,093.85
12	Power Factor Adjustment Charge		-	(\$991.62)		_	\$0.00
13	Subtotal Delivery (Margin) Revenue			\$1,236,204.14			\$1,012,899.62
4.4	Base Power	2 407 004	60.053083	6424 020 C0	E 000 0C2	ĈO OAFFCO	60.C0 0F 4 00
14	Summer On-peak kWh	2,487,981	\$0.052983	\$131,820.68	5,900,062	\$0.045568	\$268,854.00
15	Summer Shoulder-peak	691,357	\$0.052983	\$36,630.18	-	\$0.00	\$0.00
16	Summer Off-peak kWh	12,031,280	\$0.020483	\$246,436.71	8,805,988	\$0.023985	\$211,211.63
17	Winter On-peak kWh	2,778,185	\$0.035623	\$98,967.27	4,936,738	\$0.029581	\$146,033.65
18	Winter Off-peak kWh	11,808,048	\$0.015623	\$184,477.14	10,154,063	\$0.024352	\$247,271.74
19	TOTAL LLP-90AF REVENUE			\$1,934,536.13			\$1,886,270.65
20	TOTAL SALES	29,796,851			29,796,851		
21	LLP Time of Use LLP-90AN						
22	Customer Charge	72	\$500.00	\$24,000.00	72	\$2,000.00	\$144,000.00
23	Summer On-Peak kW	1,126,518	\$20.03	\$5,631,073.96	942,458	\$20.49	\$19,310,956.22
24	Summer Off-peak kW	0	\$10.03	\$0.00	-	\$12.49	\$0.00
25	Winter On-Peak kW	1,101,530	\$15.03	\$3,830,620.95	1,293,879	\$15.49	\$20,042,187.50
26	Winter Off-peak kW	0	\$7.53	\$0.00	-	\$9.99	\$0.00
27	Summer On-peak	119,764,712	\$0.001113	\$31,295.27	259,407,650	\$0.006900	\$1,789,912.78
28	Summer Shoulder-peak	117,575,158	\$0.001113	\$29,824.13		\$0.00	\$0.00
29	Summer Off-peak	482,023,611	\$0.000716	\$80,888.09	320,205,034	\$0.006503	\$2,082,293.33
30	Winter On-peak kWh	220,927,188	\$0.000723	\$32,384.33	267,092,274	\$0.007500	\$2,003,192.06
31	Winter Off-peak kWh	455,386,868	\$0.000521	\$52,062.61	548,972,579	\$0.007100	\$3,897,705.31
32	Power Factor Adjustment Charge			(\$9,596.13)			\$0.00
33	Subtotal Delivery (Margin) Revenue		-	\$9,702,553.21			\$49,270,247.22
2.6	Base Power	110 704 712	to 044705	ć4 474 00C F0	250 407 650	ć0.0455C0	d44 000 00= =0
34	Summer On-peak kWh	119,764,712	\$0.041786	\$1,174,936.52	259,407,650	\$0.045568	\$11,820,687.78
35	Summer Shoulder-peak	117,575,158	\$0.041786	\$1,119,704.50	220.205.024	\$0.00	\$0.00
36	Summer Off-peak kWh	482,023,611	\$0.026872	\$3,035,788.59	320,205,034	\$0.023985	\$7,680,117.73
37	Winter On-peak kWh	220,927,188	\$0.027126	\$1,215,016.88	267,092,274	\$0.029581	\$7,900,856.57
38	Winter Off-peak kWh	455,386,868	\$0.019542	\$1,952,797.64	548,972,579	\$0.024352	\$13,368,580.25
39	TOTAL LLP-90AN REVENUE	4 205 677 577	-4,	\$18,200,797.34	1 205 677 507		\$90,040,489.55
40	TOTAL SALES	1,395,677,537			1,395,677,537		

LINE NO.		Test Year Adjusted Billing Determinants	Current Rates	Test Year Adjusted Revenue		Proposed Adjusted Billing Determinants	Proposed Rates	Proposed Revenues
NO.	T-ff Circular d Chart Links Coming		Current Nates	Adjusted Nevende		Determinants	110posed nates	Toposed nevenues
1	Traffic Signal and Street Light Service I Customer Charge	75-41 15,006	\$0.00	\$0.00		15,006	\$0.00	\$0.0
2	Summer kWh	11,178,373		\$509,510.24		11,178,373	\$0.047600	\$532,090.5
3	Winter kWh	18,556,213	\$0.045580	\$845,792.19		18,556,213	\$0.047600	\$883,275.7
3 4	Subtotal Delivery (Margin) Revenue	18,330,213	30.043380	\$1,355,302.43	-	10,550,215	30.047000	\$1,415,366.2
5	Subtotal Delivery (wargin) Revenue			Ş1,555,502.45				\$1,+13,300.Z.
6	PPFAC SUMMER	11,178,373	\$0.025817	\$288,592.06		11,178,373	\$0.035111	\$392,483.8
7	PPFAC WINTER	18,556,213	\$0.025817	\$479,065.75		18,556,213	\$0.031532	\$585,114.5
8	TOTAL PS-41 REVENUE	18,330,213	30.023817	\$2,122,960.24	_	10,550,215	Q0.031332	\$2,392,964.6
9	P-41 Total Sales	29,734,586		72,122,300.24	=	29,734,586		<del></del>
	Lighting Service P-50							
10	55Watt	1,428	\$7.39	\$10,552.92			\$8.19	\$11,695.3
11	70Watt	2,472	\$7.39	\$18,268.08			\$8.19	\$20,245.6
12	100 Watt	121,283	\$7.39	\$896,281.37			\$8.19	\$993,307.7
13	250 Watt	19,574	\$11.09	\$217,114.81			\$12.29	\$240,564.4
14	400 Watt	3,904	\$17.11	\$66,797.44			\$18.70	\$73,004.8
15	Underground Service	23,986	\$14.01	\$336,139.80			\$15.53	\$372,502.5
16	Pole	47,144	\$2.58	\$121,725.81	_		\$2.86	\$134,831.8
17	Subtotal Delivery (Margin) Revenue		_	\$1,666,880.23	-			\$1,846,152.4!
18	Base Powr							
19	55Watt	1,428	\$0.43	\$609.76				
20	70Watt	2,472		\$1,342.30				
21	100 Watt	121,283	\$0.78		Base Power			
22	250 Watt	19,574	\$1.94	\$37,973.56		2,832,315	\$0.035111	\$99,445.4
23	400 Watt	3,904	\$3.10	\$12,118.02	_Win kWh	4,863,888	\$0.031532	\$153,368.1
24	TOTAL LIGHTING SERVICE REVENUE			\$1,813,039.47	=	:		\$2,098,965.9
25	LIGHTING SERVICE TOTAL REVENUE						-	\$4,491,930.6
26	TOTAL REVENUE REQUIR	EMENT ALL CLA	ASSES		<u> </u>			\$921,195,613



Original Sheet No.:	101
Superseding:	

# Residential Electric Service (R-01)

#### **AVAILABILITY**

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises.

#### APPLICABILITY

To all single-phase or three-phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

For those dwellings and apartments where electric service has historically been measured through two meters, when one of the meters was installed pursuant to the Residential Electric Water Heating Service Rate (R-02F) which is no longer in effect, the electric service measured by such meters shall be combined for billing purposes.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### CHARACTER OF SERVICE

The service shall be single- or three-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE-SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charge Components of Delivery Services:**

Standard

Customer Charge, Single Phase service and minimum bill \$10.00 per month Customer Charge, Three Phase service and minimum bill \$15.00 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

Customer Charge, Three Phase with usage less than 2,000 kWh

\$12.50 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more \$16.50 per month Customer Charge, Three Phase with usage of 2,000 kWh or more \$21.50 per month

Energy Charges (\$/kWh)

J	Orial goo (writter)				
_	Summer	Delivery Services-Energy <sup>1</sup>	Power Supply		
	(May – September)		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
	0 – 500 kWh	\$0.0562	\$0.035111	varies	\$0.091311
	501 – 1,000 kWh	\$0.0672	\$0.035111	varies	\$0.102311
	1,001 – 3,500 kWh	\$0.0798	\$0.035111	varies	\$0.114911
	Over 3,500 kWh	\$0.0882	\$0.035111	varies	\$0.123311

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-01

Effective: Decision No.: Pending



Original Sheet No.:	101-1
Superseding:	

Winter	Delivery Services-Energy <sup>1</sup>	Power Supply	Charges <sup>2</sup>	
(October - April)	ĺ	Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
0 – 500 kWh	\$0.0562	\$0.031532	varies	\$0.087732
501 – 1,000 kWh	\$0.0652	\$0.031532	varies	\$0.096732
1,001 – 3,500 kWh	\$0.0781	\$0.031532	varies	\$0.109632
Over 3,000 kWh	\$0.0871	\$0.031532	varies	\$0.118632

- Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY LIFELINE DISCOUNT:

This discount is only available to new and eligible Lifeline Customers whose monthly bill shall be in accordance to the rate above except that a discount of \$9.00 per month shall be applied. No Lifeline discount will be applied that will reduce the volumetric charges to less than zero.

#### LIFELINE ELIGIBILITY

- 1. The TEP account must be in the customer's name applying for a lifeline discount.
- 2. Applicant must be a TEP residential customer residing at the premise.
- 3. Applicant must have a combined household income at or below 150% of the federal poverty level. See Income Guidelines Chart on TEP's website at <a href="https://www.tep.com">www.tep.com</a> or contact a TEP customer care representative.

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-01

Effective:

Pending



<u> 101-2</u>

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at www.tep.com.

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-01

Effective: Decision No.:

Pending

# **TEP**Tucson Electric Power

# **Tucson Electric Power Company**

Original Sheet No.:	102
Superseding:	

# Residential Time-of-Use (R-80)

#### **AVAILABILITY**

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises.

### **APPLICABILITY**

To all single phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

Customers must stay on this rate for a minimum period of one (1) year.

#### **CHARACTER OF SERVICE**

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charges:**

Standard

Customer Charge, Single Phase service and minimum bill

\$11.50 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh Customer Charge, Single Phase with usage of 2,000 kWh or more

\$14.00 per month \$18.00 per month

Energy Charges (\$/kWh):

Summer	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(May – September)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0668	\$0.050669	varies	\$0.117469
Off-Peak	\$0.0518	\$0.026679	varies	\$0.078479

Winter	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0568	\$0.032893	varies	\$0.089693
Off-Peak	\$0.0418	\$0.027092	varies	\$0.068892

1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-80

Effective: Decision No.:

Pending

		ÉP	
Tuc	son Ele	ectric F	ower

Original Sheet No.:	102-1
Superseding:	

- The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY LIFELINE DISCOUNT:

This discount is only available to new and eligible Lifeline customers whose monthly bill shall be in accordance to the rate above except that a discount of \$9.00 per month shall be applied. No Lifeline discount will be applied that will reduce the volumetric charges to less than zero.

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 2:00 p.m. to 8:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 6:00 a.m. - 10:00 a.m. and 5:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

#### **ELECTRIC VEHICLES**

Customers who own and operate Electric Vehicles will receive a 5% discount to the Base Fuel during the off-peak period and the PPFAC. Customers must provide documentation for highway approved Electric Vehicles.

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-80

Effective:

Pending

# **TEP**Tucson Electric Power

# **Tucson Electric Power Company**

Original Sheet No.:	102-2
Superseding:	

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self-read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### **TAX CLAUSE**

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-80

Effective:

Pending



Original Sheet No.:	103
Superseding:	

# Residential Lifeline/Senior Discount (R-04-01F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### <u>APPLICABILITY</u>

To all single-phase or three phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments. The applicant must be 65 years of age, or older, and reside at the premise to qualify.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

### CHARACTER OF SERVICE

The service shall be single-phase or three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

# BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charge Components of Delivery Services:**

Standard

Customer Charge, Single Phase service and minimum bill \$ 6.90 per month Customer Charge, Three Phase service and minimum bill \$11.90 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

Customer Charge, Three Phase with usage less than 2,000 kWh

\$9.40 per month
\$14.40 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more \$13.40 per month Customer Charge, Three Phase with usage of 2,000 kWh or more \$18.40 per month

Energy Charges (\$/kWh)

y onargos (entrin)				
	Delivery Services-Energy <sup>1</sup>	Power Supply	Charges <sup>2</sup>	
		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
Summer (May – September)	\$0.0611	\$0.033198	varies	\$0.094298
Winter (October – April)	\$0.0570	\$0.025698	varies	\$0.082698

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-01F

Effective:

Pending



Original Sheet No.:	103-1
Superseding:	

- Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### **MONTHLY DISCOUNT**

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill
·	excluding the Customer Charge:
0 - 300 kWh	35%
301 - 600 kWh	30%
601- 1,000 kWh	25%
1001- 1,500 kWh	15%
Over 1,500 kWh	0%

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

# FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-01F

Effective:

Pending



Original Sheet No.:	103-2
Superseding:	

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-01F

Effective:

Pending



Original Sheet No.:	104
Superseding:	

# Residential Lifeline/Senior Discount (R-04-21F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single-phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments. The applicant must be 65 years of age, or older, and reside at the premise to qualify.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### **CHARACTER OF SERVICE**

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charges:**

Standard

Customer Charge, Single Phase service and minimum bill

\$8.86 per month

#### Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh Customer Charge, Single Phase with usage of 2,000 kWh or more

\$11.36 per month

\$15.36 per month

#### Energy Charges (\$/kWh):

Summer	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	T
(May – September)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0788	\$0.053198	varies	\$0.131998
Off-Peak	\$0.0301	\$0.023198	varies	\$0.053298

Winter	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0652	\$0.040698	varies	\$0.105898
Off-Peak	\$0.0330	\$0.020698	varies	\$0.053698

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-21F

Effective:

Pending



Original Sheet No.:	104-1
Superseding:	

- Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill
	excluding the Customer Charge:
0 - 300 kWh	35%
301 - 600 kWh	30%
601 - 1000 kWh	25%
1001 - 1500 kWh	15%
Over 1500 kWh	0%

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 10:00 a.m. to 10:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 7:00 a.m. - 11:00 a.m. and 6:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-21F

Effective:

Pending



Original Sheet No.:	10 <u>4-2</u>
Superseding:	

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

# AUTOMATED METER OPT-OUT

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-21F

Effective:

Pending



Original Sheet No.:	105
Superseding:	

# Residential Lifeline/Senior Discount (R-04-70F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single-phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments. The applicant must be 65 years of age, or older, and reside at the premise to qualify.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charges:**

Standard

Customer Charge, Single Phase service and minimum bill

\$8.78 per month

#### Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

\$11.28 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more

\$15.28 per month

#### Energy Charges (\$/kWh):

Summer	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(May – September)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.1393	\$0.055698	varies	\$0.194998
Shoulder	\$0.0739	\$0.048198	varies	\$0.122098
Off-Peak	\$0.0379	\$0.023198	varies	\$0.061098

Winter	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0925	\$0.040698	varies	\$0.133198
Off-Peak	\$0.0249	\$0.020698	varies	\$0.045598

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-70F

Effective:

Pending



Original Sheet No.:	105-1
Superseding:	

- Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill
· ·	excluding the Customer Charge:
0- 300 kWh	35%
301- 600 kWh	30%
601- 1,000 kWh	25%
1001- 1,500 kWh	15%
Over 1,500 kWh	0%

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 1:00 p.m. to 6:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day). The summer Shoulder period is 6:00 p.m. to 8:00 p.m. Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 7:00 a.m. - 11:00 a.m. and 6:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-70F

Effective:

Pending



Original Sheet No.:	105-2
Superseding:	

### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### **TEP STATEMENT OF CHARGES**

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-04-70F

Effective:

Pending



Original Sheet No.: _	106
Superseding:	

# Residential Lifeline Discount (R-05-01F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single-phase and three phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### CHARACTER OF SERVICE

The service shall be single-phase and three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### **RATE**

A monthly bill at the following rate plus any adjustments incorporated in this rate:

# **BUNDLED STANDARD OFFER SERVICE-SUMMARY OF CUSTOMER AND ENERGY CHARGES**

#### **Customer Charge Components of Delivery Services:**

Standard

Customer Charge, Single Phase service and minimum bill Customer Charge, Three Phase service and minimum bill

\$6.90 per month \$11.90 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh Customer Charge, Three Phase with usage less than 2,000 kWh

\$9.40 per month \$14.40 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more Customer Charge, Three Phase with usage of 2,000 kWh or more

\$13.40 per month \$18.40 per month

**Energy Charges (\$/kWh)** 

)	Charges (WKWII)				
_		Delivery Services-Energy <sup>1</sup> Power Supply Charges <sup>2</sup>			
			Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
	Summer (May – September)	\$0.0611	\$0.033198	varies	\$0.094298
	Winter (October – April)	\$0.0570	\$0.025698	varies	\$0.082698

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District: Entire Electric Service Area

Rate:

R-05-01F

Effective:

Pending



Original Sheet No.:	106-1
Superseding:	

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bil excluding the Customer Charge:	
0- 300 kWh	25%	
301- 600 kWh	20%	
601- 1,000 kWh	15%	
Over 1,000 kWh	0%	

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### AUTOMATED METER OPT-OUT

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-01F

Effective:

Pendina



Original Sheet No.:	106-2
Superseding:	

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-01F

Effective:

Pending



Original Sheet No.:	107
Superseding:	

# **Residential Lifeline Discount (R-05-21F)**

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single-phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments. The applicant must reside at the premise to qualify.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### **RATE**

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charges:**

Standard

Customer Charge, Single Phase service and minimum bill

\$8.86 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

\$11.36 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more

\$15.36 per month

Energy Charges (\$/kWh):

Summer Delivery Services-Energy <sup>1</sup>		Power Supply Charges <sup>2</sup>			
(May – September)		Base Power	PPFAC	Total <sup>3</sup>	
On-Peak	\$0.0788	\$0.053198	varies	\$0.131998	
Off-Peak	\$0.0301	\$0.023198	varies	\$0.053298	

Winter	Delivery Services-Energy <sup>1</sup>	Power Supply Charges <sup>2</sup>		
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0652	\$0.040698	varies	\$0.105898
Off-Peak	\$0.0330	\$0.020698	varies	\$0.053698

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-21F

Effective:

Pending



Original Sheet No.:	107-1
Superseding:	

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill	
	excluding the Customer Charge:	
0 - 300 kWh	25%	
301 - 600 kWh	20%	
601 - 1000 kWh	15%	
Over 1000 kWh	0%	

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 10:00 a.m. to 10:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 7:00 a.m. - 11:00 a.m. and 6:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-21F

Effective:

Pending



Original Sheet No.:	1	07-2
Superseding:		

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### **TEP STATEMENT OF CHARGES**

For all charges and assessments approved by the Arizona Corporation Commission see the Statement of Charges which is available on TEP's website at www.tep.com.

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-21F

Effective: Decision No.: Pending



Original Sheet No.:	108
Superseding:	

# Residential Lifeline Discount (R-05-70F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single-phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments. The applicant must reside at the premise to qualify.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charges:**

Standard

Customer Charge, Single Phase service and minimum bill

\$8.78 per month

#### Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh Customer Charge, Single Phase with usage of 2,000 kWh or more

\$11.28 per month \$15.28 per month

Energy Charges (\$/kWh):

נו	Charges (with will).				
Summer		Delivery Services-Energy <sup>1</sup>	Power Supply Charges <sup>2</sup>		
	(May – September)		Base Power	PPFAC	Total <sup>3</sup>
	On-Peak	\$0.1393	\$0.055698	varies	\$0.194998
	Shoulder	\$0.0739	\$0.048198	varies	\$0.122098
	Off-Peak	\$0.0379	\$0.023198	varies	\$0.061098

Winter Delivery Services-En		Power Suppl	y Charges <sup>2</sup>	
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0925	\$0.040698	varies	\$0.133198
Off-Peak	\$0.0249	\$0.020698	varies	\$0.045598

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-70F

Effective:

Pending



Original Sheet No.:	108-1
Superseding:	

- Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill
-	excluding the Customer Charge:
0-300 kWh	25%
301-600 kWh	20%
601-1,000 kWh	15%
Over 1,000 kWh	0%

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 1:00 p.m. to 6:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day). The summer Shoulder period is 6:00 p.m. to 8:00 p.m. Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 7:00 a.m. - 11:00 a.m. and 6:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-70F

Effective:

Pending



Original Sheet No.:	108-2
Superseding:	

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at www.tep.com.

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self-read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-70F

Effective:

Pending



Original Sheet No.:	109
Superseding:	

# Residential Lifeline Discount (R-05-201AF)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### <u>APPLICABILITY</u>

To single-phase (subject to availability at point of delivery) electric service in individual residences as described in current program details when all service is supplied at one point of delivery and energy is metered through one meter. Additionally, this rate requires that the customer use exclusively the Company's service for all space heating and all water heating energy requirements except as provided below and that the customer's home conform to the standards of the Heating, Cooling and Comfort Guarantee program as in effect at the time of subscription to this rate. Not with standing the above, the customer's use of solar energy for any purpose shall not preclude subscription to this rate.

The discount is also available to tenants of master metered mobile home parks and apartments.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### **RATE**

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE-SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charge Components of Delivery Services:**

Standard

Customer Charge, Single Phase service and minimum bill

\$6.90 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

\$9.40 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more

\$13.40 per month

**Energy Charges (\$/kWh)** 

	Delivery Services-Energy <sup>1</sup>	Power Supply Charges <sup>2</sup>		
		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
Mid-Summer (June – August)	\$0.0611	\$0.033198	varies	\$0.094298
Remaining-summer (May & September)	\$0.0436	\$0.033198	varies	\$0.076798
Winter (October – April)	\$0.0413	\$0.027198	varies	\$0.068498

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-201AF

Effective:

Pending



Original Sheet No.:	109-1
Superseding:	

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill
	excluding the Customer Charge:
0 - 300 kWh	25%
301 - 600 kWh	20%
601 - 1000 kWh	15%
Over 1000 kWh	0%

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-201AF

Effective:

Pending



Original Sheet No.:	109-2
Superseding:	

#### AUTOMATED METER OPT-OUT

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-05-201AF

Effective:

Pending



Original Sheet No.:	110
Superseding:	

# Residential Lifeline Discount (R-06-01F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### <u>APPLICABILITY</u>

To all single-phase and three phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### **ELIGIBILITY**

- 1. The TEP account must be in the customer's name applying for a lifeline discount.
- 2. Applicant must be a TEP residential customer residing at the premise.
- 3. Applicant must have a combined household income at or below 150% of the federal poverty level. See Income Guidelines Chart on TEP's website at <a href="https://www.tep.com">www.tep.com</a> or contact a TEP customer care representative.

#### CHARACTER OF SERVICE

The service shall be single-phase or three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE-SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charge Components of Delivery Services:**

Standard

Customer Charge, Single Phase service and minimum bill Customer Charge, Three Phase service and minimum bill

\$6.90 per month \$11.90 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh Customer Charge, Three Phase with usage less than 2,000 kWh

\$9.40 per month \$14.40 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more Customer Charge, Three Phase with usage of 2,000 kWh or more

\$13.40 per month \$18.40 per month

**Energy Charges (\$/kWh)** 

y	Charges (arkvvii)				
		Delivery Services-Energy <sup>1</sup>	Power Supply	Charges <sup>2</sup>	1
			Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
	Summer	\$0.0611	\$0.033198	varies	\$0.094298
	(May – September)				
	Winter	\$0.0570	\$0.025698	varies	\$0.082698
	(October – April)				

Filed By:

Kentton C. Grant

Title: District: Vice President of Finance and Rates Entire Electric Service Area Effective:

Rate:

R-06-01F Pending



Original Sheet No.:	110-1
Superseding:	

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### **MONTHLY DISCOUNT:**

The monthly bill shall be in accordance to the rate above except that a discount up to \$9.00 per month shall be applied to Delivery Services-Energy and Power Supply Charges. No Lifeline discount will be applied that will reduce the volumetric charges to less than zero.

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

# FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### **TEP STATEMENT OF CHARGES**

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### AUTOMATED METER OPT-OUT

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-06-01F

Effective:

Pending



Original Sheet No.:	110-2	
Superseding:		
· -		

### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

### **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-06-01F

Effective:

Pending



Original Sheet No.:	111
Superseding:	

## Residential Lifeline Discount (R-06-21F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

### **APPLICABILITY**

To all single-phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### **ELIGIBILITY**

- 1. The TEP account must be in the customer's name applying for a lifeline discount.
- 2. Applicant must be a TEP residential customer residing at the premise.
- 3. Applicant must have a combined household income at or below 150% of the federal poverty level. See Income Guidelines Chart on TEP's website at <a href="https://www.tep.com">www.tep.com</a> or contact a TEP customer care representative.

#### CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### **RATE**

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

### **Customer Charges:**

Standard

Customer Charge, Single Phase service and minimum bill

\$8.86 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

\$11.36 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more

\$15.36 per month

Energy Charges (\$/kWh):

Summer	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	1
(May – September)	. '	Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0788	\$0.053198	varies	\$0.131998
Off-Peak	\$0.0301	\$0.023198	varies	\$0.053298

Filed By:

Kentton C. Grant

Title: District: Vice President of Finance and Rates

Entire Electric Service Area

Rate:

R-06-21F

Effective:

Pending



Original Sheet No.:	111
Superseding:	

Winter	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0652	\$0.040698	varies	\$0.105898
Off-Peak	\$0.0330	\$0.020698	varies	\$0.053698

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The monthly bill shall be in accordance to the rate above except that a discount up to \$9.00 per month shall be applied to Delivery Services-Energy and Power Supply Charges. No Lifeline discount will be applied that will reduce the volumetric charges to less than zero.

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 10:00 a.m. to 10:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 7:00 a.m. - 11:00 a.m. and 6:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

### LOST FIXED COST RECOVERY (LFCR) ~ RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-06-21F

Effective:

Pending



Original Sheet No.:	111
Superseding:	

### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at www.tep.com.

### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section #### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

### **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-06-21F

Effective:

Pending



Original Sheet No.:	112
Superseding:	

## Residential Lifeline Discount (R-06-70F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single-phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

Not applicable to three phase service, resale, breakdown, temporary, standby, or auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

- The TEP account must be in the customer's name applying for a lifeline discount. 1.
- 2. Applicant must be a TEP residential customer residing at the premise.
- Applicant must have a combined household income at or below 150% of the federal poverty level. See Income Guidelines Chart on TEP's website at www.tep.com or contact a TEP customer care representative.

### CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

**Customer Charges:** 

Standard

Customer Charge, Single Phase service and minimum bill

\$8.78 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

\$11.28 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more

\$15.28 per month

Energy Charges (\$/kWh):

Summer	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(May - September)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.1393	\$0.055698	varies	\$0.194998
Shoulder	\$0.0739	\$0.048198	varies	\$0.122098
Off-Peak	\$0.0379	\$0.023198	varies	\$0.061098

Winter	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0925	\$0.040698	varies	\$0.133198
Off-Peak	\$0.0249	\$0.020698	varies	\$0.045598

Filed By:

Kentton C. Grant

Title: District: Vice President of Finance and Rates

Effective:

Rate:

R-06-70F

Entire Electric Service Area

Pending



Original Sheet No.:	112-1
Superseding:	

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

### **MONTHLY DISCOUNT**

The monthly bill shall be in accordance to the rate above except that a discount up to \$9.00 per month shall be applied to Delivery Services-Energy and Power Supply Charges. No Lifeline discount will be applied that will reduce the volumetric charges to less than zero.

### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 1:00 p.m. to 6:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day). The summer Shoulder period is 6:00 p.m. to 8:00 p.m. Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 7:00 a.m. - 11:00 a.m. and 6:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

## LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-06-70F

Effective:

Pending



Original Sheet No.:	112-2
Superseding:	

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-06-70F

Effective:

Pending



Original Sheet No.:	113
Superseding:	

## Residential Lifeline/Medical Life-Support Discount (R-08-01F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single phase and three phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### **ELIGIBILITY**

- 1. Applicant must have a combined household income at or below 150% of the federal poverty level. See Income Guidelines Chart on TEP's website at <a href="https://www.tep.com">www.tep.com</a> or contact a TEP customer care representative.
- 2. The applicant must provide documentation to the company that the regular use of a medical life-support device is essential to maintain the life of a full-time resident of the household; or a full-time resident of the household is a paraplegic, quadriplegic or hemiplegic, or a multiple scierosis or scleroderma patient.
- 3. A Physician's Verification Form must be completed by the doctor documenting the patient's critical need for electrically powered appliances and describing the needed devices.

## **CHARACTER OF SERVICE**

The service shall be single- or three-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE-SUMMARY OF CUSTOMER AND ENERGY CHARGES

### **Customer Charge Components of Delivery Services:**

St	on	d	2	rd
OI	all	ш	a	u

Customer Charge, Single Phase service and minimum bill \$6.90 per month
Customer Charge, Three Phase service and minimum bill \$11.90 per month

## Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh
Customer Charge, Three Phase with usage less than 2,000 kWh
\$9.40 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more \$13.40 per month Customer Charge, Three Phase with usage of 2,000 kWh or more \$18.40 per month

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District: Entire Electric Service Area

Rate:

R-08-01F

Effective:

Pending



Original Sheet No.:	113-1
Superseding:	

Energy Charges (\$/kWh)

	Delivery Services-Energy <sup>1</sup>	Power Supply	Charges <sup>2</sup>	
		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
Summer (May – September)	\$0.0611	\$0.033198	varies	\$0.094298
Winter (October – April)	\$0.0570	\$0.025698	varies	\$0.082698

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill excluding the Customer Charge:
0 – 1000 kWh	35%
1001 – 2000 kWh	30%
Over 2000 kWh	10%

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at www.tep.com.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-01F

Effective:

Pending



Original Sheet No.:	113-2
Superseding:	

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

## **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-01F

Effective:

Pending



Original Sheet No.:	114
Superseding:	

## Residential Lifeline/Medical Life-Support Discount (R-08-21F)

## **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

The discount is also available to tenants of master metered mobile home parks and apartments.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### **ELIGIBILITY**

- 1. Applicant must have a combined household income at or below 150% of the federal poverty level. See Income Guidelines Chart on TEP's website at <a href="https://www.tep.com">www.tep.com</a> or contact a TEP customer care representative.
- 2. The applicant must provide documentation to the company that the regular use of a medical life-support device is essential to maintain the life of a full-time resident of the household; or a full-time resident of the household is a paraplegic, quadriplegic or hemiplegic, or a multiple scierosis or scleroderma patient.
- 3. A Physician's Verification Form must be completed by the doctor documenting the patient's critical need for electrically powered appliances and describing the needed devices.

### CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery

### **RATE**

A monthly net bill at the following rate plus any adjustments incorporated herein:

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charges:**

Standard

Customer Charge, Single Phase service and minimum bill

\$8.86 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

\$11.36 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more

\$15.36 per month

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-21F

Effective:

Pending



Original Sheet No.:	114-1
Superseding:	

Energy Charges (\$/kWh):

Offici gos (writting).				
Summer	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(May – September)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0788	\$0.053198	varies	\$0.131998
Off-Peak	\$0.0301	\$0.023198	varies	\$0.053298

Winter	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0652	\$0.040698	varies	\$0.105898
Off-Peak	\$0.0330	\$0.020698	varies	\$0.053698

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill excluding the Customer Charge:
0 – 1000 kWh	35%
1001 – 2000 kWh	30%
Over 2000 kWh	10%

## TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 10:00 a.m. to 10:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 7:00 a.m. - 11:00 a.m. and 6:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-21F

Effective:

Pending



Original Sheet No.:	114-2
Superseding:	

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section ### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self-read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-21F

Effective:

Pending



Original Sheet No.:	114-3
Superseding:	

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-21F

Effective:

Pending



Original Sheet No.:	<u>1</u> 15
Superseding:	

A UniSource Energy Company

## Residential Lifeline/Medical Life-Support Discount (R-08-70F)

#### **AVAILABILITY**

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To all single phase (subject to availability at point of delivery) residential electric service in individual private dwellings and individually metered apartments when all service is supplied at one point of delivery and energy is metered through one meter.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### **ELIGIBILITY**

- 1. Applicant must have a combined household income at or below 150% of the federal poverty level. See Income Guidelines Chart on TEP's website at <a href="https://www.tep.com">www.tep.com</a> or contact a TEP customer care representative.
- 2. The applicant must provide documentation to the company that the regular use of a medical life-support device is essential to maintain the life of a full-time resident of the household; or a full-time resident of the household is a paraplegic, quadriplegic or hemiplegic, or a multiple scierosis or scleroderma patient.
- 3. A Physician's Verification Form must be completed by the doctor documenting the patient's critical need for electrically powered appliances and describing the needed devices.

#### CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly net bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charges:**

**Standard** 

Customer Charge, Single Phase service and minimum bill

\$8.78 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

\$11.28 per month

Customer Charge, Single Phase with usage of 2,000 kWh or more

\$15.28 per month

Energy Charges (\$/kWh):

, o.i.a. goo (+. <u>i.i</u> ,				
Summer	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(May – September)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.1393	\$0.055698	varies	\$0.194998
Shoulder	\$0.0739	\$0.048198	varies	\$0.122098
Off-Peak	\$0.0379	\$0.023198	varies	\$0.061098

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-70F

Effective:

Pending



Original Sheet No.:	115-1
Superseding:	

### A UniSource Energy Company

Winter	Delivery Services-Energy <sup>1</sup>	Power Suppl	y Charges <sup>2</sup>	
(October – April)		Base Power	PPFAC	Total <sup>3</sup>
On-Peak	\$0.0925	\$0.040698	varies	\$0.133198
Off-Peak	\$0.0249	\$0.020698	varies	\$0.045598

- Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

## **MONTHLY DISCOUNT**

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill excluding the Customer Charge:
0 – 1000 kWh	35%
1001 – 2000 kWh	30%
Over 2000 kWh	10%

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 1:00 p.m. to 6:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day). The summer Shoulder period is 6:00 p.m. to 8:00 p.m. Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 7:00 a.m. - 11:00 a.m. and 6:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-70F

Effective:

Pending



Original Sheet No.:	115-2
Superseding:	

### A UniSource Energy Company

#### **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

### **TEP STATEMENT OF CHARGES**

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self-read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### <u>TAX CLAUSE</u>

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-70F

Effective:

Pending



Original Sheet No.:	116
Superseding:	

## Residential Lifeline/Medical Life-Support Discount (R-08-201AF)

#### AVAILABILITY

New Customers, including current Customers who move, are not eligible for service under this Rate.

### **APPLICABILITY**

To single phase (subject to availability at point of delivery) electric service in individual residences as described in current program details when all service is supplied at one point of delivery and energy is metered through one meter. Additionally, this rate requires that the customer use exclusively the Company's service for all space heating and all water heating energy requirements except as provided below and that the customer's home conform to the standards of the Heating, Cooling and Comfort Guarantee program as in effect at the time of subscription to this rate. The customer's use of solar energy for any purpose shall not preclude subscription to this rate. The discount is also available to tenants of master metered mobile home parks and apartments.

Not applicable to resale, breakdown, temporary, standby, auxiliary service, or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

#### **ELIGIBILITY**

- 1. Applicant must have a combined household income at or below 150% of the federal poverty level. See Income Guidelines Chart on TEP's website at <a href="https://www.tep.com">www.tep.com</a> or contact a TEP customer care representative.
- 2. The applicant must provide documentation to the company that the regular use of a medical life-support device is essential to maintain the life of a full-time resident of the household; or a full-time resident of the household is a paraplegic, quadriplegic or hemiplegic, or a multiple scierosis or scleroderma patient.
- 3. A Physician's Verification Form must be completed by the doctor documenting the patient's critical need for electrically powered appliances and describing the needed devices.

## CHARACTER OF SERVICE

The service shall be single-phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### **RATE**

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE-SUMMARY OF CUSTOMER AND ENERGY CHARGES

### **Customer Charge Components of Delivery Services:**

Standard

Customer Charge, Single Phase service and minimum bill

\$6.90 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh Customer Charge, Single Phase with usage of 2,000 kWh or more

\$9.40 per month

\$13.40 per month

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-201AF

Effective:

Pending



Original Sheet No.:	116-1
Superseding:	

Energy Charges (\$/kWh)

y Orial gos (wikerin)				
	Delivery Services-Energy <sup>1</sup>	Power Supply	Charges <sup>2</sup>	
		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
Mid-Summer (June-August)	\$0.0611	\$0.033198	varies	\$0.094298
Remaining-summer (May & September)	\$0.0436	\$0.033198	varies	\$0.076798
Winter (October – April)	\$0.0413	\$0.027198	varies	\$0,068498

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### MONTHLY DISCOUNT

The following monthly discount applies to the rate incorporated herein:

For Bills with Usage of:	Monthly Discount will be applied to the total bill excluding the Customer Charge:
0 – 1000 kWh	35%
1001 – 2000 kWh	30%
Over 2000 kWh	10%

### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

## **DIRECT ACCESS**

A customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-201AF

Effective:

Pending



Original Sheet No.:	116-2	
Superseding:		
•		

#### TEP STATEMENT OF CHARGES

For all charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section ### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

## ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-08-201AF

Effective:

Pending



Original Sheet No.:	117
Superseding:	

## **Special Residential Electric Service (R-201AN)**

### **AVAILABILITY**

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises.

#### **APPLICABILITY**

To single phase (subject to availability at point of delivery) electric service in individual residences when all service is supplied at one point of delivery and energy is metered through one meter. Additionally, this Rate requires that the Customer use exclusively the Company's service for all space heating and all water heating energy requirements except as provided below. New homes must conform to the standards of the Company's approved efficiency program for new construction as in effect at the time of subscription to this Rate. Existing homes must conform to certain standards of the Company's approved efficiency program for existing homes as in effect at the time of subscription to this Rate. Company accredited testing and inspection is required for verification. Notwithstanding the above, the Customer's use of solar energy for any purpose shall not preclude subscription to this Rate.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

### CHARACTER OF SERVICE

The service shall be single phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

## **Customer Charges:**

<u>Standard</u>

Customer Charge, Single Phase service and minimum bill

\$10.00 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh

\$12.50 per month

Customer Charge, Single Phase with usage more of 2,000 or more kWh

\$16.50 per month

**Energy Charges:** 

Summer	Delivery Services-Energy <sup>1</sup>	Power Supply Charges <sup>2</sup>		
(May – September)		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
0 – 500 kWh	\$0.0506	\$0.035111	varies	\$0.085711
501 – 1,000 kWh	\$0.0605	\$0.035111	varies	\$0.095611
1,001 – 3,500 kWh	\$0.0718	\$0.035111	varies	\$0.106911
Over 3,500 kWh	\$0.0794	\$0.035111	varies	\$0.114511

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-201AN

Effective:

Pending



Original Sheet No.:	117-1
Superseding:	

Winter	Delivery Services-Energy <sup>1</sup>	Power Supply Charges <sup>2</sup>		
(October - April)		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
0 – 500 kWh	\$0.0506	\$0.031532	varies	\$0.082132
501 – 1,000 kWh	\$0.0587	\$0.031532	varies	\$0.090232
1,001 – 3,500 kWh	\$0.0703	\$0.031532	varies	\$0.101832
Over 3,000 kWh	\$0.0784	\$0.031532	varies	\$0.109932

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- 2. The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

#### MONTHLY LIFELINE DISCOUNT:

This discount is only available to new and eligible Lifeline Customers whose monthly bill shall be in accordance to the rate above except that a discount of \$9.00 per month shall be applied. No Lifeline discount will be applied that will reduce the volumetric charges to less than zero.

## **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

Filed By:

Kentton C. Grant

Title: District: Vice President of Finance and Rates Entire Electric Service Area Effective:

Rate:

R-201AN Pending



Original Sheet No.:	117-2
Superseding:	

#### AUTOMATED METER OPT-OUT

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-201AN

Effective:

Pending



Original Sheet No.:	<u>1</u> 18
Superseding:	_

## **Special Residential Electric Service** Time-of-Use Program (R-201BN)

#### AVAILABILITY

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises.

#### **APPLICABILITY**

To single phase (subject to availability at point of delivery) electric service in individual residences when all service is supplied at one point of delivery and energy is metered through one meter. Additionally, this Rate requires that the Customer use exclusively the Company's service for all space heating and all water heating energy requirements except as provided below. New homes must conform to the standards of the Company's approved efficiency program for new construction as in effect at the time of subscription to this Rate. Existing homes must conform to certain standards of the Company's approved efficiency program for existing homes as in effect at the time of subscription to this Rate. Company accredited testing and inspection is required for verification. Notwithstanding the above, the customer's use of solar energy for any purpose shall not preclude subscription to this Rate.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service or service to individual motors exceeding 40 amperes at a rating of 230 volts or which will cause excessive voltage fluctuations.

Customers must stay on this rate for a minimum period of one (1) year.

#### CHARACTER OF SERVICE

The service shall be single phase, 60 Hertz, and at one nominal voltage as mutually agreed and subject to availability at point of delivery.

### **RATE**

A monthly bill at the following rate plus any adjustments incorporated herein:

### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charges:**

**Standard** 

Customer Charge, Single Phase service and minimum bill

\$11.50 per month

Lost Fixed Cost Recovery (LFCR) Fixed Charge Option

Customer Charge, Single Phase with usage less than 2,000 kWh Customer Charge, Single Phase with usage more than 2,000 kWh

\$14.00 per month \$18.00 per month

**Energy Charges:** 

IJ	Ondi gos.				
	Summer	Delivery Services-Energy <sup>1</sup>	Power Supply	Charges <sup>2</sup>	
	(May – September)		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
	On	\$0.0568	\$0.050669	varies	\$0.107469
	Off	\$0.0440	\$0.026679	varies	\$0.070679

Filed By:

Kentton C. Grant

Title: District: Vice President of Finance and Rates

Entire Electric Service Area

Effective:

Rate:

R-201BN Pending



Original Sheet No.:	<u> 118-1</u>
Superseding:	

Winter	Delivery Services-Energy <sup>1</sup>	Power Supply	Charges <sup>2</sup>	
(October - April)		Base Power	PPFAC <sup>2</sup>	Total <sup>3</sup>
On	\$0.0483	\$0.032893	varies	\$0.081193
Off	\$0.0355	\$0.027092	varies	\$0.062592

- 1. Delivery Services-Energy is a bundled charge that includes: Local Delivery-Energy (Local Delivery and/or Distribution exclusive of Transmission/Ancillaries), Generation Capacity, Fixed Must-Run, Transmission and Ancillary Services.
- The Power Supply Charge is the sum of the Base Power Charge and the Purchased Power and Fuel Adjustment Clause (PPFAC), a per kWh adjustment in accordance with Rider-1-PPFAC. PPFAC reflects increases or decreases in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.
- 3. Total is calculated above for illustrative purposes (PPFAC varies over time pursuant to Rider-1 PPFAC).

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 2:00 p.m. to 8:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 6:00 a.m. - 10:00 a.m. and 5:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

## **ELECTRIC VEHICLES**

Customers who own and operate Electric Vehicles will receive a 5% discount to the Base Fuel during the off-peak period and the PPFAC. Customers must provide documentation for highway approved Electric Vehicles.

## LOST FIXED COST RECOVERY (LFCR) - RIDER 8

For those Customers who choose not to participate in the volumetric recovery of lost revenues associated with the promotion of energy efficiency, a higher monthly Customer Charge will apply and the volumetric LFCR will not be included on the bill. All other Customers will pay the Standard monthly Customer Charge and the volumetric LFCR. Customers can choose the fixed charge option one (1) time per calendar year. Once the Customer chooses to contribute to the LFCR through a fixed charge they must pay the higher monthly Customer Charge for a complete twelve (12) month period.

Filed By:

Kentton C. Grant

Title: District: Vice President of Finance and Rates

Entire Electric Service Area

Rate:

R-201BN

Effective:

Pending



Original Sheet No.:	118-2
Superseding:	

### MONTHLY LIFELINE DISCOUNT

This discount is only available to new and eligible Lifeline customers whose monthly bill shall be in accordance to the rate above except that a discount of \$9.00 per month shall be applied. No Lifeline discount will be applied that will reduce the volumetric charges to less than zero.

#### **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

### **AUTOMATED METER OPT-OUT**

If a Customer chooses to not benefit from the less expensive option of automated meter reading equipment the Customer may choose an analog meter as long as the obsolete technology is economically available as an option. This option is only available to the Residential rate classes. This option will result in a one-time meter change-out fee as specified in TEP's Statement of Charges per meter if a meter other than the analog meter is currently in service at the customer's premise.

For a Customer choosing the Automated Meter Opt-out, an additional monthly fee of \$10.00 per meter will be added to the applicable Customer Charge for as long as the analog meter is left in service.

The Customer may choose to self-read the analog meter. Self reading of the meter must be conducted in accordance with Section #### of the Rules and Regulations. For each month that accurate and timely self-read information is supplied to the Company, the additional \$10.00 monthly fee will be reduced to \$5.00. In the event that the self-read information is found to be inaccurate, untimely or otherwise not in accordance with the Rules and Regulations, the Customer will be subject to rebilling to reflect actual consumption in accordance with the Section ### of the Rules and Regulations and the Customer will be billed \$5.00 for each month that the self read information was inaccurate, untimely or not in accordance with the Rules and Regulations. The Company will read the meter at least two times per year even if the Customer chooses to self-read the meter.

## TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

R-201BN

Effective:

Pending



Original Sheet No.:	201
Superseding:	

## Small General Service (GS-10)

#### **AVAILABILITY**

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises. To all general power and lighting service unless otherwise addressed by specific Rates.

#### **APPLICABILITY**

When all energy is supplied at one point of delivery and through one metered service. Not applicable to resale, breakdown, temporary, standby, or auxiliary service.

The supply of electric service under a residential Rate schedule to a dwelling involving some business or professional activity will be permitted only where such activity is of only occasional occurrence, or where the electricity used in connection with such activity is small in amount and used only by equipment which would normally be in use if the space were used as living quarters. Where the portion of a dwelling is used regularly for business, professional or other gainful purposes, and any considerable amount of electricity is used for other than domestic purposes, or electrical equipment not normally used in living quarters is installed in connection with such activities referred to above, the entire premises must be classified as non-residential and the appropriate general service rate will be applied.

For Customers who were previously on Municipal Service Rate (PS-40), a monthly transitional adjustment of 16.5% will be applied to the total bill excluding the Customer Charge.

### CHARACTER OF SERVICE

The service shall be single or three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery. Primary metering may be used by mutual agreement.

#### RATE

A monthly bill at the following rate, plus any adjustments incorporated herein:

#### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

**Customer Charges:** 

Customer Charge, Single Phase service and minimum bill Customer Charge, Three Phase service and minimum bill

\$15.50 per month \$20.50 per month

#### **Energy Charges:**

### **Delivery Charges:**

Description	Summer (May – September)	Winter (October – April)
First 500 kWh	\$0.0768	\$0.0568
All remaining kWh	\$0.0976	\$0.0788

**Base Power Supply Charges:** 

Summer

Winter

\$0.035111 per kWh \$0.031532 per kWh

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

Effective:

Rate:

GS-10

District:

Entire Electric Service Area

Decision No.:

Pending



Original Sheet No.:	<u> 201-1</u>
Superseding:	

Purchased Power and Fuel Adjustment Clause (PPFAC): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

## **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

## TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

### **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

## BUNDLED STANDARD OFFER SERVICE CONSISTS OF THE FOLLOWING UNBUNDLED COMPONENTS:

**Customer Charge Components (Unbundled):** 

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

GS-10

Effective:

Pending



Original Sheet No.:	202
Superseding:	

## Mobile Home Park Electric Service (GS-11F)

#### AVAILABILITY

New Customers, including current Customers who move, are not eligible for service under this Rate.

#### **APPLICABILITY**

To mobile home parks for service through a master meter to two or more mobile homes, provided each mobile home served through such master meter will be individually metered and billed by the park operator in accordance with applicable Orders of the Arizona Corporation Commission. Electric service to the park's facilities used by its residents may be supplied under this schedule only if such facilities are served through a master meter which serves two or more mobile homes.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service.

#### CHARACTER OF SERVICE

The service shall be single or three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery. Primary metering may be used by mutual agreement.

#### RATE

A monthly bill at the following rate, plus any adjustments incorporated herein:

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

### **Customer Charges:**

Customer Charge, Single Phase service and minimum bill	\$15.50 per month
Customer Charge, Three Phase service and minimum bill	\$20.50 per month

## **Energy Charges:**

**Delivery Charge** 

Summer (May – September), all kWh
Winter (October – April), all kWh
\$0.0820 per kWh
\$0.0620 per kWh

### **Base Power Charges:**

Delivery Charge \$0.035111 per kWh
Summer (May – September), all kWh \$0.031532 per kWh

Purchased Power and Fuel Adjustment Clause ("PPFAC"): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

### ADJUSTMENT FOR TRANSFORMER OWNERSHIP AND METERING

Winter (October – April), all kWh

When Customer owns transformers and energy is metered on primary side of transformers, the demand shall be metered and the above schedule subject to a discount of 20.6¢ per kW per month of the demand each month.

Filed By:

Kentton C. Grant

Title: District: Vice President of Finance and Rates

Entire Electric Service Area

Rate:

GS-11F

Effective:

Pending



Original Sheet No.: _	202-1
Superseding:	

**DIRECT ACCESS** 

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

## **TEP STATEMENT OF CHARGES**

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

GS-11F

Effective:

Pending



Original Sheet No.: _	202-2
Superseding:	

## BUNDLED STANDARD OFFER SERVICE CONSISTS OF THE FOLLOWING UNBUNDLED COMPONENTS:

## **Customer Charge Components (Unbundled):**

Description	Single Phase	Three Phase
Meter Services	\$6.55 per month	\$8.74 per month
Meter Reading	\$1.10 per month	\$1.47 per month
Billing & Collection	\$4.73 per month	\$6.30 per month
Customer Delivery	\$5.62 per month	\$7.49 per month
Total	\$18.00 per month	\$24.00 per month

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

GS-11F

Effective:

Pending



Original Sheet No.:	202-3
Superseding:	<u> </u>

## **Energy Charge Components (Unbundled):**

Component	Summer (May – September)	Winter (October - April)
Local Delivery-Energy	\$0.0401	\$0.0201
Generation Capacity	\$0.0318	\$0.0318
Fixed Must-Run	\$0.0032	\$0.0032
Transmission	\$0.0070	\$0.0070
		\$0.0001
Transmission Ancillary Services of System Control & Dispatch	onsists of the following charges: \$0.0001	\$0.0001
Reactive Supply and Voltage Control	\$0.0004	\$0.0004
Regulation and Frequency Response	\$0.0004	\$0.0004
Spinning Reserve Service	\$0.0010	\$0.0010
Supplemental Reserve Service	\$0.0002	\$0.0002
Energy Imbalance Service	Currently charged pursuant to the Company's OATT	
Base Power Supply Charge		

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

**GS-11F** 

Effective:

Pending



Original Sheet No.:	203
Superseding:	

## Small General Service Time-of-Use Program (GS-76N)

#### AVAILABILITY

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises. Access to the meter during normal working hours is also a prerequisite for this Rate.

### APPLICABILITY

To all general power and lighting service unless otherwise addressed by specific Rate schedules, when all energy is supplied at one point of delivery and through one metered service.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service. Service under this Rate will commence when the appropriate meter has been installed.

Customers must stay on this Rate for a minimum period of one (1) year.

#### CHARACTER OF SERVICE

The service shall be single or three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery.

#### **RATE**

A monthly bill at the following rate plus any adjustments incorporated herein:

### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

#### **Customer Charge:**

Customer Charge, Single Phase service and minimum bill

\$17.50 per month

### **Energy Charges:**

Description	Summer (May – September)	Winter (October - April)
On-Peak kWh	\$0.0999	\$0.0795
Off-Peak kWh	\$0.0849	\$0.0645

Base Power Supply Charge

Summer On-Peak \$0.050669 per kWh
Summer Off-Peak \$0.026679 per kWh
Winter On-Peak \$0.032893 per kWh
Winter Off-Peak \$0.027092 per kWh

Purchased Power and Fuel Adjustment Clause ("PPFAC"): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

GS-76

Effective:

Pending



Original Sheet No.:	203-1
Superseding:	

#### TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 2:00 p.m. to 8:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 6:00 a.m. - 10:00 a.m. and 5:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

## ADJUSTMENT FOR TRANSFORMER OWNERSHIP AND METERING

When Customer owns transformers and energy is metered on primary side of transformers, the demand shall be metered and the above schedule subject to a discount of 20.6¢ per kW per month of the billing demand each month.

### **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

#### FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

### PRIMARY SERVICE

The Rates contained in this Schedule are designed to reflect secondary service but where service is taken at primary voltage will be subject to a primary discount of 20.6 cents per kW per month (on the bundled rate, with the discount taken from the unbundled kW delivery charge) on the billing demand each month.

## TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at www.tep.com.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

GS-76

Effective:

Pending



Original Sheet No.: _	204
Superseding:	

## **Large General Service (LGS-13)**

#### **AVAILABILITY**

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises.

#### **APPLICABILITY**

To all general power and lighting service on an optional basis when all energy is supplied at one point of delivery and through one metered service. The minimum monthly billing demand hereunder is 200 kW.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service.

#### CHARACTER OF SERVICE

The service shall be single or three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery. Primary metering shall be required for new installations with service requirements in excess of 2,500 kW.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

### BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

**Customer Charge:** 

\$775.00 per month

**Demand Charge:** 

\$ 15.25 per kW

**Energy Charges:** 

Summer (May – September) Winter (October – April) \$0.0192 per kWh \$0.0134 per kWh

**Base Power Charges:** 

Summer (May – September)

\$0.035111 per kWh

Winter (October - April)

\$0.031532 per kWh

Purchased Power and Fuel Adjustment Clause (PPFAC): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

#### **BILLING DEMAND**

The monthly billing demand shall be the greatest of the following:

- 1. The maximum 15 minute measured demand in the billing month;
- 2. 75 % of the maximum demand used for billing purposes in the preceding 11 months; or
- 3. The contract demand amount, not to be less than 200 kW.

#### ADJUSTMENT FOR PRIMARY SERVICE AND METERING

When Customer owns transformers and energy is metered on primary side of transformers, the demand shall be metered and the above schedule subject to a discount of 20.6¢ per kW per month of the billing demand each month.

The Company may require a written contract with a minimum contract demand and a minimum term of contract.

Filed By:

Kentton C. Grant

Rate: LGS-13

Title:

Vice President of Finance and Rates

Effective: Pending

District:

Entire Electric Service Area



Original Sheet No.:	204-1
Superseding:	

#### **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at www.tep.com.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

#### **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate: LGS-13

Effective: Pending



Original Sheet No.:	205
Superseding:	

# **Large General Service Time-of-Use Program (LGS-85)**

## **AVAILABILITY**

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises. To all general power and lighting service unless otherwise addressed by specific rate schedules.

## **APPLICABILITY**

When all energy is supplied at one point of delivery and through one metered service. Not applicable to resale, breakdown, temporary, standby, or auxiliary service. Service under this Rate will commence when the appropriate meter has been installed.

The minimum monthly billing demand hereunder is 200 kW.

Customers must stay on this Rate for a minimum period of one (1) year.

## CHARACTER OF SERVICE

The service shall be single or three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery. Primary metering shall be required for new installations with service requirements in excess of 2,500 kW.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

Customer Charge and minimum bill

\$950.00 per month

Demand Charges (includes Generation Capacity):

Summer On-peak

\$14.55 per kW

Summer Off-peak (applies to all off-peak demand bill determinates)

\$10.92 per kW

Winter On-peak

\$11.59 per kW

Winter Off-peak Demand (applies to all off-peak demand bill determinates)

\$ 9.10 per kW

#### Note:

- For demand billing, "on-peak demand" shall be based on demand measured during peak periods. 1.
- For demand billing, "off-peak demand" shall be based on demand measured during the off- peak periods. 2.
- Unlike Schedules LLP Rate 90 the demand charges above are NOT excess demand charges, they apply to all Off-Peak kW, 3. not just Off-Peak kW in excess of 150% of Peak kW.

Energy Charges: All energy charges below are charged on a per kWh basis.

**Delivery Charges (\$/kWh)** 

	Summer (May Contember)	Winter (October April)
On-Peak	(May – September) \$0.0086	(October - April) \$0.0030
Off-Peak	\$0.0060	\$0.0005

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

Rate: Effective: LGS-85 Pending

Decision No.:

District:

Entire Electric Service Area



Original Sheet No.:	205-1
Superseding:	

## TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 2:00 p.m. to 8:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 6:00 a.m. - 10:00 a.m. and 5:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

Base Power Supply Charges (\$/kWh)

	Summer (May – September)	Winter (October – April)
On-Peak	\$0.050669	\$0.032893
Off-Peak	\$0.026679	\$0.027092

Purchased Power and Fuel Adjustment Clause (PPFAC): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

## DETERMINATION OF BILLING DEMAND

The monthly billing demand shall be the combination of the following;

The greatest of the following during the On-Peak period:

- 1. The maximum 15 minute measured demand during the on-peak period of the billing month;
- 2. 75% of the maximum on-peak period billing demand used for billing purposes in the preceding 11 months; or
- 3. The contract demand amount, not to be less than 200 kW, and

The greatest of the following during the Off-peak period:

- 1. The maximum 15 minute measured demand during the on-peak period of the billing month;
- 2. 75% of the maximum on-peak period billing demand used for billing purposes in the preceding 11 months; or
- 3. The contract demand amount, not to be less than 200 kW.

#### PRIMARY SERVICE

The Rates contained in this Schedule are designed to reflect secondary service but where service is taken at a primary voltage discount of 20.6 cents per kW per month (on the bundled rate, with the discount taken from the unbundled kW delivery charge) will be applied to the billing demand each month.

## **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

LGS-85

Effective:

Pending



Original Sheet No.:	205-2
Superseding:	

## TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

## **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

## ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

LGS-85

Effective:

Pending



Original Sheet No.:	301
Superseding:	

# Large Light and Power Service (LLP-14)

## **AVAILABILITY**

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises.

#### **APPLICABILITY**

To all large general power and lighting service on an optional basis when all energy is supplied at one point of delivery and through one metered service. The minimum monthly billing demand hereunder is 3,000 kW.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service.

## CHARACTER OF SERVICE

Service shall be three phase, 60 Hertz, Primary Service, and shall be supplied directly from any 46,000 volt, or higher voltage, system at a delivery voltage of not less than 13,800 volts and delivered at a single point of delivery unless otherwise specified in the contract.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein:

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

**Customer Charge:** 

\$1,800 per month

**Demand Charge:** 

\$21.98 per kW

**Energy Charges:** 

Summer (May – September) Winter (October – April) \$0.0032 per kWh \$0.0021 per kWh

**Base Power Charges:** 

Summer (May – September)

\$0.031611 per kWh

Winter (October - April

\$0.028388 per kWh

Purchased Power and Fuel Adjustment Clause (PPFAC): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

#### **BILLING DEMAND**

The monthly billing demand shall be the grestest of the following:

- 1. The maximum 15 minute measured demand in the billing month;
- 2. 75 % of the maximum demand used for billing purposes in the preceding 11 months; or
- 3. The contract demand amount, not to be less than 3,000 kW.

## PRIMARY SERVICE

The above Rate is subject to Primary Service and Metering. The Customer will provide the entire distribution system (including transformers) from the point of delivery to the load. The energy and demand shall be metered on primary side of the transformer.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

LLP-14

Effective:

Pending



Original Sheet No.:	301-1
Superseding:	

## **POWER FACTOR ADJUSTMENT**

The above rate is subject to a charge of 1.3¢ per kW of billing demand for each 1% the average monthly power factor is below 100%

## **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

## TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

## **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

## ADDITIONAL NOTES

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

LLP-14

Effective:

Pending



Original Sheet No.:	302
Superseding:	

# **Large Light and Power Service** Time of Use Program (LLP-90)

## **AVAILABILITY**

Available throughout the Company's entire electric service area where the facilities of the Company are of adequate capacity and are adjacent to the premises.

## **APPLICABILITY**

To all large general power and lighting service on an optional basis when all energy is supplied at one point of delivery and through one metered service. The minimum monthly billing demand hereunder is 3000 kW.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service.

## **CHARACTER OF SERVICE**

Service shall be three phase, 60 Hertz, Primary Service, and shall be supplied directly from any 46,000 volt, or higher voltage, system at a delivery voltage of not less than 13,800 volts and delivered at a single point of delivery unless otherwise specified in the contract.

Customers must stay on this Rate for a minimum period of one (1) year.

#### <u>R</u>ATE

A monthly bill at the following rate plus any adjustments incorporated herein:

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

Customer Charge and minimum bill

\$2,000.00 per month

Demand Charges (includes Generation Capacity):

Summer On-peak

\$20.49 per kW

Summer Off-peak Excess Demand

\$12.49 per kW

Winter On-peak

\$15.49 per kW

Winter Off-peak Excess Demand

Note: 1.

2.

\$ 9.99 per kW

Energy Charges: All energy charges below are charged on a per kWh basis.

Delivery Charges (\$/kWh):

Winter Summer (May - September) (October - April) \$0.0075 On-Peak \$0.0069 \$0.0065 \$0.0071 Off-Peak

For demand billing, "on-peak demand" shall be based on demand measured during peak periods.

For demand billing, "off-peak demand" shall be based on demand measured during the off- peak periods.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

LLP-90

Effective:

Pending



Original Sheet No.:	302-1
Superseding:	

## TIME-OF-USE TIME PERIODS

The Summer On-Peak period is 2:00 p.m. to 8:00 p.m., Monday through Friday (excluding Memorial Day, Independence Day, and Labor Day).

The Winter On-Peak periods are 6:00 a.m. - 10:00 a.m. and 5:00 p.m. - 9:00 p.m., Monday through Friday (excluding Thanksgiving Day, Christmas Day, and New Year's Day).

All other hours are Off-Peak. If a holiday falls on Saturday, the preceding Friday is designated Off-Peak; if a holiday falls on Sunday, the following Monday is designated Off-Peak.

Base Power Supply Charges (\$/kWh)

11.2	Summer (May – September)	Winter (October – April)
On-Peak	\$0.045568	\$0.029581
Off-Peak	\$0.023985	\$0.024352

Purchased Power and Fuel Adjustment Clause (PPFAC): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

## **DETERMINATION OF BILLING DEMAND**

The greatest of the following:

- 1. The maximum 15 minute measured demand during the on-peak period of the billing month;
- 2. 75% of the maximum on-peak period billing demand used for billing purposes in the preceding 11 months; or
- 3. The contract demand amount, not to be less than 3,000 kW, and

Additionally, the maximum 15 minute measured demand during the Off-peak period of the billing month that is in excess (i.e. positive incremental amount above) of 150% of that billing month's on-peak measured billing demand.

#### PRIMARY SERVICE

The above rate is subject to Primary Service and Metering. The Customer will provide the entire distribution system (including transformers) from the point of delivery to the load. The energy and demand shall be metered on primary side of transformers.

## POWER FACTOR ADJUSTMENT

The above rate is subject to charge of 1.3¢ per kW of billing demand for each 1% the average monthly power factor is below 100%.

## **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

LLP-90

Effective:

Pending



Original Sheet No.:	302-2
Superseding:	

## **TEP STATEMENT OF CHARGES**

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

#### TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

## **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

## **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

LLP-90

Effective:

Pending



Original Sheet No.:	501
Superseding:	

# **Traffic Signal and Street Lighting Service (PS-41)**

## **AVAILABILITY**

Available for service to the State, a county, city, town, political subdivision, improvement district, or a responsible person or persons for unincorporated communities for Traffic Signal and Street Lighting purposes where the facilities of the Company are of adequate capacity and are adjacent to the premises.

## **APPLICABILITY**

Applicable to Customer owned and maintained traffic signals and public street and highway lighting.

Not applicable to resale, breakdown, temporary, standby, or auxiliary service.

## CHARACTER OF SERVICE

Service shall be single or three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery approved by the Company.

## **RATE**

A monthly bill at the following rate plus any adjustments incorporated herein.

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

Energy Charges: All energy charges below are charged on a per kWh basis.

**Delivery Charge** 

\$0.0476 per kWh

**Base Power Charges:** 

Summer (May – September) Winter (October – April) \$0.035111 per kWh \$0.031532 per kWh

Purchased Power and Fuel Adjustment Clause ("PPFAC"): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

## **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this rate will be applied to the customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

## **TEP STATEMENT OF CHARGES**

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

PS-41

Effective:

Pending



Original Sheet No.:	501-1	
Superseding:		

## TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

## **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

## **ADDITIONAL NOTES**

Additional charges may be directly assigned to a customer based on the type of facilities (e.g., metering) dedicated to the customer or pursuant to the customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

PS-41

Effective:

Pending



Original Sheet No.:	502
Superseding:	

# **Lighting Service (PS-50)**

#### **AVAILABILITY**

At any point where the Company in its judgment has facilities of adequate capacity and suitable voltage available.

## **APPLICABILITY**

Applicable to any Customer for private and public street lighting or outdoor area lighting where this service can be supplied from existing facilities of the Company.

The Company will install, own, operate, and maintain the complete lighting installation including lamp and globe replacements. Not applicable to resale service.

## CHARACTER OF SERVICE

Multiple or series street lighting system at option of Company and at one standard nominal voltage.

#### RATE

A monthly bill at the following rate plus any adjustments incorporated herein.

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

## **Delivery Charge:**

Service	55OH, 55P, 55UG	70UG	100 Watt	250 Watt	400 Watt	Underground Service	Pole
Per unit Per month	\$8.19	\$8.19	\$8.19	\$12.29	\$18.70	\$15.53	\$2.86

#### Note:

The watt high pressure sodium lamps are charged per unit per month.

Per one pole addition and an extension of up to 100 feet of overhead service are charged per pole.

Underground Service is per 100 watt or less high pressure sodium lamp unit per month mounted on standard pole.

## Base Power Supply Charge:

Summer, (May - September), applies to all lamps and excludes underground service and poles: Winter, (October – April), applies to all lamps and excludes underground service and poles:

\$0.035111 \$0.031532

Purchased Power and Fuel Adjustment Clause ("PPFAC"): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

PS-50

Effective:

Pending



Original Sheet No.:	502-1
Superseding:	

## STANDARD LAMP UNITS, OVERHEAD SERVICE

- 1. The standard 100 watt lamp unit for overhead service is a 9,500 lumen high pressure sodium unit, mounted on a six (6) foot mast arm and controlled by a photoelectric cell. This unit will be mounted on a pole approximately twenty-five (25) feet above ground level and is for public and private street lighting and area lighting.
- 2. The standard 250 watt lamp unit for overhead service is a 27,500 lumen high pressure sodium unit, mounted on a twelve (12) foot mast arm and controlled by a photoelectric cell. This unit will be mounted on a pole approximately twenty-seven (27) feet above ground level and is for public and private street lighting.
- 3. The standard 400 watt lamp unit for overhead service is a 50,000 lumen high pressure sodium unit, mounted on an eighteen (18) foot mast arm and controlled by a photoelectric cell. This unit will be mounted on a pole approximately thirty-five (35) feet above ground level and is for public and private street lighting.
- 4. The standard 100 watt lamp unit for underground service is a 9,500 lumen high pressure sodium post top unit mounted on a pole approximately fifteen (15) feet above ground level and is for public and private street lighting and area lighting.

## **DIRECT ACCESS**

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth herein will be applied to the Customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

#### TEP STATEMENT OF CHARGES

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

## SPECIAL PROVISIONS

- 1. Installation of a light on an existing pole is subject to prior approval of Company.
- 2. For underground service up to ten (10) feet from the electrical source, the Customer shall be billed at the rates for overhead service.
- 3. Extensions beyond 100 feet and all installations other than those addressed in this rate will require specific agreements providing adequate revenue or arrangements for construction financing.
- 4. The Customer is not authorized to make connections to this lighting circuit or to make attachments or alterations to the Company owned pole.
- 5. If a Customer requests a relocation of a lighting installation, the costs of such relocation must be borne by the Customer.
- 6. The Customer is expected to notify the Company when lamp outages occur.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

PS-50

Effective:

Pending



Original Sheet No.: _	_502-2
Superseding:	

- 7. The Company will use diligence in maintaining service; however, monthly bills will not be reduced because of lamp outages.
- 8. After the minimum contract period, if any, has expired, this agreement shall be extended from year to year unless written notice of desire to terminate is given by the Customer at least thirty (30) days prior to the end of any such annual extension date. The Company reserves the right not to extend or cancel the lighting agreement at any time after the initial minimum contract period has expired.
- 9. Light installation is subject to the governmental agency approval process.
- 10. The Customer is responsible for all civil installation requirements as specified by the Company in accordance with the Electrical Service Requirements.
- 11. In the event a public improvement project conflict(s) with existing lighting facilities, the impacted facilities will be removed.

## TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

## **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

#### ADDITIONAL NOTES

Additional charges may be directly assigned to a Customer based on the type of facilities (e.g., metering) dedicated to the Customer or pursuant to the Customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

PS-50

Effective:

Pending



Original Sheet No.:	601-1
Superseding:	

# **Water Pumping Service (GS-43)**

## **AVAILABILITY**

Available for service to the City of Tucson Water Utility and private water Companies where the facilities of the Company are of adequate capacity and are adjacent to the premises.

Available for interruptible service agricultural pumping customers throughout the entire area where the facilities of the Company are of adequate capacity and are adjacent to the premises.

The service points being billed under the PS-43 and GS-31 rate classes as of the effective date of this tariff, but do not meet the above criteria, will be allowed to stay on this rate as long as they meet all other requirements specified in the tariff.

## **APPLICABILITY**

Applicable for service to booster stations and wells used for domestic water supply. For Interruptible service this is applicable to separately metered interruptible agricultural water pumping service for irrigation purposes of the Customer only. Not applicable to resale, breakdown, temporary, standby, or auxiliary service.

#### CHARACTER OF SERVICE

Three phase, 60 Hertz, and at one standard nominal voltage as mutually agreed and subject to availability at point of delivery approved by the Company. Primary metering may be used by mutual agreement.

## **RATE**

A monthly bill at the following rate plus any adjustments incorporated herein.

## BUNDLED STANDARD OFFER SERVICE - SUMMARY OF CUSTOMER AND ENERGY CHARGES

**Customer Charge:** 

\$15.50 per month

## **Energy Charges:**

Firm Service

**Delivery Charge** 

Summer (May – September) Winter (October – April) \$0.0680 per kWh

\$0.0480 per kWh

Interruptible Service

**Delivery Charge** 

Summer (May – September) Winter (October – April) \$0.0420 per kWh \$0.0270 per kWh

**Base Power Supply Charges:** 

	Summer	Winter
	(May-September)	(October – April)
Firm Service	\$0.035111	\$0.031532
Interruptible Service	\$0.031310	\$0.028420

Purchased Power and Fuel Adjustment Clause ("PPFAC"): The Base Power Supply Charge shall be subject to a per kWh adjustment in accordance with Rider-1 PPFAC to reflect any increase or decrease in the cost to the Company for energy either generated or purchased above or below the base cost per kWh sold.



Original Sheet No.:	601-2
Superseding:	

**Primary Voltage Discount** 

A discount of 5% will be allowed from the above rates where Customer owns the transformers and service is metered at primary voltage.

#### DIRECT ACCESS

A Customer's Direct Access bill will include all unbundled components except those services provided by a qualified third party. Those services may include Metering (Installation, Maintenance and/or Equipment), Meter Reading, Billing and Collection, Transmission and Generation. If any of these services are not available from a third party supplier and must be obtained from the Company, the rates for Unbundled Components set forth in this tariff will be applied to the Customer's bill.

## FOR DIRECT ACCESS: ARIZONA INDEPENDENT SCHEDULING ADMINISTRATOR (AZISA) CHARGE

A charge per kWh shall, subject to FERC authorization, be applied for costs associated with the implementation of the AZISA in Arizona.

## **TEP STATEMENT OF CHARGES**

For all additional charges and assessments approved by the Arizona Corporation Commission see the TEP Statement of Charges which is available on TEP's website at <a href="https://www.tep.com">www.tep.com</a>.

## TERMS AND CONDITIONS OF INTERRUPTIBLE SERVICE

- 1. Customer must furnish, install, own, and maintain at each point of delivery all necessary Company approved equipment which will enable the Company to interrupt service with its master control station.
- 2. Service may be interrupted by Company during certain periods of the day not exceeding six hours in any 24-hour period.
- 3. Company will endeavor to give Customer one hour notice of impending interruption; however, service may be interrupted without notice should Company deem such action necessary.
- 4. The interruptible load shall be separately served and metered and shall at no time be connected to facilities serving Customer's firm load. Conversely, the firm load shall be separately served and metered and shall at no time be connected to facilities serving Customer's interruptible load.
- 5. Company shall not be liable for any loss or damage caused by or resulting from any interruption of service.

## TAX CLAUSE

To the charges computed under the above rate, including any adjustments, shall be added the applicable proportionate part of any taxes or governmental impositions which are or may in the future be assessed on the basis of gross revenues of the Company and/or the price or revenue from the electric energy or service sold and/or the volume of energy generated or purchased for sale and/or sold hereunder.

## **RULES AND REGULATIONS**

The standard Rules and Regulations of the Company as on file with the Arizona Corporation Commission shall apply where not inconsistent with this rate.

## **ADDITIONAL NOTES**

Additional charges may be directly assigned to a Customer based on the type of facilities (e.g., metering) dedicated to the Customer or pursuant to the Customer's contract, if applicable. Additional or alternate Direct Access charges may be assessed pursuant to any Direct Access fee schedule authorized.

# ATTACHMENT "K"



Original Sheet No.: _	801	
Superseding:		

# **TEP STATEMENT OF CHARGES**

Description	Rate	Effective Date	Decision No.
Trip Charge: Service Establishment and Reestablishment During Regular Business Hours – service reads only Special Meter Reading fee Meter Change-Out fee Meter Re-Read	\$20.00	PENDING	PENDING
Service Establishment and Reestablishment under usual operating procedures During Regulator Business Hours – Single-Phase Service	\$32.00	PENDING	PENDING
Service Establishment and Reestablishment under usual operating procedures After Regular Business Hours (includes Saturdays, Sundays and Holidays) – Single Phase Service	\$57.00	PENDING	PENDING
Service Establishment and Reestablishment under usual operating procedures During Regular Business Hours – Three-Phase Service	\$78.00	PENDING	PENDING
Service Establishment and Reestablishment under usual operating procedures After Regular Business Hours (includes Saturdays, Sundays and Holidays) – Three-Phase Service	\$216.00	PENDING	PENDING
Service Reestablishment under other than usual operating procedures  – Single-Phase Service	\$150.00	PENDING	PENDING
Single-Phase Line Extension Charge per Foot	\$17.00	PENDING	PENDING
Three-Phase Line Extension Charge per Foot	\$27.00	PENDING	PENDING
Underground Differential Line Extension Charge per Foot	\$21.00	PENDING	PENDING
PME Switchgear Cabinet	\$20,500	PENDING	PENDING
Meter Test	\$186.00	PENDING	PENDING
Returned Payment Fee	\$10.00	PENDING	PENDING
Late Payment Finance Charge	1.5%	PENDING	PENDING

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

Statement of Charges

Effective:

Decision No.:

ve: Pending



Original Sheet No.:	801-1	
Superseding:		

# **TEP STATEMENT OF CHARGES**

(continued)

Description	Rate	Effective Date	Decision No.
Rider R-1 – Purchased Power and Fuel Adjustment Clause (PPFAC)	\$0.XXXXX per kWh	PENDING	PENDING
Rider R-2 – Demand Side Management Surcharge (DSMS)			
RESIDENTIAL:			
Effective Date of Order - December 2014	\$0.XXXXX per kWh		
January 2015 – December 2015	\$0.XXXXX per kWh		
January 2016 – December 2017	\$0.XXXXX per kWh	PENDING	PENDING
ALL OTHER RATES:			
Effective Date of Order – December 2014	XX %		
January 2015 – December 2015	XX %		
January 2016 – December 2017	XX %		
Rider R-3 – Market Cost of Comparable Conventional Generation (MCCCG) Calculation as Applicable to Rider-4 NM-PRS	\$0.025854 per kWh	April 5, 2012	73085
Rider R-5 – Electric Service Solar Rider (Bright Tucson Community Solar™)			
Solar Block Energy Rate for Residential Lifeline Discount, Rate R-06-01	\$0.050198 per kWh		
Solar Block Energy Rate for Residential Electric Service, Rate R-01	\$0.050324 per kWh	February 1, 2011	71835
Solar Block Energy Rate for General Service, Rate GS-10	\$0.048475 per kWh	l ebidary 1, 2011	7 1000
Solar Block Energy Rate for Large General Service, Rate LGS-13	\$0.049371 per kWh		
Solar Block Energy Rate for Municipal Service, Rate PS-40	\$0.049086 per kWh		
Rider R-6 – Renewable Energy Standard and Tariff Surcharge	\$0.0080 per kWh		
REST-TS1 Renewable Energy Program Expense Recovery			
Monthly Cap	Monthly Cap		
For Residential customers:	\$4.45 per month	February 4, 2013	73637
For Small Commercial customers:	\$150.00 per month	10514419 4, 2010	10001
For Large Commercial customers:	\$1,225.00 per month		
For Industrial customers:	\$9,000.00 per month		
For Public Authority:	\$200.00 per month		
For Lighting:	\$150.00 per month		

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

Statement of Charges

Effective:

Pending



	Original Sheet No.: 801-2 Superseding:			
Tucson Electric Power				

# **TEP STATEMENT OF CHARGES**

(continued)

Description	Rate	Effective Date	Decision No.
Environmental Compliance Adjustor (ECA)	\$0.XXXXX per kWh	PENDING	PENDING
Lost Fixed Cost Recovery (LFCR) Mechanism	XXXXX %	PENDING	PENDING

Filed By:

Kentton C. Grant

Title:

Vice President of Finance and Rates

District:

Entire Electric Service Area

Rate:

Statement of Charges Pending

Effective:

# ATTACHMENT "L"

# **ATTACHMENT L**

# LIST OF MODIFIED OR ELIMINATED REPORTING REQUIREMENTS

- 1. Eliminating the requirement from Decision No. 56526 (June 22, 1989) that TEP file monthly reports on the unit performance for each generation unit, other sources of energy, costs for each generating unit, costs of other sources of energy and disposition of energy.
- 2. Eliminating the requirement from Decision Nos. 57029 (July 18, 1990) and 57924 (July 2, 1992) that TEP file annual reports covering the period from July 1 through June 30 of each year required by regarding an agreement with Liquid Air.
- 3. Modifying the Lifeline Discount Tariff reporting requirements from Decision No. 56659 (October 24, 1989) (as modified in Decision Nos. 56781, 56819, and 57370) to now require TEP to submit the following information on an annual basis: (i) The total number of participating customers receiving a discount; (ii) The total number of kWh consumed by customers receiving the discount; and (iii) The total dollar amount of discounts provided.